XH 2023

Xinhua Hydraulic

1S09001:2015
http://www.xh-yeya.com

NingBo Tianxiang Xinhua Hydraulic Co.,Ltd.



Serving customers
Enhancing our products

We prioritize customer satisfaction as
the company's foremost mission.




| = I ' =]
HErT RE i f
=/ !_r=== I‘—_I.__-_ e E i E ; e

_lallp

|
"
-
.:!‘.!
E-

1wl g

Ningbo Tianxiang Xinhua Hydraulic Co., Ltd, also known
as Fenghua Xinhua Hydraulic Component Factory, was
established in 1998. We operate from a modern factory
covering 20,000 square meters. Company specializes in the
research and development of vanous hydraulic components,
including hydraulic ball valves, control valves, flow control
valves, operated check valves, counterbalance valves,
accumulators, and related accessories. Our products are
distributed worldwide, with a strong presence in markets such
as the United States, Germany, the United Kingdom, the
Middle East, Russia, Asia, and other regions.

Our company boasts a dedicated team of technicians and
administrators, along with state-of-the-art manufacturing
equipment, including numerical control lathes and advanced
processing facilities, and we support design for customization.
We are committed to delivering high-quality products within
the shortest possible time frame, meeting the specific
requirements of our clients.

We take pride in our ISO9001-certified quality management
system, which ensures the good standards in product quality.
Our success is built on a foundafion of excellent management
practices, superior product quality, competitive pricing,
professional service, and a strong reputation for business

Our "XINHUA HYDRAULIC" brand has eamed widespread
acclaim among our clients. We are dedicated to operating
with honesty, fostering collaboration with customers and
competitors globally, and working together to develop new
products that will contribute to a bnghter future.

Feel free to contact us for any further information or



[ P

ECHEZOHER

AP =

e

EHESVHIEN

#» O

LW

4 .-p :}

A

4

SR

1,

———

...... __:p I:"-.-:;
*MR™ - PaFs

P O

LAV R LS




iﬁﬂﬂi@ﬂiﬁﬁiﬁi‘ﬁhﬂﬁﬂu@

4 b 2 2

EiTREEoNR DA
—o—ng

We base our organization on self-improvement,
looking towards the future. We welcome individuals
with excellent qualities and a wide range of skills, and
aim to achieve a dominant position in our competitive
field. Our commitment extends to developing a top-tier
management team, creating a workplace that values
humanism and well-being, and integrating a people-
first talent strategy into all aspects of our business
operations.

We reinvigorate our staff's enthusiasm, cultivate a strong
work ethic, nurture humility and a steadfast attitude
in dealing with practical matters. Simultaneously, we
instill in them a sense of honor, mission, and duty. This
approach not only fosters a strong sense of purpose but
also attracts experienced professionals who join us in
building our brand A" together.
















H .7 XINHUA
Directo ry E‘?J | 1S09001:2008 HYDRAULIC
THREAD CONNECTIONS SERIES

F:,;' .. KHB, KHM Series Two Way Hydraulic Ball Valve 4
ET'-‘-‘ KHB3K Series Three Way Hydraulic Ball Valve -- 8
< KHB, KHM Series Two-way Hydraulic Ball Valve Combinations - 12
;; KHB3K Series Three-way Hydraulic Ball Valve Combinations 13
.',_Jf.'ﬁ--. KH3, KH4 Series Multiway Ball Valve 14
MANIFOLD MOUNTING SERIES
e . KHP Series Manifold Mounting Ball Valves -- 18
‘;:.___, KHP3K Series Manifold Mounting Ball Valves 19
"E KH3P, KH4P Series Multiway Ball Valve For Manifold Mounting 20
FLANGE CONNECTIONS SERIES
.-,43"”‘ KHB-F3/6, KHM-F3/6 Series Ball Valve With SAE Connection
£ 2-way Ball Valves With SAE Connection
%"‘r“.. KHZ Series Ball Valve With SAE Connection - 26
-' - KH2K Series Two Way Ball Valve With SAE Flange { Manifold Mounting) 28
Iy"f KH3K Series Three Way Compatct Ball Valve With SAE Connection 29
o BKH-SAE, MKH-SAE Series Ball Valve With SAE Connection 30
SAE Flange Ball Valve One End With SAE Spllt Flange Adapter
rhcl Other End With SAE Adapter Metric : 32
w~ " SAE Flange Ball Valve One End With SAE Long Spllt Flange Adapter
«34  Other End With SAE Adapter Metric 34
) 5 BKH-SAE-FS , MKH-SAE-FS Ball Valve With SAE Split Flange Adapter 36
E:"‘_- - BKH-SAEFS-Lu, MEKH-SAEFS-Lu With SAE Long Split Flange Connection 38
ﬁ':";_ KH Ball Valve With 1SO SAE Connection 40
r:,; - KHEBF, KHMF Series Ball Valves With DIN Connections 41
OTHER SERIES HYDRAULIC BALL VALVE
.h-pf_ . KHB-NZ Series 60° Internal Taper Seal Hydraulic Ball Valve 43
aﬁ- KHB3K-NZ Series 60° Internal Taper Seal Hydraulic Ball Valve 44
; 1@!;. GB3V Series Three Way Hydraulic Ball Valve 45
-mf BBKH-FF/FM Series Hydraulic Ball Valve 46

001 ]| WWW.XH-YEYA.COM




XINHUA

HYDRAULIC

1S09001:2008 | Directory

OTHER SERIES HYDRAULIC BALL VALVE

[

o @

KHBZNSL Setics Cotmbinalions - e e i o S e i e e U S Sl S e e el S
FCBVO6-04G-04G Flow Control Check Ball Valve——-—————————————— e
KHB Series Right-angle Articulated Hydraulic Ball Valve-——————————— o
HKHE SiEries Tom M Ball Ml e e
BT Bypeiss Ball Malve <—eicn oo o s e s e e e

47

45

51

52

Ball Valve With Welded Mounting Plate Serles——————

LOW PRESSURE SERIES

pe

Low Pressure Ball Valves With Threaded Connection

BALL VALVE ANNEX (ACCESSORY)
e Ball Valve Annex: Amem—y P Earnps e e R e e S e S e e S e e e e e e

55

Ball Valve Annex: Accessory Ball Valve Mounting Holes Series

Ball Valve Annex: Accessory KHB, KHM Series With Pneumatic Actuator

Ball Valve Annex: Accessory DW SpringPin————————————————————————

Ball Valve Annex: Accessory Ball Valves Locking Devices DS Series

60

61

Ball Valve Annex: Accessory Ball Valves Locking Devices DST Series

Ball Valve Annex: Accessory Ball Valves Locking Devices DXT Series

Ball Valve Annex: Accessory Ball Valves Locking Devices DSP Series

Ball Valve Annex: Accessory Set With Mechanical Limit Switch

CHECK VAVLE SERIES

I

ATR Series CheckValves —————— oo

FLOW CONTROL (CHECK) VALVES

il

L Series Flow Control Valve / LA Series Flow Control Check Valve

PLUG VALVES SERIES

=

i
.

63

b5

b6

67

BCUNALD3 1 Series Combinations Mugnslve -~ oo

WWW.XH-YEYA.cOM || [002



Directory &3 | 1s09001:2008

XINHUA
HYDRAULIC

SHUTTLE VALVE

L

OPERATED CHECK VALVES SERIES

VBPDC Series Double Pilot Operated Check Valve

VRPE Series Single Pilot Operated Check Valve

ol 11 A%

COUNTERBALANCE VALVE

41,#; ) L e s i e e e e e e S e e

OVERCENTER VALVES

# & VBCD-DE-FLV Series Double Overcenter Valves Fixing By Screw

PRESSURE TESTING TOOLS

e

'C:,j Pressure Testing Hose Assembly - e i ot e  : o i c i oo o e e

NITROGEN CHARGING SERIES

B v D3 Mitogen Charging Carfesoe s e e e

! FRLE Mt Tunclion Inflalable 6l - e

ACCUMULATOR SAFETY BLOCKS

% SAFEeriesMmmuhturﬁafe[}fﬁlmk.._....__._. e R R e T e W B g e e

ACCUMULATOR

‘ Introduction to Bladder ACCUMUIBEOrS. -—=-=——====mmm e e oo e

| American Standard Accumulators (ASME)

»

European Standard Accumulators

§  National Standard (CE Marking) ACCUMUIGEORS -~~~ oo

' National Standard (ABS American B Of Shipping Certification) A -

. WEIded Diaphrﬂgm Acmmlatnr e

003 | WWW.XH-YEYA.COM

..:‘"'_.. VUISESeries SmiHeNalye - o e e e e e e e R

VEPDE DoublePilotDperatediChec = -~ 0 0 e e
VEPSEFL Sevies Bmple Mot Operated Chedk Malve — ..

VBPDE-FL Series Double Pilot Operated Check Valve -

Pilot Operated Check Valve For Double Acting Cylinder

Pilot Operated Check Valve For Single Acting Cylinder

Pressure Testing Mapmr___.____._... e L N L

74

75

76

81

92

101

102

104

-- 105

106

107




XINHUA

KHB, KHM Series Two Way Hydraulic Ball Valve

HYDRAULIC
//‘1 /h &4 How to order
’y KHB - G122 - 1 1 1 2 - 04 - Accessory
= b [ 2 1 11 [B1 6 M [8]
= =l

P ™ ; [1] Mode!: KHB-Square body DNO4-DN25
i ‘ A h-' KHM-Eight-Square body DN32- DN50

[2] Threaded connection type for adapter: e.g. G172

/ L [3] Body and Connection material: 1-Carbon steel
- 4 Stainless steel

y 4 [4] Ball & stem material: 1-Carbon steel: 4-Stainless stee!
E ~ry [5] Ball seat material: 1-POM: 4-PTFE: 5-PEEK
. =& s =8 , [6] Connection & stem seal: 2-NBR; 4-FPM: 6-EPDM
i«a-l Ii . [7] Levers type: 04-Zinc Alloy Bent levers
g— /j"/ 05-Steel Straight levers
06-Steel Bent levers

[B] Valve can be offered with locking device or any other accessory
like limit switches or actuators. Pleaze check *Ball Valve Annex for
more information

E# General dimensions

KHB

KHM

[T T 11

The Product selection codes 3, 4, 5, and 6, which comesponds to the 1,1,1,and 2 configuration, iz the default standard
combination. Mo additional labeling iz required unless there are specific requirements.

WWW.XH-YEYA.cOM || (004



XINHUA

KHB, KHM Series Two Way Hydraulic Ball Valve 1S09001:2008 HYDRAULIC
JBEE4-TT Male Metric Thread
Model DM | PN | LW | RA di i L L1 B H b h2 h3 | SWi | Swz2
KHB-M12x21.25 4 |500| 4 8 M12x21.25 ] 61 3F | 28 (445 | 12 az ] '] 22
KHB-M1Gx1.5 6 | 500 i ] 11 M18x1.5 11 6a 3F | 28 (445 | 12 3z 8 ] 22
N KHB-M22x1.5 B | 500 -] 16 M22x1.5 12 | 78 42 32 | 825 17 40 ] '] 5
3 _; _ é b KHB-M27x1.5 10 | 500 ( 10 | 20 M27=1.5 12 | 78 42 32 | 825 17 40 8 ] 30
\:} KHB-M30x1.5 16 | 400 ( 15 | 24 M30x1.5 13 | B4 47 | 38 (B35 | 18 48 " 12 32
| KHB-M26x2 20 | 15 ( 20 | 30 M3gx2 15 | 103 | 6D | 48 75 (24 b 12 14 41
i KHB-M42%2 25 A5 ( 25 | 35 M4222 18 | 116 | B85 57 82 (285 ( B4 12 14 50
KHM-M52x2 32 |5 ( 30 | 40 M52x2 20 | 140 | B4 108 | 41 (875 | 14 7 B0
KHM-MB0x2 40 | 315 ( 38 | 50 MED=2 22 |14 3 B3 (110.5(485 | B8 4 7 70
KHM-MT72x2 50 | 215 | 4B | B0 M72=2 24 | 178 | 1D0 | 110 |1355) 55 | 115 | 14 7 ]
IS0 228 Female Thread
Model DN PN | LW di i L L1 B H h1 h2 h3 | SW1 | SW2
KHB-G1/8 4 500 i ] Gie 10 1] 37 28 |445( 13 32 B ] 22
KHB-G1/4 i ] 500 i ] G4 14 1] ar 28 |445( 13 3z B ] 22
KHB-G3/8 10 500 10 G3¥a 14 72 42 32 | 525 17 40 -] ] 7
KHB-G1/2-5WD 13 500 13 Glz 16 83 48 35 | 525 ( 17 40 B ] 30
KHB-G1/2-5W12 16 400 15 Gz 16 83 47 38 |B835( 19 48 11 12 az
3 KHB-G5/8 16 400 15 G5/a 18 88 47 38 |835( 19 48 11 12 3z
KHB-G3/4 20 315 20 G4 18 a5 60 48 75 24 57 12 4 41
. KHB-G1 25 315 25 G1 205 | 113 | 85 LT B2 | 285 | B4 12 4 50
L KHB-G1Y4 2532 | 315 25 G4 22 120 | 65 G0 B2 | 285 | B4 12 14 55
KEHB-G1Y2 2500 | 315 25 G1V2 24 130 | 65 G0 B2 | 285 | B4 12 14 G0
KHM-G1'4 32 315 30 G1'4 22 110 | B4 82 | 108 [ # B75 | 14 v G0
EHM-G1'2 40 315 38 G1v2 24 130 1] 83 | 1195|4685 | 0o 14 7 T0
KHM-G2 50 315 | 48 G2 28 140 | 100 | 190 |135.5| 55 115 14 v B0
AMNSI B1.20.1 NPT Female Thread
Maodel DM PH LW di i L (] B H h1 h2 h3 | SW1 | SWw2
KHB-1/BNPT 4 500 i ] 18NPT | 10.5 | 68 37 28 (445 ( 13 32 -] ] 22
KHB-14NPT 3] 500 i ] TMNPT 4 1] 37 28 (445 ( 13 32 -] ] 22
EE KHB-3BNPT 10 500 10 JBNPT 4 72 42 a2 |55 17 40 -] ] 7
! i KHB-1/2NPT 13 500 13 12ZNPT 17 83 48 35 | 525 117 40 2] o 30
E |Ir = A KHB-2M4NPT 20 315 | 20 IMNPT 18 85 60 48 75 24 57 12 4 41
E ~] KHB-1 NPT 25 315 | 25 1NPT | 225 | 112 B5 a7 285 | 64 12 4 50
KHB-1"4NPT 2532 ) 315 | 25 THMNPT (225 | 120 | 65 B0 285 | 64 12 4 55
i KHB-1"2ZNPT 2540 | M5 | 25 | TV2NPT | 25 130 | 65 B0 285 | 64 12 4 B0
KHM-1"4NPT 3z 315 | 30 TH4NPT | 25 120 | B4 82 08 | # 875 | 14 17 B0
KHM-1'2MPT 40 A5 | 38 | TV2NPT | 25 130 | @1 83 | 1105|4685 ( B9 14 17 T0
KHM-2 NPT 50 315 | 48 2 NPT 30 | 40 ( 100 | 110 |1355| 55 115 14 17 B0

005 | WWW.XH-YEYA.COM




XINHUA
HYDRAULIC 1S09001:2008 |

SSAE J54/ISO/DIS11826-1 Mefric Thread

Model DN | PN | LW d1 i L || B H | n | h2 | ha | 5w |swz
KHB-SAE4 6 |500| B8 |7MB20UNF| 12 | B0 | 37 | 28 |445| 13 | 32 | B g | 22

N KHE- SAES 10 | 500 | 10 |8MB1BUNF | 13 | 72 | 42 | 32 |525| 17 | 40 | B g | 27

= i KHE- SAES 13 | 500 | 13 | 3418UNF | 15 | 83 | 48 | 35 |525| 17 | 40 | B g | 3o
Sl 2 b KHEB- SAE12 20 | 315 | 20 | 1MB12UN | 20 | 85 | 60 | 48 | 75 | 24 | 57 | 12 | 4 | M4
\‘\. KHEB- SAE1S 235 | 315 | 25 | MMB12UuN | 20 | 113 | 85 | 57 | B2 |(285| 64 | 12 | 44 | sD

\ KHB- SAE20 2532 | 315 | 25 | 1%B12UN | 20 | 120 | 65 | 60 | 82 |285| &4 | 12 | 4 | 55

! KHE- SAE24 254D | 315 | 25 | ME12UN | 20 | 130 | 65 | 60 | 82 |285| &4 | 12 | 4 | 60

KHM- SAEZ0 32 | 315 | 30 | ®B-12UN | 20 [ 120 | 84 | 82 | 0B | 41 |BF5 | 14 | 7 | 6D

KHM- SAE24 40 |35 | 38 | 1B12uN | 20 | 130 | o1 | B3 (1195|465 88 | 14 | 7 | 70

KHM- SAE32 50 | 315 | 48 | 2v212UN | 20 | 140 | 100 | 110 [1355| 55 | 115 | 14 | 17 | 80
DIM 2353 / IS0 8434-1 Light Series Please note the pressure ratings of the connection
Model DN | PN | LW | RA di i L || B | H/|n|h)|h |Sw| sw

KHB-DBLR 4 |500| 4 | 8 [ Mi2x15 | 10 | 67 | 37 | 28 (445| 13 |32 | 8 | 8 | 22

KHB-DBLR 6 |500| 6 | 8 | M4x15 | 10 | 67 | 37 | 28 (445|113 |32 | 8 | 8 | 22

KHB-10LR 8 |500( B |10 | mMBx15 | 11 | 74 | 42 | 32 [525| 17 |40 | 8 | 8 | 27

KHB-12LR 10 (500 | 10 | 12 | MiBx15 | 11 | 74 | 42 | 32 |525| 17 |40 | B8 | 8 | 27

= + Pl = KHB-15LR-SWg 13 |500 | 13 | 15 | M22x15 | 12 | B2 | 48 | 35 |525| 17 |40 | 8 | 8 | 30
KHB-15LR-SW12 13 (400 | 13 | 15 | M22x15 | 12 | B2 | 47 | 38 |835| 19 | 48 | 11 | 12 | 32

"~ KHB-1BLR-SWB 13 |500 | 13 | 18 | M28x15 | 12 | B2 | 48 | 35 |525| 17 |40 | 8 | 8 | 30

i KHB-18LR-SW12 16 (400 | 15 | 18 | M28x15 | 12 | B2 | 47 | 38 |835| 10 | 486 | 11 | 12 | 32

KHB-22LR 20 (315 | 19 | 22 | M30x2 | 14 |01 |60 | 48 | 75 |24 | 57 | 12 | 14 | &

KHB-28LR 25 |315| 25 | 28 | M36Bx2 | 14 |08 | 65 | 57 | 82 |285| B4 [ 12 | 4 | 50

KHB-35LR 26/32| 315 | 25 | 35 | M45x2 | 16 | 112 | 65 | 60 | 82 |285| B4 | 12 | 4 | 50

KHM-35LR 32 (315 | 30 | 35 | M45x2 | 16 | 141 | 84 | B2 |10B | 41 |875| 4 | 17 | 6O

KHM-42LR 40 (315 | 38 | 42 | M52x2 | 16 | 182 | 91 | 83 (1195|465| 80 | 44 | 17 | 7O

DiIN 2353 / IS0 8434-1 Heavy Series

Model DN | PN | LW | RA di i L || B | H/|n|h)|h |Sw| sw

KHB-DBSR 4 |500| 5 | 8 |mMiBx15 | 12 | 73 | 37 | 28 |445| 13 |32 [ 8 | B | 22

KHB-10SR 6 |500| B | 10 [ miBx15 | 12 | 73 | 37 | 28 |445| 13 |32 | 8 | B | 22

KHB-125R 8 |500| B | 12 [M2Dx15 | 12 | 76 | 42 | 32 |525| 17 |40 | 8 | B | 27

— KHB-145R 10 (500 | 10 | 14 | M22x15 | 14 | 80 | 42 | 32 (525|177 |40 | 8 | 8 | 27

= | || l=' —| KHB-185R-5W8 13 (500 | 13 | 16 | M24x15 | 14 | 88 | 48 | 35 (525|177 | 40 | 8 | 8 | 30
= S = Wt KHB-18SR-SW12 13 (400 | 13 | 16 | M24x15 | 14 | 86 | 47 | 38 (6835|189 | 48 | 11 | 12 | 32
§ KHB-205R-5W9 13 (500 | 13 | 20 | M30x2 | 16 | 90 | 48 | 35 (525|177 | 40 | 8 | 8 | 32

i KHB-20SR-SW12 16 (400 | 15 | 20 | M30x2 | 16 | 90 | 47 | 38 (6835|198 | 48 | 11 | 12 | 32

KHB-255R 20 (315 | 20 | 25 | M3Bx2 | 18 (100 | 60 | 48 | 75 | 24 | 57 | 12 | 4 | M

KHB-305R 25 | 315 | 25 | 30 | M42x2 | 20 (120 | 65 | 57 | 82 |285| B4 | 12 | 4 | 50

KHB-38SR 26/32| 35 | 25 | 38 | M52x2 | 22 | 124 | 65 | 60 | 82 (285)| B4 | 12 | 14 | 55

KHM-385R 32 (315 | 30 | 38 | me2x2 | 22 | 153 | 84 | 82 (108 | 41 |B75| ¥4 | 17 | B8O

Mote: The unit of DN is mm, and the unit of PN is bar.

WWW.XH-YEYA.coM || [ 006



XINHUA

KHB, KHM Series Two Way Hydraulic Ball Valve 1S09001:2008 HYDRAULIC
Metric Female Thread

Model DN | PN | LW d1 i L L1 B H hl | h2 | h3 [SW1|3W2

KHB-N-M14x1.5 6 (500 6 Mi14x15 | 14 | 69 | 37 | 28 (445 13 | 32 22

% KHB-N-M18x=1.5 10 | 500 | 10 | MiBx15 | 13 | 72 | 42 | 22 |525| 17 | 40 27

= || ,_I KHB-M-M22x1.5-5W3 13 (500 | 13 | M22x15 | 15 | 83 | 48 | 25 |525) 17 | 40 an

= -Dl KHEB-N-M22x1.5-5W12 16 | 400 | 15 [ M22x15 | 16 | 83 | 47 | 28 |635) 19 | 46 | N 12 | 32

[ 3 KHB-N-M27x2 20 | 315 | 20 M27x2 18 | 95 (60 | 48 | 75 | 24 | 57 | 12 | 14 | #H

i KHB-N-M33=2 25 |35 | 25 M33x2 M | M3 | 65 | 57 | 82 |285) 64 | 12 | 14 | 50

L KHM-N-Ma2x2 32 | 35| 30 M42x2 X2 1120 | 84 | B2 (108 | 1 |875) 14 | 17 | 60

KHM-N-Ma8=2 40 | 315 | 38 M4 8x2 24 1130 | 91 | 93 (1195|465 99 | 14 | 17 | 7O

KHM-N-MB60=2 S0 | 315 | 48 ME0x=2 26 | 140 | 100 | 110 (1355| 55 | 115 | 14 | 17 | 80

150 711 Rec Female Thread

Model DN | PN | LW d1 i L L1 B H hl | h2 | h3 [SW1|35W2

KHB-1/4B5PT 6 (500 6 Re1i4 14 | 69 | 37 | 28 |445)| 13 | 32 22

KHB-3/8B5PT 10 | 500 | 10 Re3rg 14 | 72 | 42 | 32 |525)| 17 | 40 27

BlAr—1= KHB-1/2B5PT 13 | 500 | 13 Re1#2 17 | 83 | 48 | 35 |5235)| 17 | 40 3o

fa KHB-3/M4B5PT 20 | 315 | 20 Rc3f4 M | 9 | 60 | 48 (75 | 24 | 57 | 12 | 14 | #1

: KHB-1B5PT 25 |35 | 25 Red 25|M3 | 65 | 57 | 82 (285 64 | 12 | 14 | 50

: KHM-1"4BSPT 32 |35 | 30 Re1'4 25 |120 | 84 | 82 (108 | ¢1 |875) 14 | 17 | 60

- KHM-12B5PT 40 | 315 | 38 Ret2 25 | 130 | 91 | 93 (1195|465 99 | 14 | 17 | 7O

KHM-ZBSPT S0 | 315 | 48 Re2 30 | 140 | 100 | 110 (1355| 55 | 115 | 14 | 17 | 80

Mote: The unit of DN iz mm, and the wnit of PN is bar.

E# Ordering and Usage Notes

1.The selection for ordering codes 3, 4, 5, and 6, which comesponds to the 1,1,1,and 2 configuration, iz the default standard combination. No
additional labeling is required unless there are specific requirements.

2 The connection method of valve body and adapters is threaded, the standard is GBI/T 193.

3. ODM or OEM Available

007 | WWW.XH-YEYA.COM



XINHUA

HYDRAULIC 509001:2008 | 58] KHB3K Series Three Way Hydraulic Ball Valve

o

_—
/

>

VJe”

s

|

5% Porting patterns( See chart)

ATTENTION: Hydraulic oil can flow info the valve through port "1 1
The valve can only be sealed under two specific sifuations:
{1)Pressure at the clozed port is zero;

{2)Pressure at the closed port is lower than at the two open ports.
{3)Pleaze order Model KHB3KS in case you need pressure inlet
from all ports.

E% General dimensions

SW

oz

]
|

-

L1

E¥ How to order

KHB3K - G2 - L - 1 1 1 2 - 04 - Accessory

1 2 B B B[ E =

[1] Model: KHB3K-Square Body DNO4-50
[2] Threaded connection type for adapter: e.g. G1/2
[3] Porting patterns: See chart of porting pattern DND4~DNSD
[4] Body and Connection: 1-Carbon steel
4-Stainless steel

[5] Ball & stem material: 1-Carbon steel; 4-Stainless steel
[6] Ball zeat material: 1-POM; 4-PTFE; 5-PEEK
[7] Connection & stem seal: 2-NBR: 4-FPM: 6-EPDM
[B] Levers type: D4-Zinc Alloy Bent levers

05-Steel Straight levers

06-Steel Bent levers
[9] Valve can be offered with locking device or any other accessory like
limit switches or actuators. Please check *Ball Valve Annex for more
information

Porting pattermn
L Type T Type
a° 90%reversing o0 90°reversing
3 @ 2 3 @ 2 3 @ 2 3 6) 2
1 1 1 1
T180 Type
ag° 180°
B ) i
1 1

hi

WWW.XH-YEYA.cOoM || 008



KHB3K Series Three Way Hydraulic Ball Valve &3 | 1s09001:2003 HYDRAULIC

JBE84-TT Male Mefric Thread

Model D PM LW RA di i L L1 B H hi h2 h3 SW 5
KHB3IK- M12x1.25 4 315 4 ] M12x1.25 a 61 =T 28 | 445 13 a2 8 a as
KHB3K- Migx1.5 (i 315 (] 11 M18x1.5 1 a8a aF 28 | 445 13 a2 B8 a as
KHB3K- M22x1.5 a8 315 a8 18 M22x1.5 12 T8 42 a2 525 7 40 8 a s
KHB3K- M27x1.5 10 | 315 | 10 | 20 |M27x15 | 12 | 78 | 42 | 32 |525| 17 | 40 | & o | 38
5 = _""é - KHB3K- M30x1.5 16 315 15 24 M30x1.5 13 84 47 a8 | 8as 19 48 11 12 42
%\_‘ ‘\‘ KHB3IK- M3Gx2 20 315 20 30 M3g=2 15 103 g0 48 75 24 aF 12 14 52
i KHB3K- M42x2 25 |35 | 25 | 35 | M42x2 | 18 | 116 | B85 | 57 | 82 |285| B4 | 12 | 14 | 58
KHB3IK- M52x2 32 315 30 40 ME2x2 20 148 84 75 |104.5) 375 84 14 17 T2
KHB3K- Ma0=2 40 315 38 50 MBE0=2 22 174 a1 85 |115.5) 425 a5 14 17 TA.5
KHB3IK- M72=2 50 315 48 a0 MT2x2 24 178 | 100 | 105 | 133 | 525 | 1125 14 17 a8
150 228 Female Thread

Model DN | PN | LW | d1 i |L| 1| B | H|mM|h2|h3|sw|s
KHB3K-G1/8 4 (so0| 6 |GuUS | 10 |69 | 37 | 28 |445| 13 [ 32 | 8 35
KHB3K -G1/4 6 |S00| 6 | G14 | 14 |69 | 37 | 28 |445| 13 | 32 | B 35
KHB3K -G3/8 10 |S00| 10 | G¥8 | 14 | 72 | 42 | 32 |s25| 17 | 4D | B 36
KHB3K -G1/2 -SW9 13 (500 | 13 (G2 [ 16 |83 |48 |35 (525| 17 |40 | 8 | 9 | 40
. KHB3K -G1/2 -SW12 16 (400 | 15 | G12 | 16 |83 | 47 | 38 (635| 19 | 46 | 11 | 12 | 42
= 1= KHB3K -G3/4 20 |315| 20 | G3aM | 18 |95 |60 |48 | 75 | 24 | 57T | 12 | 14 | 49
& KHB3K -G1 25 (315 25 | G1 [205| 13|65 |57 | 82 |285| 64 | 12 | 14 |S65
i KHB3K -G114 25/32| 315 | 25 | G144 | 22 (120 | 65 | 60 | B2 |285| 64 | 12 | 14 | 60
KHB3K -G114 32 [315| 30 (G614 | 22 |10 | 84 | 75 (1045|375 84 | 14 | 17 | 55
KHB3K -G142 40 (315 38 |GM2 | 24 |130| 91 | 85 [1155/425| 95 | 14 | 17 | 65
KHB3K -G2 S50 (315 | 48 | G2 | 26 | 140 | 100 | 105 | 133 |52.5(1125) 14 | 17 | 70

AMSIB1.20.1 NPT Female Thread
Model DN | PN | LW d1 i |L| 11| B | H|mM|h2|h3|sw|s
KHB3K-A/BNPT 4 (500 6 | WBNPT |10.5( 69 | 37 | 28 (445 13 |32 | 8 35
KHB3K -14NPT 6 (500 6 | 14NPT | 14 | 69 | 37 | 28 |445| 13 [ 32 | 8 35
KHB3K -3/8NPT 10 |S00 | 10 | 3/BNPT | 14 | 72 | 42 | 32 |s25| 17 |40 | 8 36
== KHB3K -1/2NPT 13 |S00 | 13 | 12NPT | 17 |83 | 48 | 35 |s525| 17 |40 | B 40
5 51 | KHB3K -3M4NPT 20 (315 20 | 3MNPT | 19 |95 (60 |48 | 75 | 24 | 57 | 12 | 14 | 49
i N KHB3K -1 NPT 25 |315| 25 | INPT (225|113 | 65 | 57 | 82 |285| 64 | 12 | 14 |565
i KHB3K-1"4NPT  [25/32| 315 | 25 | 1"4NPT (225|120 | 65 | 60 | 82 |285| 64 | 12 | 14 | 60
KHB3K -1"4NPT 32 (35| 30 | 1"4NPT | 25 |120 | 84 | 75 |1045|/375| 84 | 14 | 17 | 60
KHB3K -12NPT 40 | 315 | 38 | 1¥2NPT | 25 (130 | 91 | 85 [1155/425| 95 | 14 | 17 | 70
KHB3K -2 NPT S0 315 | 48 | 2NPT | 30 | 140 | 100 | 105 | 133 |52.5(1125) 14 | 17 | 75

009 | WWW.XH-YEYA.COM



XINHUA
HYDRAULIC 1S09001:2008 |

KHB3K Series Three Way Hydraulic Ball Valve

SSAE J514NS0O/DIS11828-1 Metric Thread

Model ON | PN | LW di i L|l|B H | hl | h2 | h3 [SW1| 5
KHB3K-SAE4 6 |500( 6 TME-20UNF 12 | 69 | 37 | 28 (445|133 | 32 | 8 9 |3
KHB3K - SAEG 10 | 500 | 10 9/16-18UNF 13 | 72 | 42 | 32 |525| 17 | 40 36
KHB3K - SAESB 13 | 500 | 13 3/4-16UNF 15 | B3 | 48 | 35 |52.5| 17 | 40 40
= 1| = KHB3K - SAE12 20 | 35 | 20 116-12UN 20 |95 (60 |48 | 75 | 24 | 57 |12 | 14 | 49
- f & KHB3K - SAE1G 25 | M5 | 25 15M6-12UN 20 | M3 (65 | 57T | 82 |285| 64 | 12 | 14 |565
%& KHB3K - SAE20  |25/32| 315 | 25 158-12UN 20 (120 ( 65 | 6D | 82 |285| 64 | 12 | 14 | 6D
- KHB3K - SAE2D 32 |35 | 30 15/8-12UN 20 (120 ( 84 | 75 |1045375| 84 | 14 | 17 | 6D
! KHB3K - SAE24 40 (315 | 38 178-12UN 20 |130( 91 | 85 |[1155/425| 95 | 14 | 17 | 70
KHB3K - SAE32 S0 | 315 | 48 212-12UN 20 | 140 ( 100 | 105 | 133 |525|1125 14 | 17 | 75
DIN 2353 / 1SO 8434-1 Light Series Please note the pressure ratings of the connection
Model ON [ PN | LW | RA d1 i L || B H | hl | h2 | h3 [SW1| S
KHB3K -DELR 4 |500) 4 6 |M12x15| 10 | 67 | 37 | 28 |445| 13 (32 | 8 9 |345
KHB3K -D8LR 6 | 500 M14x15| 10 | 67 | 37 | 28 (445) 13 | 32 | 8 9 |345
KHB3K -10LR 8 | 500 10 |M16x15( 11 | 74 | 42 | 32 [525| 17 | 40 | 8 9 | 37
KHB3K -12LR 10 | 500 | 10 | 12 |M1B=x15) 11 | 74 [ 42 | 32 |525| 17 (40 | 8 9 | a7
K — | KHB3K-15LR-5W39 13 |500| 13 | 15 |M22x15| 12 | B2 | 4B | 35 |525| 17 (40 | 8 9 | 40
f = EE é - KHB3K -15LR-SW12 | 13 (400 13 | 15 |M22x15( 12 | B2 | 47 | 38 (635| 19 | 46 | 11 | 12 | 4D
L. KHB3K -18LR-5W3 13 |500| 13 | 18 |M26x15| 12 | 82 | 4B | 35 |525| 17 (40 | 8 9 | 42
: KHB3K -1BLR-SW12 | 16 (400 15 | 18 |M26x15| 12 | 82 | 47 | 38 (635 19 | 46 | 11 | 12 | 42
- KHB3K -22LR 20 |[315| 19 | 22 | M30x2 | 14 (101 (60 | 48 | 75 | 24 [ 57 | 12 | 14 | 52
KHB3K -28LR 25 |315| 25 | 28 | M36x2 | 14 (108 | 65 | 57 | 82 |285| 64 | 12 | 14 | 54
KHB3K -35LR 250320315 | 25 | 35 | M45x2 | 16 (112 | 65 | 60 | 82 |282| 64 | 12 | 14 | 56
KHB3K -35LR 32 |315| 30 | 35 | M45x2 | 16 | 141 | 84 | 75 |14 5375( 84 | 14 | 17 |704
KHB3K -42LR 40 | 315 | 37 | 42 | M52x2 | 16 (162 | 91 | 85 (1152|425 95 | 14 | 17 | B1
DIN 2353 1 150 8434-1 Heavy Series
Maodel DN | PN | LW | RA di i L|L1|B H | h1| h2 [ h3 |[SW1| S
KHB3K -085R 4 |500| 5 8 |MiGx15| 12 | 73 ( 37 | 2B |445| 13 | 32 | & 9 [ 37
KHB3K -105R 6 |500| 6 | 10 (M1Bx15| 12 | 73 | 37 (28 (445| 13 | 32 | &8 9 [ 37
KHB3K -125R 8 |500| B8 | 12 (M20x15| 12 | 76 | 42 | 32 (525| 17 | 40 | &8 9 | 38
KHB3K -145R 10 |500 | 10 | 14 |M22x15| 14 | 80 | 42 | 32 |525| 17 | 40 | & 9 | 40
KHB3K -165R-5W9 13 |500| 13 | 16 |M24x15| 14 | 86 | 48 | 35 |525| 17 | 40 | & 9 (435
KHB3K -165R-SW12 | 13 |400| 13 | 16 |M24x15| 14 | B6 | 47 | 38 (635 19 | 46 | 11 | 12 (435
KHB3K -205R-SW9 13 |500 | 13 | 20 | M30=x2 | 16 | 90 | 48 | 35 |525| 17 | 40 | & 9 |455
i KHB3K -20SR-SW12 | 16 (400 | 15 | 20 | M30=2 | 16 | 90 | 47 | 38 (635| 19 | 46 | 11 | 12 (455
KHB3K -255R 20 |3M5( 20 | 25 | M36x2 | 16 (109 | 6D | 4B | 75 | 24 | 57 | 12 | 14 | 56
KHB3K -305R 25 |35 ( 25 | 30 | M42x2 | 20 (120 | 65 | 57 | B2 (2B5| 64 | 12 | 14 | 6O
KHB3K -385R @5/32) 315 | 25 | 3B | M52=x2 | 22 (124 | 65 | 60 | B2 (285| 64 | 12 | 14 | B2
KHB3K -385R 32 |3M5( 30 | 38 | M52x2 | 22 (153 | B4 | 75 [1D4.5(375( B4 | 14 | 17 |T65

WWW.XH-YEYA.com || [010



KHB3K Series Three Way Hydraulic Ball Valve | 1s09001:2008 HYDRAULIC
Metric Female Thread

Model pN PN |w]| a1 i ||| B8 | H]m[n]|n|sw|s

KHB3K-N-M14x15 6 |500| 6 | M14x15 | 13 | 69 | 37 | 28 |445| 13 [ 32 |8 | 9 |35

%@ KHB3K-N-M18x1.5 10 [so0| 10 | miBx15 | 13 | 72 | 42 | 32 |525] 17 | 40 36

=T 1l -] kHB3kNMzx15swe | 13 [soo| 13 [mM22x15 | 15 [ 83 [ 48 | 35 [525] 17 | 40 40

- Tk °l  TKHB3KNM2215SWI2 | 16 | 400 | 15 | M22x15 | 16 | 83 | 47 | 38 | 635 19 | 46 | 11 | 12 | 42

L‘ﬁ KHB3K-N-M27x2 20 [315| 20 | m2rx2 | 18 [ 95 (60 |48 | 75 | 24 [ 57 [ 12| 14 | 40

i KHB3K-N-M33x2 25 [315| 25 | M33x2 | 20 | 113 | 65 | 57 | 82 |285| 64 | 12 | 14 |565

1 KHB3K-N-M42x2 32 [315| 30 | md2x2 | 22 [ 110 84 | 75 [1045/375 | 84 [ 14 | 17 |55

D KHB3K-N-M48x2 40 315 38 | ma8x2 | 24 |130| 91 | 85 [1155|425| 95 | 14 | 17 | 65

KHB3K-N-ME0x2 50 | 315 | 48 | M6Dx2 | 26 | 140 | 100 | 105 | 133 | 525 [1125| 14 | 17 | 75

IS0 71 Rc Female Thread

Model DN | PN | LW d1 i L L1 B H h1 | h2 | h3 | SW | 3
KHB3K -1/8B5PT 4 |500| & Retrg M | 69 | 3F | 28 |445) 13 | 32 a 9 a5
== | 8 O = KHB3K -1/14B5PT 6 |200| & Reli4 14 | 69 | 37 | 28 |445) 13 | 32 a 9 a5
el ] KHB3K -3/8B5PT 10 | 500 | 10 | Rc3/8 14 | 72 | 42 | 32 |525) 17 | 40 a8 9 36
E%\% KHB3K -1/2B5PT 13 | 500 | 13 | Relf2 17 | 83 | 48 | 35 |52.5) 17 | 40 a 9 40
: KHB3K -3/MBSPT 2 | N5 | 20 | RedM 19 | 95 | 60 | 48 | 75> | 24 | 57 | 12 | 14 | 48

L KHB3K -1BSPT 23 | M5 | 5 Rec1 25(1M3 | 65 | 57 | 82 |285| 64 | 12 | 14 | 565
KHB3K -1"4BSPT 25732 M5 | 25 | Ret'™d |225|120 | 65 | 60 | B2 |285| 64 | 12 | 14 | 60

Mote: The unit of DN is mm, and the unit of PN is bar.

E# Ordering and Usage Notes

1.The =election for ordering codes 4, 5, 6, and 7, which comesponds to the 1,1,1,and 2 configuration, iz the default standard combination. Mo
additional labeling iz required unless there are specific requirements.

2 The connection method of valve body and adapters is threaded, the standard is GBIT 193.

3. ODM or OEM Available

011 | WWW.XH-YEYA.COM



XINHUA = . . . .
HYORAULC  1SO9001:2008 | KHB, KHM Series Two-way Hydraulic Ball Valve Combinations

[ [

[1] Model: Select according to KHB, KHM Series two-way ball valve
[2] Combinaticn method

- [
| H1 |

H2

SHi/SH

':Iul".r"[

Model DM SWi1 SW2 H H1 H2 L
KHB-#-5L 4 9 12 20 64 26 180
KHB-#-5L 6 9 12 20 64 26 180
KHB-#-5L i 9 12 106 72 26 180
KHB-#-5L 10 9 12 106 72 26 180
KHB-#-5L 13 9 12 106 72 26 180
KHB-#-S5L 16 12 14 128 a0 36 200
KHB-#-5L 20 14 17 155 107 41 260
KHB-#-5L 25 14 17 169 112 41 260
KHB-3#-5L 25132 14 17 169 112 41 260

E% Introduction

The KHB, KHM Series two-way Hydraulic Ball Vahe Combinations combine the KHE or KHM =zeries two-way hydraulic ball valves, this allowing
you to select from all the threaded options available in the KHB or KHM series. The ball valves can be installed with side mounting holes or side
mounting threaded holes. For specific models and gizes of individual ball valves, please refer to pages in the KHB, KHM Series Hydraulic ball
valve catalog located in the front

E¥ Ordering and Usage Notes

1.Just add -SL after KHB or KHM ball valve your 2elect, you can easily get your KHB or KHM Series two-way Combinations.

2 KHB two way double ball valve, threaded M18 = 1,5, pipe diameter ¢ 12 light series, valve body joint material carbon steel, ball control
spindle material stainless steel, sealing material POM at the ball, joint and control gpindle =sealing FPM, surface environmentally friendly zinc,
model: KHB-12LR-1414-5L environmentally friendly zinc.

WWW.XH-YEYA.coM [] [012



KHB3K Series Three-way Hydraulic Ball Valve Combinations =53] | 15020012008

XINHUA
HYDRAULIC

E7 Dimensions
H

H1

H2

R

How to order

KHB3K - = - SL
1 [2

[1] Model: Select according to KHB3K, KHM3K Series
three-way ball valve
[2] Combination method

e

’
r'i\'

._[,;

Model DM SWi1 SW2 H H1 H2 L
KHB3K-#-5L 4 9 12 90 64 26 180
KHB3K-#-5L i 9 12 90 64 26 180
KHB3K-#-5L i 9 12 106 72 26 180
KHB3K-#-5L 10 9 12 106 72 26 180
KHB3K-#-5L 13 9 12 106 72 26 180
KHB3K-#-5L 16 12 14 128 a0 36 200
KHB3K-#-5L 20 14 17 155 107 41 260
KHB3K-#-5L 23 14 17 169 112 41 260
KHB3K-#-5L 25132 14 17 169 112 41 260

E% Introduction

The KHB3K, KHM3K Series three-way Hydraulic Ball Valve Combinations combine the KHB3K, KHM3K series three-way hydraulic ball valves,
this allowing you to select from all the threaded options available in the KHB3K or KHM3K =eries. The ball valves can be installed with side
mounting holes or gside mounting threaded holes. For specific models and sizes of individual ball valves, pleaze refer to pages in the KHB3K,

KHM3K Series Hydraulic ball valve catalog located in the front.

E¥® Ordering and Usage Notes

1.Just add -SL after KHBE3K or KHM3K series ball valve your select, you can easily get your KHB3K or KHM3K three-way combinations.
2 KHB3K three-way double ball valve, thread M18x1,5, pipe diameter ©12 light series, valve body joint material carbon steel, sphere control
mandrel matenal stainless steel, sphere sealing material POM, joint and control mandrel sealing FPM, surface environmental protection zinc

Model: KHB3K-12LL-1414-51L environmental protection zinc.

013 | WWW.XH-YEYA.COM



HYDRAULIC 5090012008 | E5d KH3, KH4 Series Multiway Ball Valve

E¥ How to order

KH} - G612 - L - 1 1 1 2
[ ] [ M A 18] [7] [8]

[1] Model: KH3 - 3-way ball valve
KH4 - 4-way ball valve
™ [2] Threaded connection type for adapter
[3] Ball symbal: KH3-L
KH3-T
KH4-L
KH4-T

=
- . KH4-X
- [4] Body and connection material: 1-Carbon steel
‘ 5 - g\‘\ 4-Stainless steel

[5] Ball & stemn material: 1-Carbon steel
4-Stainless steel
[B] Ball seat material: 1-POM; 5-PEEK
[7] Connection & stem seal: 2-NEBR
4-FKM
Remark): Product selection codes 1112 Is normal material, i could om when place order.
[B] Porting pattern: See chart of porting patiern
[9] Levers type: 04-Zinc Alloy Bent levers
05-Steel Straight levers
0E-Steel Bent levers
[10] Valve can be offered with locking device or any other accessory like limit
switches or actuators. Please check *Ball Valve Annex for more information

E¥ Porting patterns

3 way ball valve L type 90° operating angle, 45° closed

-
SBO1
IBENECHoRS)
3 way ball valve T type 90° operating angle, 45° closed
2
0
* EN 8
2

WWW.XH-YEYA.cOM || (014



KH3, KH4 Series Multiway Ball Valve & | 1509001:2008 HYDRAULIC

3 way ball valve T type 90° operating angle

s (S]] T B @

13 2

3 way ball valve T type 180° operating angle

2
L
LU [ 51 SRR 1B W o 1 D
b 2
2
w NFRELD 5 @ 8 @
13 s
E T T |
il 11_13TT TTT_|] SGI @ CB ® @
2
4 way ball valve L type 180" operating angle
24 i . .
el | AV B C AR SR O O RO
2
4 way ball valve T type 90° operating angle
EqJ__]_ {1 :
SB08 |_TT_'JI' 3®1 @ .(}
13 2
4 way ball valve T type 180° operating angle
2 4 4 :
809 Jgii—fiil—\ 3B ¥ S
1 s
4 way ball valve X type 90° operating angle
24 4 . .
$B10 _X s 1S KD
13 2 1

This series of high pressure ball valve has three and four ways, you can have multiple control method, and find the
best way to solve the fluid.

015 ]| WWW.XH-YEYA.COM



XINHUA — . .
HYDRAULIC 1S09001:2008 | KH3, KH4 Series Multiway Ball Valve

General dimensions
@

wd2

Ll

1L3

hi

&
&-

LW

= S Y S

dl
LW
LW

d1
LW
di
LK
dl
dl

DIN 2353 LR DIN 2353 SR JBESB4-TT 150 228 SAE J 514 ANS1 B1.20.1

DIN 2353 / 150 8434-1 Light series

Model DN | PN L L:r X RA d1 dz2 i L L1 L2 | L3 H h1 | h2 | h3 [SW1[35W2
KH3/4-06LR 04 (500 5 2 |45 | D6 M12x15 |65 | 10 (105 70 (425 55 | 57 | 22 [ 40 [ 1 12 | 24
KH3/4-08LR 06 |500| 5 2 |45 | D8 Mi4x15 |65 | 10 (105 | 70 |425| 55 | 57 | 22 [ 40 [ 1 12 | 24
KH34-10LR 08 |500| 8 9 10 Mi6x15 |65 | 11 (114 [ 80 | 46 | 65 | 68 | 27 | 50 [ 12 | 14 | 30
KH34-12LR 10 |S00( 9 9 12 M1Bx15 |65 | 11 (114 [ 80 | 46 | 65 | 68 | 27 | 50 | 12 | 14 | 30
KH3/4-15LR 12 | 400 12 [ 12 | 10 | 15 M22x1.5 9 12 | 136 (100 ( 56 | 80 | 78 | 31 | 60 | 12 | 14 | 36
KH3/4-18LR 12 | 400 12 [ 12 | 10 | 18 M26x1.5 9 12 | 136 (100 ( 56 | 80 | 78 | 31 | 60 | 12 | 14 | 36
KH34-22LR 20 |35 | 18 | 18 | 14 | 22 M30x2 9 4 | 143 (100 | 58 | 85 |935| 36 | 73 | 14 | 1F | 46
KH3M4-28LR 25 |35 | 23 [ 23 | 17 | 28 M3G5x2 9 14 | 166 | 118 (685 | 85 1025|475 | 82 | 14 | 1F | 50
KH34-351LR |25032| 315 | 23 | 23 | 17 | 35 M45x2 9 16 | 170 | 118 (685 | 85 1025|475 | 82 | 14 | 1F | 50

DIN 2353 /150 8434-1 Heavy series

Model DN | PN L L:r X RA d1 dz2 i L L1 L2 | L3 H h1 | h2 | h3 |SW1 | 35W2
KH3/4-085R 04 |50D0| 5 a2 |45 | 08 Mi16x15 |65 | 12 (105 70 |425| 55 | 57 | 22 [ 40 [ 1 12 | 24
KH34-105R 06 |500| 5 a2 |45 | 10 M18x15 |65 | 12 (105 70 |425| 55 | 57 | 22 [ 40 [ 1 12 | 24
KH34-125R 08 |500| 8 9 [ 12 M20x15 |65 | 12 (116 | 80 | 46 | 65 | 68 | 27 | 50 | 12 | 14 | 30
KH3/4-145R 10 |500( 9 9 [ 14 M22x15 |65 | 14 (120 80 | 46 | 65 | 68 | 27 | 50 | 12 | 14 | 30
KH3/4-165R 12 | 400 12 [ 12 | 10 | 16 M24x1.5 9 4 | 140 (100 ( 56 | 80 | 78 | 31 | 60 | 12 | 14 | 36
KH3/4-205R 12 | 400 12 | 12 | 10 | 20 M30x2 9 16 | 144 (100 ( 56 | 80 | 78 | 31 | 60 | 12 | 14 | 36
KH3/4-255R 20 |35 18 [ 18 | 14 | 25 M3G6x2 9 18 | 151 (100 58 | 85 |935| 36 | 73 | 14 | 1F | 46
KH3M4-305R 25 |35 | 23 [ 23 | 1F | 30 Mad2x2 9 20 | 176 | 118 (685 85 (1025|475 | 82 | 14 | 17 | 50
KH3M4-385R |253/32 315 | 23 | 23 | 17 | 38 M52x2 9 22 | 180 | 18 (685 85 (1025|475 | 82 | 14 | 1F | 35

WWW.XH-YEYA.coMm || [016



XINHUA

KH3, KH4 Series Multiway Ball Valve B | 1509001:2008 HYDRAULIC

JB984-77 Male Metric Thread

Model DM | PN L I?::'l’ x RA d1 a2 | i L 1| L2 | L3 H hl | h2 | h3 [SW1|35W2
KH3/4-M12=1.25 | 04 | 500 | 5 3 (45| 8 M12x125 |65 (10 (105 | 70 |425) 55 | 57 | 22 | 40 | N 12 | 24
KH3/M4-M16=x1.5 | 06 | 500 | 5 3 (45 N Mi16x15 |65 11 | 105 7D (425 55 | 5F | 22 | 40 | 11 12 | 24
KH3/4-M22x1.5 | 08 | 500 | 9 9 16 M22x15 |65|12 | 116 | 80 | 46 | 65 | 68 | 27 | 50 | 12 | 14 | 30
KH3/M4-M27=1.5 | 10 | 500 | 9 g 20 M27x15 |65 16 | 124 | 80 | 46 | 65 | 68 | 27 | 50 | 12 | 14 | 30
KH3/4-M30=x1.5 | 12 | 400 | 12 | 12 | 10 | 24 M30x=1.5 9 |16 | 144 | 100 | 56 | 80 (78 | 1 | 60 | 12 | 14 | 36
KH3/M4-M36=2 | 20 (315 | 18 | 18 | 14 | 30 M36x2 9 |18 | 151 | 100 | 58 | 85 (935| 36 | 73 | 14 | 17 | 46

KH3M-Ma2x2 25 |35 | 23|23 | 1F | 35 Mad2x2 9 |18 | 176 | 116 |685) 85 (1025|475 | 82 | 14 | 17 | 50
DIN 150 228 Female Thread
LW .

Model DM | PN L T x RA d1 dz2 i L L1 L2 | L3 H hl | h2 | h3 [SW1[35W2
KH34-G1/8 04 | 500 | 5 3 |45 - G1/f8 (65 10 100 | 70 |425| 55 ( 57 (2 | 40 | M 12 | 24
KH3/4-G1/4 06 | 500 | 5 45 - G4 (65 (14 |100| 70 |425| 55 | 57 (2 | 40 | M 12 | 24
KH3/4-G3/8 10 | 500 ( 9 T - G386 (65 (14 |115 | 80 | 46 | 65 | 68 | 27 | 50 | 12 | 14 | 30
KH34-G12 12 | 400 | 12 | 12 | 10 - G2 9 16 (135 (100 56 | 80 | 78 | 31 | 60 | 12 | 14 | 36
KH3/4-G3/4 20 |5 | 18 | 18 | 14 - G334 9 19 | 144 (100 | 58 | 85 |93.5| 36 | 73 | 14 | 17 | 46
KH3/4-G1 2 | M5 23 | 23 | 17 - G1 9 (205|172 | 118 |68.5| 85 (1025475 82 | 14 | 17 | 50
KH3M4-G1'4 (25/32) 315 | 23 | 23 | 17 - G1'4 9 22 | 180 | 118 (685 85 (1025|475 | 82 | 14 | 17 | 535

SAE J14I50/DIS11926-1 Female Thread
Lw E

Model DN | PN LT T x RA d1 da? | i L L1 | L2 | L3 H h1 | h2 | h3 | 5W1|5W2
KH34-5AE4 06 |500| 5 | 5 |45 - TME-20UNF | 65 |12 (100 | 70 (425 55 | 57 [ 22 | 40 |11 | 12 | 24
KH34-5AEB 10 |500 | 9| 9 | 7 - 9M6-1BUNF (65 |13 (115 | B0 | 46 | 65 | 68 | 27 | 50 |12 | 14 | 30
KH34-5AE8 12 | 400 (12|12 |10 | - H4-16UNF 9 |15(135 |100 | 56 | 80 | 78 | 31 | 60 |12 | 14 | 36

KH3M4-5AE12 20 |35 (18|18 | 14| - THE-12UN 9 |20(144 100 | 58 | 85 (935 36 | 723 |14 | 17 | 46
KH3/M4-5AE16 25 |35 |23 | 23 |17 | - 15M6-12UN 9 |20(172 | 118 |6B.5| 85 (1025475 | 82 | 14 | 17 | 50
KH3M4-5AE20 |25/32) 315 |23 | 23 |17 | - 15/8-12UN 9 |20(180 | 118 |68.5| 85 (1025|475 ( 82 (14 | 17 [ 55
AMNSI B1.20.1 Npt Female Thread
LW .

Model DN | PN L T X RA di dz2 i L 11| L2 L3 H hl | h2 | h3 |[SW1|35W2
KH34-14NPT | 06 | 500 | 5 3 |45 - |14NPT | 65 | 14 | 100 | 7O (425| 55 | 5F | 22 | 40 | 1 12 | 24
KH3/4-3/8NPT | 10 (500 | 9 9 [ - |IBNPT| 65| 14 | 115 | 80 | 46 | 65 | 68 | 27 | 50 | 12 | 14 | 30
KH3M4-12NPT | 12 |400| 12 | 12 | 10 - |[12NPT| 9 17 (135|100 56 | 80 | 78 | 31 | 60 | 12 | 14 | 36
KH3M4-34NPT | 20 | 315 | 18 | 18 | 14 - | 3M4NPT| 9 19 | 144 | 100 | 58 | B85 |935) 36 | 73 | 14 | 17 | 46

KH34-1NPT 25 |35 | 23 | 23 | 17 - 1NPT 9 | 225172 | 116 |685) 85 (1025|475 ( 82 | 14 | 17 | 50
KH3/M4-1"4NPT (25/32( 315 | 23 | 23 | 17 - [1MNPT| 9 |225|180 | 118 |685| B85 (102.5/475| 82 | 14 | 17 | 55

Mote: The unit of DN is mm, and the unit of PN iz bar.

017 | WWW.XH-YEYA.COM



XINHUA — . . -
HYDRAULIC 1S09001:2008 | KHP Series Manifold Mounting Ball Valves

&7 How to order
KHPF - 10 - 1 1 1 2 -

[ 2 Bl 4 B E

[1] Model: KHP-Manifold type 2 way ball valve
[2] Mominal diameter: 06, 10, 16...mm
[3] Bedy & plug matemal: 1-Carbon steel
4-Stainless steel

[4] Ball & stem material: 1-Carbon steel; 4-Stainless steel
[5] Ball zeat material: 1-POM 5-PEEK
[E] Plug & stem seal: 2-NBR 4-FKM
Remark): Product seleciion code 1112 Is normal matenial, It could omit when place ordar.

- [7] Levers type: 04-Zinc Alloy Bent levers
—— 05-Steel Straight levers

D6-Steel Bent levers

[8] valve can be offered with locking device or any other accessory
like limit switches or actuators. Please check *Ball Valve Annex
for mare information

Accessory

04 -
[71 [8]

E¥ General dimensions

e
= : +EE2
|
i oAt
: K2
| B h ERE]
L H -
Model DN PN L L1 L2 L3 L4 LS LG L7 B
KHP-D& 06 500 64 B.S - 59 25 8.5 35 35 40
KHP-10 10 S500 B0 B 275 Fi | 295 10.5 44 55 56
KHP-13 13 420 110 B.5 415 100 435 17 58 B3 62
KHP-16 16 350 110 B.5 415 100 435 17 58 B3 62
KHP-20 20 350 127 10 48.5 17 51 20 69 97 T0
KHP-25 25 350 145 10 575 135 62 24 B1 115 80
KHP-32 32 350 177 12 (4] 165 75 29 96 136 100
KHP-40 40 350 1892 285 56 180 855 285 112 112 130
KHP-50 50 350 245 38 (4] 220 106 38 136 136 149
Model B1 SWi SwW2 H H1 H2 D D1 D2 5 O-ring/GB1235
KHP-D6 27 ] 22 39 30 [+ 6.6 " [ 23 12x1.9
KHP-10 40 ] 30 545 42 8 ] 135 95 33 16x2 4
KHP-13 45 ] 32 62 8 9 135 13 41 25x2 4
KHP-16 45 12 36 BT.S 1 9 135 16 41 265x2 4
KHP-20 | 14 41 B0 12 10.5 16.5 20 51 30x=31
KHP-25 60 14 50 86 12 10.5 16.5 25 13 35x=31
KHP-32 T8 17 BS 110 90 14 13 19 32 Tr 40x3.1
KHP-40 95 17 75 120 100 14 175 26 38 82 S0x=31
KHP-50 112 17 75 130 110 14 22 32 48 88 B0=3.1

PM bar

E¥ Ordering and Usage Notes
The zelection for ordering codes 3, 4, 5, and 6, which corresponds to the 1,1,1,and 2 configuration, is the default standard combination. Mo
additional labeling iz required unless there are specific requirements.

WWW.XH-YEYA.com || [018



XINHUA

KHP3K Series Manifold Mounting Ball Valves | 1s09001:2008 HYDRAULIC

E¥ Porting patterns ( See chart )
ATTENTION: Hydraulic oil can flow into the valve through port 1!

The valve can only be sealed under two specific situations:
(1) Pressure at the closed port is zero:

(2) Presszure at the closed port iz lower than at the two open

ports.

L Type S0%reversing
g

non

ngn

E% General dimensions

non

ngn

L3
L}

L1]

L2

E% How to order
KHP3IK - 10 - L -1 1 1 2 - 04 - Accessory

[ @ Bl K 5 E [8] [

[1] Model: KHP3K-Manifold type 3 way ball valve
[2] Nominal diameter: 06, 10, 16.._.mm
[3] Porting pattern: L
[4] Body & plug maternal: 1-Carbon steel
4-Stainless steel
[5] Ball & stem material: 1-Carbon steel
4-Stainless steel
[E] Ball seat material: 1-POM 5.PEE
[7] Plug & stem seal: 2-NBR 4-FKM
Remark) Product seleciion code 1112 Is normal material, it could omit when place order.
[8] Levers type: 04-Zinc Alloy Bent levers
05-Steel Siraight levers
06-Steel Bent levers
[9] Valve can be offered with locking device or any other accessory like
limit switches or actuators. Please check *Ball Valve Annex for more
information

EE1235

Model DN PN L L1 L2 L3 L4 LS L& LT L&
KHP3K-06 6 500 64 8B5S - 59 25 0 as 35 175
KHP3K-10 10 350 80 8 275 T 295 25 44 55 19
KHP3K-16 16 350 110 ) 415 100 435 85 58 83 26.5
KHP3K-20 20 350 127 10 485 117 51 10 69 a7 32
KHP3K-25 25 350 145 10 575 135 62 14 81 115 38
KHP3K-32 32 350 177 12 68 165 75 17 96 136 46
KHP3K-40 40 350 192 285 56 180 85.5 0 112 12 56
KHP3K-50 50 350 245 38 68 220 106 0 136 136 68

Model B B1 H H1 H2 D D1 D2 5 sSw O-ring/GB1235
KHP3K-06 40 27 3a 30 B 6.6 11 6 23 k] 12=19
KHP3K-10 56 40 545 42 8 9 135 95 33 9 16x2 4
KHP3K-16 62 45 67.5 50 11 9 135 16 41 12 25x2 4
KHP3K-20 70 51 80 62 12 10.5 16.5 20 51 14 30=31
KHP3K-25 a0 60 85 67 12 10.5 165 25 56 14 35x31
KHP3K-32 100 T8 110 90 14 13 19 32 7 17 40x31
KHP3K-40 130 95 120 100 14 175 26 38 82 17 50x31
KHP3K-50 149 112 130 110 14 22 32 48 88 17 G0x31

PN bar

019 | WWW.XH-YEYA.COM




XINHUA
HYDRAULIC

1509001:2008 | 5 KH3P, KH4P Series

EX Porting patterns

Multiway Ball Valve For Manifold Mounting

&% How to order

KHIP - 16 - L - 1 1 1 2 - SB01 - 04 - Accessory

[ [2 E-] [4 A [E [ [8] 3

[1] Model: KH3P - 3-way ball valve for manifold mounting
KH4P - 4-way ball valve for manifold mounting
[2] Mominal diameter: 06. 10. 16. 20mm
[3] Ball zymbol: KH3P-L
KH3P-T
KH4P-L
KH4P-T
KH4P-X
[4] Body & plug maternal: 1-Carbon steel
4-Stainless stesl
[5] Ball & stern material: 1-Carbon steel
4-Stainless steel
[6] Ball zeat material: 1-POM; 5-PEEK
[7] Body & connection seal: 2-NBR
4-FKM
Remark): Product seleciion codes 1112 Is normal material, It could omit when piace onder.
[B] Porting pattemn: See chart of porting pattern
[9] Levers type: D4-Zinc Alloy Bent levers
0B-Steel Bent levers

(1o

[10] Valve can be offered with locking device or any other accessory like limit

switches or actuators. Please check *Ball Valve Annex for more information

3 way ball valve L type 90° operating angle, 45° closed

2

SBO1
|

!

5
13

(1 ©

2

)

3 way ball valve T type 90° operating angle, 45° closed

2

SB02

-

X

13

WWW.XH-YEYA.coM || 020



KH3P, KH4P Series K] | s02001:2008 HYDRAULIC
Multiway Ball Valve For Manifold Mounting

3 way ball valve T type 90° operating angle

.
o (O], ' & @&
13 2
3 way ball valve T type 180" operating angle
2
S | s A 31O & D!
13 2
2
=L 1 L
805 |\ |- |-l s D & €5 1&r
13 2
2
o CELEE Q036
13 2
4 way ball valve L type 180° operating angle
24 4
L]l L L]L IJL : : : .
SB07 1 13' T T T\ T l SMCB‘I--I ‘®h -@- -®- -@-
2
4 way ball valve T type 90° operafing angle
2.4 i .
ss8 || - 30 1 1B
13 2
4 way ball valve T type 180" operating angle
2 4 4 ; :
I |t 5 | RS (5 IR (GO 5 IR (N g D
13 2
4 way ball valve X type 90° operating angle
24 4 . .
SB10 ii X 3'@' ) @
13 2 | |

This series of high pressure ball valve has three and four ways, you can find multiple control problems, and the best way to solve the fluid.

021 | WWW.XH-YEYA.COM



KINHUA
HYDRAULIC 1S09001:2008

KH3P, KH4P Series
Multiway Ball Valve For Manifold Mounting

E% General dimensions

452 .

e
)
A_@d n]
= —_
H B o~
- o ) S [ ) el g
H H
| - [] hd =
I 1]
' 0
oLi I |
oL
Lw
Model DN PN = = = L L1 L2 L3 L4 D D1 D2 H h h2 h3 | 5W
KH3P-D&6 06 | 400 5 5 45 | 102 | 90 0 | 343 - 6 - 6.5 57 22 40 11 12
KH3P-10D 10 315 9 g9 7 113 | 100 | BD | 405 - 8 - 9 68 27 50 12 14
KH3P-16 16 315 12 12 10 153 | 140 | 9D | 577 - 13 150 | 135 | 78 A 60 12 14
KH3P-20 20 | 250 | 23 23 17 186 | 170 | 100 | 6B.5 - 18 180 | 135 | 935 | 36 73 14 17
Lw
Model DN PN = = = L L1 L2 L3 L4 D D1 D2 H h h2 h3 | 5W
KH4P-D6 06 | 400 5 5 45 | 102 | 90 70 - 686 6 - 6.5 57 22 40 11 12
KH4P-10 10 315 9 g9 7 113 | 100 | BD - 81 8 - 9 68 27 50 12 14
KH4P-16 16 315 12 12 10 153 | 140 | 9D - 1154 ( 13 150 | 135 | 78 k| 60 12 14
KH4P-20 20 | 250 | 23 23 17 186 | 170 | 100 - 137 18 180 | 135 | 935 | 36 73 14 17

Mote: The unit of DN iz mm, and the unit of PN iz bar.

WWW.XH-YEYA.cOM || [022



XINHUA

KHB-F3/6, KHM-F3/6 Series Ball Valve | 1s09001:2008 HYDRAULIC

With SAE Connection

E% General dimensions

E7 How to order

KHB - 20 - F3 - 1 1 1 2 - 1 - Accessory

1 2 31 4 5 6 [0 [8] ]

[1] Model: KHB-Square body DN16-25
KHM-Eight-Square Body DM32-50

[2] Nominal diameter. 16, 20, S0mm
[3] Flange code: F3-SAEJS18C3000psi (21MPa)

FE-SAEJS18CE6000psi (42MPa)
[4] Body and Connection material:: 1-Carbon steel

4-Sfainless steel
[5] Ball & stemn material: 1-Carbon steel:
4-Stainless steel

[B] Ball seat material: 1-POM; 4-PTFE: 5-PEEK
[7] Connection & stem seal: 2-NBR: 4-FKM
[B] SAE C flange material: 1-Carbon steel
[9] Valve can be offered with locking device or any other accessory like
limit switches or actuators. Please check *Ball Valve Annex for more
information

KHB-F3/F& N
SR £
_ o i —
- . - 5 o =

T = g Z
|| L !|

L1 b

L B

KHB-F3

Model SAE Size DM | PN | LW L L1 H H1 H2 | H3 B b d1 d2 | SwW O-ring
KHB-13-F3 w2 13 (350 | 13 | 151 | 48 | 525 117 40 B 35 | 68 (302 24 L] 18.64x3 .53
KHB-16-F3 34" 16 (350 | 15 | 170 | 47 |63.5) 19 46 1 38 |68 (381 |35 12 24 99x3.53
KHB-20-F3 34" 20 (350 | 19 | 170 | 6O 75 24 o7 12 48 | 68 (381|315 14 24 99x3.53
KHB-25-F3 1" 25 | 315 | 25 |[176.5] BS B2 |285( B4 12 57 B (44.45| 38 14 32.92x3.53

KHB-F&

28 SAE Size DM | PN | LW L L1 H H1 H2 | H3 B b di d2 | 5W O-ring
KHB-13-F6 w2 13 (420 | 13 | 151 | 48 | 525 117 40 B8 35 | 79 (8| 24 9 18.64x3.53
KHB-16-F& 34" 16 (400 | 15 | 170 | 47 |63.5) 19 46 1 38 |88 (413 32 12 24 99x3.53
KHB-20-F& 34" 20 (350 | 19 | 170 | 60 75 24 57 12 48 | 88 (413| 32 14 24 99x3.53
KHB-25-F6 1 25 350 | 25 | 198 | 65 82 |285( B4 12 57 | 95 (476 | 38 14 32.92x353

023 | WWW.XH-YEYA.COM




HYDRAULIC 1S09001:2008 | KHB-F3/6, KHM-F3/6 Series Ball Valve
With SAE Connection

KHM-F3IF6 S

=R :
i i b
I
51 b
L
KHM-F3

Model SAESize | DN | PN | LW L L1 H H1 | H2 | H3 B b di dz? | SwW O-ring
KHM-32-F3 114" 32 | 275 30 | 191 | 84 | 108 | 41 | B75 | 14 82 B |508|( 43 7 37 69x3.53
KHM-40-F3 12" 40 | 210 | 38 | 231 | 91 |1195|46.5] 99 14 93 B |[60.35 50 7 47 2253 53
KHM-50-F3 Fa 50 | 210 | 48 | 234 | 100 |1355) 55 | 115 | 14 | 110 | 96 | 71.4 | 62 7 56.74x3.53

KHM-F&

Model SAESize | DN | PN | LW L L1 H H1 | H2 | H3 B b di d? | SwW O-ring
KHM-32-F6 14" 32 |350( 30 |223 | 84 | 108 | 41 | B7S | 14 B2 |103| 54 | 44 17 37 69x3.53
KHM-40-F& 12" 40 | 350 ( 38 | 281 | 91 |1195|46.5)| 99 14 93 (126|635 51 17 47 223 53
KHM-50-F& 2" 50 | 350 ( 48 | 315 | 100 |1355) 55 | 115 | 14 | 110 (126 | 794 | 67 17 56.74x3.53

E# Ordering and Usage Notes

1.The Product selection codes 4, 5, 6, and 7, which comesponds fo the 1,1,1,and 2 configuration, is the default standard combination.
Mo addificnal labeling s required unless there are specific requirements.

2. If SAE flange is required there is an addificnal cost

3. Supply with a 06-Steel Bent levers

WWW.XH-YEYA.cOM || 024



2-way Ball Valves With SAE Connection 1S09001:2008 e

HYDRAULIC
&% How to order
KHSAE 210 - 32 - 2 1 2 A
[1 2 [31 4 B1 B [

[1] Model: KHSAE-Fixed flange ball valve
[2] Pressure setting: 210, 420bar
[3] Nominal diameter: 15, 20...mm
[4] Body and Connection material: 2-Carbon steel
[5] Ball & stem material: 1-Carbon steel
4-Stainless steel
[E] Ball seat material: 2-POM; 4-PTFE; 5-PEEK
[7] Connection & stem seal A-NBR; 8-FPM; 8-FKM
Remark) Product seleciion codes 2124 Is normal matertal, ¥ could omit when place ondes.

EL]
=1
=
=
= ul
T :
|
ul £ R e &
e [ ol ] RS Ly e
] B
sl | =
' |
Lt T
i 1
R
SAE J 518 C 21MPa/3000psi
Modsl oM PM LW L 1 B [ H v SW a b M t
KHSAEZ1D-15 15 350 15 5 as T7 L 88.5 1 12 175 381 Ma 18
KHSAE210-20 20 350 20 80 as a7 375 104 12 14 222 4T 8 M1i0 18
KHSAE210-25 25 320 25 88 38 117 40 116.5 12 14 28.2 2.4 M10 18
KHSAE210-32-M10 a2 210 30 100 47 145 [il:] 181 14 17 30.2 58T 10 20
KHSAE210-32-M12 a2 210 30 100 47 145 88 181 14 17 30.2 587 M12 20
KHSAE210-40 40 210 38 110 54 185 78 180 14 17 5.7 89.8 M12 20
KHSAE210-50 50 210 48 116 58 187 24 213 14 17 428 TiB M12 20
KHSAE210-85 85 175 g0 150 Fi 187 a2 211 14 17 508 88.8 M12 20
KHSAE210-80 80 160 70 140 70 207 28 232 24 20 61.8 108.4 M18 24
KHSAEZ10-100 100 35 85 170 a5 257 121 2825 28 24 TiB 130.2 M18 24
KHSAEZ210-125 125 35 118 210 105 285 140 3305 38 36 821 1524 M18 30
SAE J 518 C 42MPa/f3000psi
Modsl DM PH LW L 1 B C H v SW a b M t
KHSAE420-15 15 420 15 5 a5 T7 L B8.5 1 12 18.2 40.5 ME 18
KHSAE420-20 20 420 20 &0 as a7 375 104 12 14 238 50.8 M10 18
KHSAE420-25 25 420 25 88 38 117 40 116.5 12 14 278 572 M2 20
KHSAE420-32 a2 400 30 100 47 145 88 181 14 17 s 687 M4 22
KHSAE420-40 40 400 38 110 54 185 78 180 14 17 8.5 TO.4 M6 24
KHSAE420-50 50 400 48 116 58 187 24 213 14 17 44 5 26.8 M20 28
KHSAE420-85 ;] 350 g0 170 a5 217 100 228 14 17 58.7 123.8 M24 41
KHSAE420-80 80 350 70 170 a5 2568 120 278.5 24 20 714 1524 M30 47

E¥ Ordering and Usage Notes

1. Lever must be fixed centrally during operation. In case of vibration the lever may otherwise operate the valve by itsalf.
2. Supply with a 06-Steel Bent levers

3. With handle when leaving the factory.

025 | WWW.XH-YEYA.COM



XINHUA
HYDRAULIC

15090012008 | 58 KHZ Series Ball Valve With SAE Connection

&% How to order

&% Introduction

The KHZ two-way seriez high-pressure ball valve interface iz designed
according to the SAE flange standard. It can be installed between the
hydraulic block with a flange on one side and a hydraulic pipe on the other
side. It is also suitable for connecting different types of pipes. When using
materials of various compositions, it can be applied to a wide range of
SCEnanos.

KHZ - DN13 - SAR420 - 1 1 2 A - 04

1 2

[1] Model: KHZ- KHZ series SAE flange ball valve
[2] Mominal diameter: DN13~DN50

Bl

[3] Connection standard and pressure setting

[4] Body and Connection material: 1-Carbon steel
4-Sfainless steel

[5] Ball & stem material: 1-Carbon steel; 4-Stainless steel

E¥ General dimens

ions

6 7 Bl

[B] Ball seat material: 2-POM; 5-PEEK
[7] Body connection & connection seal:A-NBR; 8-FKM
{Remark-Product selection cotes 1124 Is normal materal i could omE when place order.
[8] B.Levers type: 04-Zinc Alloy Bent levers

05-Steel Siraight levers

06-Steel Bent levers

i |
5 O NE
J =
ISERT =l S () e
I
e 1 e = LT g
& . @3‘? Y
E;_'“—]:Eyl__ ' -&E— O Ring could be i v
offered by valve 1
15 L1 a
b
h1
KHZ-#-SAE210
Model DN P Lw 8] d L L1 H h hi
KHZ-DN13-SAE210 13 350 13 13 255 68 34 70 58 58
KHZ-DN20-SAE210 20 350 20 20 39 70 a5 93 75 75
KHZ-DN25-SAE210 25 320 2 24 3848 78 35 100 a2 82
KHZ-DN32-SAE210 32 280 25 32 445 90 45 116 a8 98
KHZ-DN40-SAE210 40 210 30 38 541 95 495 1365 116 116
KHZ-DN50-SAE210 50 210 38 45 636 120 60 158 138 138

WWW.XH-YEYA.cOoM || 026



KHZ Series Ball Valve With SAE Connection | 1509001:2008 e

Model a b M m t i W SW Mut
KHZ-DN13-5AE210 175 381 M 30 13 " 8 9 MBxT0
KHZ-DMN20-5AE210 222 47.6 M10 IS 17 125 12 14 M10=70
KHZ-DN25-5AE210 262 224 M10 41 17 13 12 14 M10=80
KHZ-DN32-5AE210 a0z 28.7 M10 43 21 10.5 12 14 M10=80
KHZ-DN40-SAE210 T 69.8 M12 a8 21 135 14 17 M12x100
KHZ-DMNS0-SAE210 429 Tia M12 69 21 125 14 17 M12x130

KHZ-#-SAE420
Model DM PM Lw D d L L1 H h h1
KHZ-DMN13-5AE420 13 420 13 13 255 68 34 7o 28 28
KHZ-DN20-SAE420 20 420 20 20 319 70 35 93 73 73
KHZ-DN25-SAE420 25 420 25 23 388 i} 39 100
KHZ-DN32-5AE420-M12 32 350 32 32 44.5 a0 45 116 98 98
KHZ-DN32-5AE420 32 330 25 32 44.5 a0 45 116
KHZ-DN40-SAE420 40 330 30 38 4.1 99 495 136.5 116 116
KHZ-DN50-SAE420 20 330 38 43 63.6 120 60 158 138 138
Model a b M m t i W SW Mut
KHZ-DMN13-5AE420 18.2 40.5 M 29 15 11 [i] 9 MEx=70
KHZ-DN20-SAE420 23.8 20.8 M10 375 17 12 12 14 M10=80
KHZ-DN25-SAE420 278 o722 M12 42 P | 14.5 12 14 M12x80
KHZ-DMN32-5AE420-M12 3.8 66.6 M12 43 | 14.5 12 14 M12x30
KHZ-DMN32-5AE420 3.8 66.6 M14 43 22 14.5 12 14 M14x30
KHZ-DN40-SAE420 36.5 79.4 M16 28 26 18 14 17 M16x100
KHZ-DN50-SAE420 445 96.8 M20 69 34 k1l 14 17 M20=130

Mote: The unit of DN is mm, and the unit of PN is bar.

027 | WWW.XH-YEYA.COM



XINHUA

HYDRAULIC

isoo001:2008 | k58 KH2K Series Two Way Ball Valve

E% General dimensions

With SAE Flange ( Manifold Mounting)

E¥ How to order

KH2K - DN4D - SAE420 -1 1 2 A - 06 - Accessory
1 4] 3 [41 51 6] [71 [8] [

[1] Modek: KH2K

[2] Nominal diameter: DN13~DNSO

[2] Connection standard

[4] 4.Body and Flange material: 1-Carbon steel
[5] Ball & stem material: 1-Carbon steel:
4-Stainless steel

[6] Ball seat materiak: 2-FOM 5-PEEK
[7] Body Connection: A-MBR: 8-FKM
Remark): Product selecilon codes 1124 ks normal material, it could omif when place onder.
[8] Levers type: 04-Finc Alloy Bent levers

05-5teel Siraight levers.

D8-5te=l Bent levers
2] valve can be offered with locking device or any other accessory like limit switches or
actuators. Please check "Ball Valve Annex for more information

e

Model DN PN Lw B H h m SwW
KH2K-DN13-SAE420 13 420 13 B0 B8 5§ 28 9
KH2K-DN20-SAE420 20 420 20 80 93 75 375 14
KH2K-DN25-SAE420 25 420 25 04 100 B2 42 14
KH2K-DN32-SAE420 32 350 30 100 1205 100 50.5 17
KH2K-DN40-SAE420 40 350 35 10 1325 12 5§ 17
KH2K-DN50-SAE420 S0 350 45 135 155.5 135 BT.5 17
Model v a b M G d1 dz
KH2K-DN13-SAE420 75 18.2 405 Ma 43 85 135 9
KH2K-DN20-SAE420 12 238 50.8 M10 B0 105 16.5 1
KH2K-DN25-SAE420 12 27.8 572 M12 70 105 16.5 1
KH2K-DN32-SAE420 14 31.8 66.5 M14 76 13 19 13
KH2K-DN40-SAE420 14 365 79.4 M16 B4 13 19 13
KH2K-DN50-SAE420 14 445 96.3 M20 108 13 19 13

Mote: The unit of DN iz mm, and the unit of PN iz bar.

WWW.XH-YEYA.cOoM || 028



KH3K Series Three Way Compatct Ball Valve 5 | 1509001:2008

XINHUA
HYDRAULIC

With SAE Connection

E% Porting patterns ( See chart )

L Type
0 90" Reversing

3@? 3@?

E% General dimensions

E¥ How to order
KHIK - DN13 - SAE420 - 1 1 2
[11 21 [31 41 [[1 [6]

[1] Modek: KH3K- KH3K series SAE flange 3 way ball valve
[2] Nominal diameter: DN13-50mm
[3] Connection standard
[4] Body and connection material: 1-Carbon steel
[5] Ball & stem materiak: 1-Carbon steek:
4 Stainless steel
[6] Ball seat material: 2-POM 5-PEEK
[7] Block and connection material: A-NBR: 8-FPM

Remark): Product seleciion codes 1124 Is normal material, it could omit
when place ordes.

T Type
o S0" Reversing o

31}5@2 a{—D

.
&

A - L - 06 -Accessory

71 8 [

[B] Forting pattern: L type

[9] Levers type: 04-Fnc Alloy Bent levers
D5-Sieel Straight levers
D8-5Sieel Bent levers

[10] Walve can be offered with locking device

or any other accessory ke limit switches or

actuators. Please check "Ball Valve Annex

for more information

T180 Type
[-ln 1B0" Reversing

2 i e o | S
BN R
. 2 [fi\ ‘@
2 A e i JI%
Fan) '
S || @
B e M 5 50
— e — — - — — —
e b
h
H
Model DN PN LW B H h m =
KH3K-DN13-SAE420 13 420 13 60 68 56 28 9
KH3K-DN20-SAE420 20 420 20 80 93 75 375 14
KH3K-DN25-SAE420 25 420 25 94 100 82 %2 14
KH3K-DN32-SAE420 32 350 30 100 1205 100 50.5 7
KH3K-DN40-SAE420 40 350 36 10 1325 12 56 17
KH3K-DN50-SAE420 50 350 46 135 155.5 135 675 17
Model a b M G d1 a2
KH3K-DN13-SAE420 18.2 405 M8 43 8.5 135 9
KH3K-DN20-SAE420 12 238 50.8 M10 60 105 16.5 11
KH3K-DN25-SAE420 12 278 572 M12 70 105 16.5 1
KH3K-DN32-SAE420 14 318 66.6 M14 76 13 19 13
KH3K-DN40-SAE420 14 365 794 M16 84 13 19 13
KH3K-DN50-SAE420 14 445 96.8 M20 108 13 19 13

Mote: The unit of DN is mm, and the unit of PN iz bar.

029 | WWW.XH-YEYA.COM




XINHUA
HYDRAULIC

1S09001:2008 | BKH-SAE, MKH-SAE Series Ball Valve

General dimensions

With SAE Connection

E¥ How to order
Accessory
2]

BKHSAE 210 - 13 - 1 1
1 2 31 M [

[1] Model: BKH-SAE-Square Body
MEH-SAE-Eight-Square Body
[2] Pressure setting: 210kar, 420bar
[3] Nominal diameter: 13, 20_..mm
[4] Body and Connection material: 1-Carbon steel (BKH-SAE)
2-Carbon steel (MKH-SAE)
[5] Ball stem material: 1-Carbon steel
4-Stainless steel
[6] Ball zeat material: 2-POM; 4-PTFE; 5-PEEK
[7] Connection stem seal: 3-NBR: 5-FKM
[B] Levers type: D4-Zinc Alloy Bent levers
05-Steel Straight levers
06-Steel Bent levers
Remark): Product selection codes Is normal material, § could omit when place order.
BKH-SAE-1123
MEH-SAE-2123
[9] valve can be offered with locking device or any other accessory like limit switches
or actuators. Please check *Ball Valve Annex for more information

- 04 -
[8]

B~
=

BKH-SAE :3"
i =
S _=
1. l o
-I =
1 e
!
L1
L2
L
210bar(3000psi)

Model PN (w | L ||| o8 |81t | H | |H2|H|a | b | Mm]|sw
BKH-SAE210-13 350 | 13 (120 | 48 | 16 | 57 | 35 | 46 |525| 17 | 40 | 8 |1ws5|381 | M8 | 9
BKH-SAE210-20 315 | 20 (136 | 60 | 18 | 70 | 48 | 52 | 75 | 24 | 57 | 12 | 222 | 476 | m10 | 14
BKH-SAE210-25 315 | 25 (148 | 65 | 19 | 77 | 57 | 62 | 82 |285| 64 | 12 | 262|524 | M1 | 14

420bar(B000psi)

Madel PN |w | L vl | o| B8 |B1 | H |1 |H|H|a|b|Mm|sw
BKH-SAE420-13 420 | 13 |120 | 48 | 22 | 61 | 35 | 48 |s25| 17 | 40 | 8 |82 |405| M8 | 9
BKH-SAE420-20 315 | 20 (136 | 60 | 23 | 76 | 48 | 60 | 75 | 24 | 57 | 12 | 238|508 | miD| 14
BKH-SAE420-25 115 | 25 (148 | 65 | 27 | 86 | 57 | 70 | 82 |285| 64 | 12 | 278|572 | M2 | 14

WWW.XH-YEYA.coM || [ 030



BKH-SAE, MKH-SAE Series Ball Valve | 1s09001:2008

XINHUA

HYDRAULIC
With SAE Connection
MEH-SAE
S
gt
| _—
s
[ "
i B 1 M TF
o
— ji
L1
L
] L
[ B1
210bar(3000psi)

Model PN Lw L L1 L2 [§] B B1 H H1 H2 H3 a b Al sw
MEH-SAE210-32-M10 210 ao 172 B4 M 8r 82 T4 108 41 875 14 302 | 587 | M10 17
MEH-SAE210-32-M12 210 ao 172 B4 M 8r 82 T4 108 41 875 14 302 | 587 | M12 17
MEH-SAE210-40 210 3s 177 91 24 103 a3 B6 |1195 465 | 99 14 357 | 698 | M12 17
MKEH-5AE210-50 210 48 196 | 100 25 "7 110 98 |1355) 55 115 14 429 | 778 | M12 17
MKH-5AE210-50/65 210 48 196 | 100 25 128 110 114 |1355] 55 115 14 508 | B89 | M12 17
MKH-5AE210-65 175 60 260 | 110 25 128 | 137 114 154 | 685 | 1335 14 508 | B89 | M12 17

420bar{6000psi)

Model PN Lw L L1 L2 [B] B B1 H H1 H2 H3 a b M sw
MKEH-5AE420-32 350 an 172 B4 32 103 82 Fi:] 108 41 875 14 3B | 66T | M4 17
MEH-5AE420-40 350 3s 17T 91 32 120 a3 96 | 1195 465 | 99 14 365 | 794 | M6 17
MKEH-5AE420-50 350 48 196 | 100 34 145 110 114 |1355] 55 115 14 445 | 96.8 | M20 17
MEH-5AE420-65 315 60 280 | 110 45 192 | @145 150 | 158 | 725 1375 14 587 1238 | M24 17

E# Ordering and Usage Notes
1. MEH-SAE210-32-M12 iz not recommended unless there are special needs. It iz recommended fo purchaze MEKH-SAE210-32-M10 for the
same zize, which iz more reliable.
2 DN13~DN25 supply with 04-Zinc Alloy Bent levers. DN32~DNE0 supply with 06-Steel Bent lever. DNES-100 supply with 07 high pressure ball
valve lever. Check annex for more information.

031 | WWW.XH-YEYA.COM




XINHUA 3
HYDRAULIC 1S09001:2008 | SAE Flange Ball Valve

One End With SAE Split Flange Adapter, Other End With SAE Adapter Metric

E% How to order

1 2 3 - Accessory
61 71 [8] [ (o]

[11 [2] [31 4

[1] Model: BKH-Square body
MKH-Eight Square Body
[2] SAE: Flange connecfion
[3] Pressure setfing: 210bar, 420bar
[4] Mominal diameter: 13, 20. 25, 32, 40. 50mm
[5] Ball valve with SAE split flange adapter / adapter
[6] Body, connection and flange material: 1-Carbon steel (BKH)
4-Carbon steel (MKH)
[7] Ball & stem material: 1-Carbon steel:
4-Sfainless steel
[8] Ball zeat material: 2-POM; 4-PTFE; 5-PEEK
[9] Body Conneclion & connecfion seal: 3-NBR; 5-FKM
Remark): Product selection codes Is normal mabarial, It could omit when piace order.
BRH-SAE #-#%-0Drs-1123
MEH-SAE -3 -[N5-2123
[10] Valve can be offered with locking device or any other accessory like limit
switches or actuators. Please check *Ball Valve Annex for more information

BKH - SAE 210 - 25 - DIS -1
[21

E% General dimensions

BKH-SAE -3 -J/S SW

I
| ¢
Z | =
=4t — ]
v | -
)
Li

L3
L
B1
210bar{3000psi)

Model DM | PN L L1 L2 L3 D D1 a b M B B1 H H1 H2 | SW
BKH-SAE210-13-Di5 13 | 350 (1355(755| 68 | 16 |30.2| 57 |175 (381 | MB | 35 46 |525| 117 40 L]
BKH-SAEZ10-20-DVS 20 | 315 | 149 | B1 68| 18 |381 | 70O |222 476 | M10 | 48 52 Fio] 24 o7 14
BKH-SAEZ210-25-DVS 25 | 315 | 163 | 89 | B 19 |444( 77 |26.2 | 524 | M10 | 57 62 B2 |285( 64 14

420bar(6000psi)

Model DM | PN L L1 L2 L3 D D1 a b M B B1 H H1 H2 | SW
BKH-SAE420-13-Di5 13 | 420 (1355(755| 79 | 22 |31B| 61 |18.2 (405 | MB | 35 48 |525| 17 40 L]
BKH-SAE420-20-DVS 20 | 315|155 ( 87 | B9 | 23 /413 | 76 |238 (508 |M10| 48 60 Fio] 24 o7 14
BKH-SAE420-25-DiS 25 |35 | 173 | 99 | 96 | 27 |476| 86 |278B (572 | M12| 57 70 82 |285( 64 14

Note: The unit of DM is mm, and the unit of PN is bar.

WWW.XH-YEYA.cOM [] 032



- XINHUA
SAE Flange Ball Valve 53 | 15090012008 HYDRAULIC

One End With SAE Split Flange Adapter, Other End With SAE Adapter Metric

BKH-SAE - 3#-DIS

s

L 81
B
210bar({3000psi)

Model DN|PN| L |1 |12|13|D|DIi|a|b|M|B|B1|H/|H |H2|5W
MKH-SAE210-32-D/S-M1D | 32 | 210 1815|955 | 81 | 21 |50.8| 87 [30.2|587 |M10| 82 | 74 | 108 | 41 | 875 | 17
MKH-SAE210-32-D/5-M12 | 32 | 210 1815|955 | 81 | 21 |50.8| 87 [30.2|587 |M12| 82 | 74 | 108 | 41 | 875 | 17

MKH-SAE210-40-DIS 40 | 21D | 204 |115.5| 81 | 24 |60.3 | 103 [35.7 |69.8 |M12| 93 | 86 |119.5/46.5| 99 | 17
MKH-SAE210-50-DIS 50 | 210 | 214 | 116 | 906 | 25 |71.4| 117 | 429|778 |[M12| 110 | 98 [1355| 55 | 115 | 17

420bar(5000psi)

Model DN|(PN| L |1 |12|13|D|DIi|a|b|M|B|B1|H/|H |H2|5W
MKH-SAE420-32-Di5 32 | 350 |1975(111.5/ 104 | 32 | 54 | 103 | 318|667 [M14| 82 | 78 | 108 | 41 | 875 17
MKH-SAE420-40-DIS 40 | 350 | 229 1405127 | 32 |63.5| 120 [36.5|79.4 |M16| 93 | 96 (119.5/465| 99 | 17
MKH-SAE420-50-DIS 50 | 350 | 256 | 158 [ 12.7 | 34 |79.4| 145 |44.5|96.8 |[M20| 110 | 114 [135.5) 55 | 115 | 17

E# Ordering and Usage Notes

1. MKH-SAE210-32-D/5-M12 i not recommended unlezs there are special needs. It is recommended to purchase MKH-SAE210-32-DrS-M10
for the same size, which is more reliable.
2. DN13~DN25 supply with 04-Zinc Alloy Bent levers. DN32~DMN50 supply with 06-Steel Bent lever. Check annex for more information.

033 ] WWW.XH-YEYA.COM



XINHUA
HYDRAULIC

1S09001:2008 | SAE Flange Ball Valve

E% General dimensions

BKH-SAE #-#-DiS-Lu

One End With SAE Long Split Flange Adapter, Other End With SAE Adapter Metric

E¥ How to order
BKH - SAE 210 - 25 - DS - lw-1 1 2 3

1 @ [] 51 B [ Bl [ [0
[1] Model: BKH-Square body
MKH-Eight Square Body

[2] SAE: Flange connecfion
[3] Pressure setfing: 210bar, 420bar
[4] Nominal diameter: 13, 20, 25, 32, 40, S0mm
[5] Ball valve with SAE long spiit flange adapter / adapter
[6] Joint type: LUHong joint
[7] Body, Adapier and Flange material 1-Carbon steel (BHH])
2-Carbon steel (MKH)
[&] Ball & stem material: 1-Carbon steel:
4-Stainless steel
[E] Ball seat material: 2-POM; 5-PEEK
[10] Body & connecfion seak 3-NBR; 5-FHM
Remark): Product seleciion codes Is normal matenial, It could omit when place onder.
BKH-SAE#-#-DV5-Lu-1123
MHH-SAE 8- 8 -DV5-Lu-2123

g v W
- | '
g -—-)‘—---E .-
1
[—f’/,»;
L2
- L1
a
=i B
B
210bar(3000ps=i)

Model DM |PM | L (L1 (L2 (L3 | D |DIl| a | b |M|B |B1|H |H |H|SW
BKH-SAE210-13-DVS-Lu 13 (210|145 | 86 | 68 | 16 |302| 57 (175(381| M8 | 35 | 46 |525| 17 | 40 | 9
BKH-SAE210-20-D¥S-Lu 20 | 210 | 168 | 100 | 6.8 | 18 (381 | 70 (222|476 |M10| 48 | 52 | 75 | 24 | 57 | 14
BKH-SAE210-25-D¥S-Lu 25 | 210 1815|1075 81 | 19 (444 77 (262|524 |M10| 57 | 62 | 82 (285 64 | 14

420bar(5000p=i)

Model DM |PMN | L (L1 (L2 | L3 | D |DIl| a | b |M|B |[B1|H/|H |H2|SW
BKH-SAE420-13-D/S-Lu 13 (420|150 | 90 | 79 | 22 |318| 61 (182|405 | M8 | 35 | 48 |525| 17 | 40 | 9
BKH-SAE420-20-DVS-Lu 20 | 315|168 | 100 | 89 | 23 (413 | 76 (238|508 |M10| 48 | 60 | 75 | 24 | 57 | 14
BKH-SAE420-25-D05-Lu 25 |35 | 199 | 125 |96 | 27 (476| 86 (278|572 |M12| 57 | 70 | 82 (285 64 | 14

WWW.XH-YEYA.cOM || 034



1509001:2008

XINHUA

SAE Flange Ball Valve HYDRAULIC
One End With SAE Long Split Flange Adapter, Other End With SAE Adapter Metric
MKH-SAE 3 - 3-DiS-Lu
af
50

| % I;//}/’

| | |

§ :—-1—- — _-T—---}sz-:

|1 |

'1 .

: hd

L3 Li
210bar(3000psi)

Model DN|(PN| L |11 |L2(L3| D |D1|a | b |M|B|B1|H|H |H|5wW
MKH-SAE210-32-D/S-Lu-M10 | 32 | 210 [223.5(1375| 81 | 21 |50.8| 87 |30.2|587|M10| 82 | 74 (108 | 1 |875| 17
MKH-SAE210-32-D/S-Lu-M12 | 32 | 210 [223.5(1375| 81 | 21 |50.8| 87 |30.2|587 |M12| 82 | 74 (108 | 41 |875| 17

MKH-SAE210-40-D/S-Lu 40 | 210 [2485| 160 | 81 | 24 |60.3| 103 |357|69.8|M12| 93 | 86 (119.5/465| 99 | 7
MKH-SAE210-50-D/S-Lu 50 | 210 [259.5(161.5| 96 | 25 | 714 | 117 |429|77.8 |m12 | 110 | 98 [1355| 55 | 115 | 17
420bar(6000psi)

Model DN|(PN| L |1 |L2|L3| D |D1|a | b |M|B|B1|H|H |H|5wW
MKH-SAE420-32-D/S-Lu 32 | 350|322 (161 104 32 | 54 | 103 |318|667|M14| 82 | 78 [ 108 | 41 |875| 17
MKH-SAE420-40-D/S-Lu 40 | 350 [278.5) 190 | 127 | 32 |63.5| 120 |36.5|79.4 |M16| 93 | 96 (119.5/465| 99 | 17
MKH-SAE420-50-D/S-Lu 50 | 350 [290.5(192.5/ 127 | 34 |79.4 | 145 |44.5|96.8 |M20 | 110 | 114 [1355| 55 | 115 | 17

E¥ Ordering and Usage Notes

1. MKH-SAE210-32-Dv5-Lu-M12 iz not recommended unless there are special needs. It is recommended to purchaze MEKH-SAE210-32-Dv
S-Lu-M10 for the same size, which is more reliable.
2 DN13~DN25 supply with 04-Zinc Alloy Bent levers. DN32~DMN5S0 supply with 06-Steel Bent lever. Check annex for more information.

035 | WWW.XH-YEYA.COM




XINHUA

HYDRAULIC 1so9001:2008 | 58] BKH-SAE-FS , MKH-SAE-FS Ball Valve
With SAE Split Flange Adapter

E% Introduction

These two-way high-pressure ball valves are available in the
BKH and MKH series with adapters for SAE J518 C-3000
PSI flanges or SAE J518 C-6000 PSI flanges. Flanges are
available upon customer request, and they can also be
interchanged with JBIZQ4187-97 split high-pressure flanges.

w

E7 How to order

BKH-SAE-F§ - 210 - 13 - 1 1 2 3 - M
[1 2 31 H [B1 [B [l 8]
[1] Model: BKH-SAE-FS- Square body [E] Ball zeat material: 2-POM, 4-PTFE
MKH-SAE-FS- Eight-Square body [7] Connection & stem seal 3-NBR: 5-FKM
[2] Pressure setting: 210bar, 420bar [8] Levers type: 04-Zinc Alloy Bent levers
[3] Nominal diameter. 13, 20 .. mm 05-Stee| Straight levers
[4] Body and flange material:1-Carbon steel (BKH-SAE-FS) 0E-Steel Bent levers
2-Carbon steel (MKH-SAE-FS) Remark): Product selection codes 15 normal material, i could omit when place onder.

[5] Ball & stem material : 1-Carbon steel; 4-Stainless steel BKH-SAE-F5-1123, MKH-SAE-F5-2123

&% General dimensions

1. BKH-SAE-FS S
_ — : —
& i H =
o B P el P e gt -—-1-2
- J!_ -
s e ! o
L1 L2
L
210bar(3000psi)

Model DM PN LW L L1 L2 H H1 H2 H3 B d D SW
BKH-SAE-F5-210 13 350 13 151 48 6.8 525 17 40 8 35 255 | 302 L]
BKH-SAE-F5-210 0 |35 | 19 | 162 | 60 | 68 | 75 | 24 | 57 | 12 | 48 | 319|381 | 14
BKH-SAE-F5-210 25 (315 | 25 | 178 | 65 | 81 | 82 | 285 | 64 | 12 | 57T | 398 | 444 | 14

420bar(6000psi)

Model DM PN LW L L1 L2 H H1 H2 H3 B d D SW
BKH-SAE-F5-420 13 420 13 151 48 79 525 17 40 8 35 255 | M8 L]
BKH-SAE-F5-420 20 315 19 174 [:{1] 8.9 75 24 57 12 48 319 | 13 14
BKH-SAE-F5-420 25 315 25 198 65 96 82 285 64 12 a7 398 | 476 14

Note: (1) DN=mm;{2)}PN=bar

WWW.XH-YEYA.coM || 036



BKH-SAE-FS , MKH-SAE-FS Ball Valve 5 | 1s09001:2008 HYDRAULIC
With SAE Split Flange Adapter

>. MKH-SAE-FS
sW
|
9
g -
i N i
A ' g
——
8 o ) N W
“—'L"‘. 7 =
L1 L2 LW
&d
B
I
210bar(3000psi)
Model DM PM LW L L1 L2 H H1 H2 H3 B d D SW

MEH-SAE-F5-210 210 a0 191 84 81 108 41 875 14 82 445 | 508 17

MEH-SAE-F5-210 210 38 23 21| 81 [ 1195 | 465 99 14 93 41 | 603 17

MEH-SAE-F5-210 210 48 232 100 96 (1355 55 115 14 10 | 636 | 714 17

G888

MEH-SAE-F5-210 175 60 270 110 96 154 | 685 (1335 14 | 9137 | 75.8 | 841 17

420bar{6000psi)

Model

=)
=
o
=
=
=
.

L1 L2 H H1 Hz2 H3 B d D SW

MKH-SAE-F5-420 350 o 223 84 104 | 108 41 875 14 82 445 24 17

MKH-SAE-F5-420 350 il 281 N 127 | 195 | 465 99 14 93 41 | 635 17

MKH-SAE-F5-420 350 48 36 100 | 127 (1355 | 55 115 14 10 | 636 | 794 17

G| 8|88

MKH-SAE-F5-420 5 60 370 "o | 212 | 158 | 725 |1375 | 14 | @45 | 758 | 1081 17

Note: The wnit of DM is mm, and the unit of PN is bar.

E¥ Ordering and Usage Notes
1.5AE flanges need fo be ordered separately.
2. DN13~DMN25 supply with 04-Zinc Alloy Bent levers. DN32~DNEG0 supply with 06-Steel Bent lever. DNG5-100 supply with OF high pressure ball
valve lever. Check annex for more information.

037 | WWW.XH-YEYA.COM



XINHUA
HYDRAULIC

1IS09001:2008 | BKH-SAEFS-Lu, MKH-SAEFS-Lu

E7 How to order

BKH - DN13 - SAEFS210 - Lu - 1

1 2 31

[1] Model: BKH Square body

MKH Eight-Square body

[2] Nominal diameter. 13, 20 .. mm
[3] Pressure setting: 210bar, 420bar
[4] Adapter type: LU-SAE long split flange adapter
[5] Body and Flange material: 1-Carbon steel (BKH)
2-Carbon steel (MKH)

[6] Ball & stem material - 1-Carbon steel; 4-Stainless steel

E¥ General dimensions

BKH-DN#-SAEFS:-Lu

“l

N3

S

With SAE Long Split Flange Connection

04 -

]

E¥ Introduction

These two-way high-pressure ball valves are available
in the BKH and MKH series with adapters for SAE J518
C-3000 PSI flanges or SAE J518 C-6000 PSI flanges.
Flanges are available upon customer request, and they
can alzo be interchanged with JBfZ04187-97 split high-
pressure flanges.

Accessory
o]

[7] Ball zeat material: 2-POM, 4-PTFE, 5-PEEK

[8] Connection & stem seal: 3-NBR: 5-FKM

[9] Levers type: D4-Zinc Alloy Bent levers

05-Steel Straight levers

[10] valve can be offered with locking device or any other accessory
like limit switches or actuators. Please check *Ball Valve Annex for
more information

. — | —
I H_ i H— 1] & o =
= | - =
[l - =y
= - b == =
L1 L LW
L d
B
210bar{3000psi)

Model DM PN Lw L L1 L2 H H1 H2 H3 B d D SW
BKH-DN13-SAEFS210-Lu 13 350 13 170 48 6.8 525 1w 40 B8 k5 255 | 302 9
BKH-DN2D-SAEFS210-Lu 20 k] 1 19 200 60 6.8 75 24 o7 12 48 N9 | 381 14
BKH-DN25-SAEFS210-Lu 25 k] L1 25 215 65 81 82 285 64 12 o7 398 444 14

420bar{5000psi)

Model DN | PN | LW | L 11 |12 | H |HW | H2 | H3 | B d D | sw
BKH-DMN13-SAEFS420-Lu 13 420 13 180 48 78 525 1w 40 a8 k5 255 | B 9
BKH-DN20-SAEFS420-Lu 20 1 19 200 60 8.9 75 24 o7 12 48 M9 #13 14
BKH-DN25-SAEFS420-Lu 25 kg L1 25 250 65 96 82 285 64 12 57 398 | 476 14

WWW.XH-YEYA.cOM || 038



XINHUA

BKH-SAEFS-Lu, MKH-SAEFS-Lu & | 15090012008 HYDRAULIC
With SAE Long Split Flange Connection

MKH-DN:-SAEFS#-Lu

SH
1
&%
oo ] ;
. ] L. ._._._!_._._ B + = =+
. =
i S N
L1 LZ tn ||
L dd
B
210bar(3000p=i)
Model DN | PN | w | L 1 | L2 H Ht | H2 | H3 | B d D | sw

i3

MKH-DN32-SAEF5210-Lu 32 210 30 275 84 81 108 41 875 14 445 | 508 17

MEH-DN40-3AEF5210-Lu 40 210 38 320 91 81 | 1195 | 465 99 14 93 1 | 60.3 17

MEH-DN50-SAEFS210-Lu al 210 48 323 100 96 |1355( 55 115 14 10 | 636 | 714 17

420bar(5000psi)

Model DM PH Lw L L1 L2 H H1 H2 H3 B d ] SW

i3

MEH-DN32-5AEFS5420-Lu 32 350 30 322 84 104 | 108 41 875 14 445 54 17

MEH-DN40-SAEFS420-Lu 40 350 a8 3a0 91 127 | 1195 | 465 99 14 93 1 | 63.5 17

MEH-DN50-SAEFS420-Lu a0 350 48 385 100 | 127 | 1355 | 35 115 14 10 | 636 | 794 17

Ordering and Usage Notes

1.5AE flanges need fo be ordered separately.
2. DN13~DN25 supply with 04-Zinc Alloy Bent levers. DN32~DNS0 supply with 06-Steel Bent lever.

039 | WWW.XH-YEYA.COM



XINHUA

HYDRAULIC 1S09001:2008 | KH Ball Valve With ISO SAE Connection

E% How to order

KH - DNG65 - ISO320 - 2 1 2 A
[1 [2 3 M B B
i A [1] Model: KH-Fixed flange ball valve
] [2]1 Mominal diameter: 50, 65, 80, 100mm
| . [3] Connection form and pressure level: ISO 6164 Flange connection
1 .]. % [4] Body connection material: 2-Carbon steel
‘ ; [5] Ball & stem material: 1-Carbon steel
[6] Ball zeat material: 1-POM
[71 Connection & stem seal: A-NBR  8-FKM
E% General dimensions
DNSO DMBS ~ 100
PH400/PN320 Flanged ball valve (flange refer to I1S0O6164-3 PN400 flange)
ns PH Lw L L1 8] H C K SW n G t o LK
KH-DMNS0-1S0320 400 48 122 61 197 274 94 235 17 4 M20 3 834 118
KH-DMNES-1S0320 350 &0 150 75 224 288 105 500 17 4 n24 36 1025 145
KH-DME0-1S0320 350 70 170 85 256 333 120 600 20 4 M30 458 1237 | 175
KH-DN100-1S0320 320 90 200 100 256 33s 121 900 24 B n24 36 ! 200

E# Ordering and Usage Notes

1. DNSD Supply with a 06-Steel Bent levers.
2. DNES~DN100 supply with 07 high pressure ball valve lever. Check annex for more information.

WWW.XH-YEYA.cOM || 040



KHBF, KHMF Series Ball Valves With DIN Connections 53] | 1502001:2008 HYDRAULIC

General dimensions

E% How to order

KHBF - 16 - PN4O0 - 1 1 1

2 6
[1 [ 3] M 1 KB [ [

[1] Model: KHBF-Square body DN16-25
KHMF-Eight-Square Body DN32~DN50
(DIN-ENG58-1, FTF, basic range 1. long type DIN-3202-F1)
[2] DN: 16. 20. 25.32 40 .50mm
[3] Pressure setting: 4, 6.3, 16, 25, 31.5MPa
(40,63,160, 250,315bar)
[4] Body and Connection material: 1-Carbon steel
4-5Stainless steel
[5] Ball & stem material: 1-Carbon steel; 4-Stainless steel
[6] Ball seat material: 1-POM; 4-PTFE
[7] Connection & stem seal: 2-NBR; 4-FKM
[8] Flange material: 6-Carbon steel
Remark): Product selection code 11126 is normal material, it could omit when place order.

Model PM LW L L1 D dz? Z K b B H h1 h2 h3 SW
40 95 14 4 63 14

KHBF-16 160 15 130 47 105 45 14 4 [ 18 a8 63.5 19 46 " 12
35 128 18 4 90 24

KHEBF-20 40 20 150 60 105 35 14 4 [ 16 48 73 24 aT 12 14
40 115 14 4 85 16
160 138 18 4 100 22

KHEBF-25 250 25 160 63 148 63 22 2 105 26 aT 82 28.5 64 12 14
35 158 X2 4 115 32

041 | WWW.XH-YEYA.COM




HYDRAULIC 1S09001:2008 | KHBF, KHMF Series Ball Valves With DIN Connections

50

i =
-+ ———1——1-3|
|
N - ]
2
&
L1 :
t
: : S
B
o
Model PN | tw | L | 1 D | a1 | @2 | z K b B H | m | n2 | n | sw
40 138 13 | 4 | 100]| 16
KHMF-32 30 | 180 | B4 78 82 | 108 | #1 |875 | 14 | 17
16D 155 2 | 4 | 110 | 24
40 148 13 | 4 | 110 16
160 168 2 | 4 |15 | 26
KHMF-40 38 | 200 | o1 88 93 |1195| 465 | 99 | 14 | 17
250 185 2% | 4 | 135 | 32
315 195 2% | 4 | 145 | 36
40 165 13 | 4 | 125 | 18
63 178 22 | 4 | 135 | 24
KHMF-50 | 160 | 48 | 230 | 100 | 195 | 102 | 26 | 4 | 145 | 28 | 110 |1355| 55 | 115 | 14 | 17
250 198 2% | 8 | 150 | 36
315 208 2% | 8 | 160 | 40

E¥ Ordering and Usage Notes

1.The Product selection codes 4, 5, 6, and 7, which comesponds to the 1,1,1,and 2 configuration, is the default standard combination.
Mo additicnal labeling s required unless there are specific requirements.

2. Z is the amount of mounting holes for flange

3. Supply with a D6-Steel Bent levers

WWW.XH-YEYA.cOM || [ 042



- XINHUA
KHB-NZ Series 53 | 1s09001:2008 HYDRAULIC

60° Internal Taper Seal Hydraulic Ball Valve

&% How to order

KHB - NZ60 - M20 - 1 1 1 2 -

1] 21 B M 51 B M

[1] Model: KHB- 2-way ball valve
[2] 60" inner cone seal
[3] Threaded connection type
[4] Body and connection material: 1-Carbon steel
4-Stainless steel
[5] Ball & stem material: 1-Carbon steel; 4-Stainless steel
[6] Ball seat material: 1-POM: 4-PTFE: 5-PEEK
[7] Connection & stem seal: 2-NBR; 4-FKM
[B] Levers type: 04-Zinc Alloy Bent levers
06-Steel Bent levers

General dimensions

£ S
:
$01 o
J Al =
— EI-:—j !
|
| 1 I =
’ g
M L]
e — e --1+-8| o 0
o= I
T L2 |
L1 B
L
JB984-77 MALE METRIC THREAD
Model DN PH D d D1 E B L L1 L2 H H1 H2 H3 SW
KHB-NZG60-M16 8 500 B M16x15 6.5 32 32 T8 42 125 | 525 17 40
KHB-NZ60-M20 10 500 | 10 M20=15 6.5 32 81 42 14 525 17 40
KHB-NZ60-M27 13 | 500 | 13 M27=15 6.5 375 | 48 35 90 48 15 525 17 40

JB984-77 Pipe thread

Model DN | PN | D d D1 E F B L L1 L2 H H1 H2 H3 | 5W
KHB-NZ60-G1/4 G 500 | 6 G114 4.5 26 5 28 73 ar 12 445 13 32
KHB-NZ60-G3/E a8 500 | 8 G338 6.5 32 5 32 79 42 135 | 525 | 17 40
KHB-NZ60-G1/2 10 | 500 | 10 G122 6.5 32 5 32 86 42 16 525 | 17 40 8 9
KHB-NZ60-G3/4 16 | 400 | 15 G334 65 | 375 5 38 98 47 185 | 635 19 46 " 12
KHB-NZ60-G1 20 | 315 | 20 &1 6.5 45 6.5 48 116 60 | 20.5 75 24 a7 12 14

PM=hbar

043 | WWW.XH-YEYA.COM



XINHUA
HYDRAULIC

1S09001:2008 | KHB3K-NZ Series

Porting patterns ( See chart )

ATTENTION: Hydraulic il can flow into the valve through port 1!
The valve can only be sealed under two specific situations:

(1) Pressure at the closed port is zero:

{2) Pressure at the closed port is lower than at the two open poris.

General dimensions

60° Internal Taper Seal Hydraulic Ball Valve

E% How to order

KHB3IK - NZ&60 - M20 L

-1 1 1 2 - 04

[11 2

Bl B BB MOBl @

[1] KHB3K-NZ Series 60° Internal Taper Seal Hydraulic Ball Valve
[2] 60° inner cone seal

[3] Threaded connection type

[4] Functional symbol of 3-way ball valve: L; T

[5] Body and connection material: 1-Carbon steel

4-Stainless steel

[6] Ball & stem material: 1-Carbon steel; 4-Stainless steel
[7] Ball seat material: 1-POM: 4-PTFE: 5-PEEK

[8] Connection & stem seal: 2-NBR; 4-FKM

[9] Levers type: D4-Zinc Alloy Bent levers

06-5teel Bent levers

Porting pattern

L Type

JES84-77 MALE METRIC THREAD

Model DN | PN [ D d D1 E B L L1 | L2 H H1 H2 H3 5 SW
KHB3K-MZ60-M16 | 8 M5 | 8 M16x15 | 6.3 32 32 | 78 | 42 |125 | 525 17 | 40 125
KHB3K-NZ60-M20 | 10 | 315 | 10 | M20x15 | 65 32 32 |81 | 42 | 14 | 525 17 | 40 145
KHB3K-NZ60-M27 | 13 | 315 |13 | M27x15 | 65 | 375 | 48| 35 | 90 | 48 | 15 | 525 17 | 40 8 15

Mote: The unit of DN iz mm, and the unit of PN iz bar.

WWW.XH-YEYA.COM || 044



GB3V Series Three Way Hydraulic Ball Valve &3 | 1s09001:2008 HYDRAULIC

&% How to order

GBw - G112 - L - 1 1 1 2 - M4

1 2 (3 41 B 61 [ [8]

[1] Model: GB3V-3-way Ball Valve
[2] Threaded connection type for adapter:
[3] Porting pattern: See chart of porting pattern
[4] Body and Connection material: 1-Carbon steel
4-Stainless steel
[5] Ball & stem material: 1-Carbon steel: 4-Stainless steel
[6] Ball zeat material: 1-POM; 4-PTFE; 5-PEEK
[7] Connection & stem seal: 2-NBR; 4-FKM
[B] Levers type: 04-Zinc Alloy Bent levers
06-Steel Bent levers

E% Porting patterns( See chart)

Porting pattemn
ATTENTION: Hydraulic oil can flow into the valve through port 1! L Type T Type
The valve can only be sealed under two specific situations: o an* o a20°
(1)Pressure at the closed port is zero: l/""\.]
(2)Pressure at the closed port iz lower than at the two open ports. 3®2 3@2 3\_[_/.'2 3 )2
(3)Pleaze order Model GB3VS in caze you need pressures inlet from 1 1 1 1
all ports. T180 Type
0° a0° 180°
3 C 2 3 @ 2 3 é) 2
1 1 1
E¥ General dimensions
E SW
o3 e >
=
a m‘@‘r L2 —
T \
R 7 S
Z 2R ol =
Al - || L] (ol g D ey =
l — 5 = B - = .......t:/t\ = ﬂ, E =T
e S

L1 B L3

150 228 for both Female thread, the center oil port is 60° male thread inner cone or port combination gasket seal.

Model DN|PN twilw2| L (14|12 |13 | D1 | D2 (D3| B | H | H1 |H2|H3| 5 | E Sw
GB3V -G1/4 6 315 6 | 6 |69 37| 14 | 12 | G4 |GIMA 45|28 [445| 13 [32| 8 | 35 | 26 9
T GBIVGIB |10 | 315 | 10 | 8 | 72 | 42 | 14 |135| G3B | GMBA |65 32 |525| 17 | 40| 8 | 36 | 32 Ta
GB3V G112 1331513 (w8348 16| 16| 12 [Giea|65|35(525| 17 |40 8 | 40 [375|48] 9
GBV-G34 |20 315 |20 |16 |95 60| 18 (185 G34 |G3mA 65|48 | 72 [ 24 [ 57| 12| a9 | 45 [65] 14
GB3V -G1 25 | 315 | 25 | 21 |113] 65 |205|205| G1 | GIA |67|57 | 82 |285| 64 | 12 [565] 55 | 6 | 14

Unit for PN iz bar

045 | WWW.XH-YEYA.COM



XINHUA
HYDRAULIC

1509001:2008 | BBKH-FF/FM Series Hydraulic Ball Valve

[ [ 31 4]

[1] Model: BEKH
[2] Mominal diameter: 10, 13, 20, 25mm
[3] Material: 1123-Carbon steel,

MNBR {connection seal),

o POM (ball seat)
e [4] Surface finizhing: 1-Zinc plating (yellow); 2-Cr3 plating (silver)
e > [5] Connection type: FF-Double female connector
i‘ : FM-One female connector, one male connector
&7 General dimensions
BEKH-FF SH BBKH-FM S
| o l o
i o - it ——— 15
© i P ; P
T T
L1 L1
L L
Model DM PM(bar) L L1 D d sSwW
BEBKH-10-1123-FF -
10 500 113 42 30 ]
BBKH-10-1123-FM 14
BBKH-13-1123-FF -
13 500 118 48 35 g
BEBKH-13-1123-FM 18
BBKH-20-1123-FF -
20 35 138 60 40 14
BBKH-20-1123-FM 24
BBKH-25-1123-FF -
25 35 151 65 52 14
BBKH-25-1123-FM k]|

Conneclions complied with SAE J1467 and DIN 20043.

WWW.XH-YEYA.cOM || 046



KHB-NSL Series Combinations 53 | 150%001:2008

XINHUA

HYDRAULIC
&7 How to order
KHB - 412LR - HNWSL - 414 1 1 2 - 04
[ 21 31 M [ 6 7] [8]
[1] Model: KHB
[2] Threaded connection type for adapter
[3] Combination method: NSL
[4] Body and connection material: 1-Carbon steel
[5] Ball & stem material: 1-Carbon steel; 4-Stainless steel
[B] Ball seat material: 1-POM: 4-PTFE: 5-PEEK
[7] Connection & stem seal: 2-NBR; 4-FKM
[8] Levers type: 04-Zinc Alloy Bent levers
05-Steel Siraight levers
06-Steel Bent levers
General dimensions
E ¥
& !
=] !
. [ | | [ s _; ..... = =
| |
1 6.5
L |
= |
32
S |
!
..... T....-.__,.-. ] L
= |
— |
T
42
L
DM 2353 / 1S0 8434-1 Light series
+-=tt—-8 5| =| p*
b Model DN PH D D1 d L L1
e —
I KHB-12LR-NSL 10 350 10 12 M18x1.5 T4 11
L PM=bar
/
E/
AR P B gl = DIM IS0 228 Female thread
IIQ: > // Model DN PN D d L L1
: !A KHB-G3/8-NSL 10 350 10 G338 T2 14
L PM=bar

047 | WWW.XH-YEYA.COM




i D 15090012008 | 5@ FCBV06-04G-04G
Flow Control Check Ball Valve

E% Introduction

This valve integrates various functiong, including switching,
flow controck check valve, ball valve For detailz, please refer
to the Circuit Diagram. The port stand by JIS B2351 Standard.

&7 General dimensions

Circuit Diagram

B3max

32

13

|
7
7

wY

28

WWW.XH-YEYA.cOM || 048




KHB Series B | 1s02001:2008

XINHUA

Right-angle Articulated Hydraulic Ball Valve

E7 General dimensions

HYDRAULIC
E% How to order
KHB - 12LR - M18 - 1 1 1 2 - 04
11 21 =) ¥ BB M B

[1] Product series code
[2] Threaded connection type for adapter:
[3] Threaded connection fype for plug
[4] Body, Adapter and blot material: 1-Carbon steel
4-Stainless steel
[5] Ball & stemn material: 1-Carbon steel; 4-Stainless steel
[6] Ball seat material: 1-POM: 4-PTFE: 5-PEEK
[7] Connection., stem seal and Plug sealing materiak 2-NBR; 4-FKM
[B] Levers type: D4-Zinc Alloy Bent levers

120

SW9

| w
24° || 81— — o | W | g N
NC A
L1 ] Lnl
i Q-. ol = [
L2 L3 Ll ;
d1 B
01
L4 |
1
L
Model DM | PN | D d D1 di L L1 L2 L3 L4 B H H1 H2 H3
KHB-10LR-M16 8 500 | 10 | M16x15 | 29 | M16x15 a0 11 16 b | T4 32 80 12 17 40
KHB-12LR-M18 10 (500 | 12 | Mi8x15 | 29 | M1Bx15 90 11 16 2 T4 32 80 12 17 40
KHB-125R-M20 8 500 | 12 | M20x15 | 29 | M20x15 a7 12 17 | 80 32 80 14 17 40
KHB-145R-M20 10 (500 | 14 | M22x15 | 29 | M20x15 95 14 19 | 82 32 a0 14 17 40

Mote: The unit of DM iz mm, and the unit of PN iz bar.

049 | WWW.XH-YEYA.COM




XINHUA

HYDRAULIC 1S09001:2008 | HKHB Series Two Way Ball Valve

E% How to order

HKHB = 12LR = 1 1 1 2
il 2] Bl @ B B
[1] Model: HKHB

[2] Threaded connection type for adapter

[3] Body and connection material: 1-Carbon steel

[4] Ball & stern material: 1-Carbon steel;
4-Stainless steel

[5] Ball seat material: 1-POM: 5-PEEK

[6] Connection & stem seal: 2-NBR; 4-FKM

SW8
S W9
=~ s 17 S |
[ | ;I ] —
I ol
% B i | = e
w ' e
g |er DO T »
Ll o
g ML pawO—a | T I
~ L1 11|
4.5 L1
21 :
L
41
DIM 2353 / 150 8434-1 Light series Please check pressure rafing of the pipe fittings
s ST
_‘]__ L= =] ol 4° Model DN PMeor LW RA d L L1 5w
= i HEHB-12LR 10 400 10 12 M18x1.5 B1 " 30
L1 HEHB-15LR 13 400 13 15 M22x1.5 B3 12 30
L
5N DIN 2353 / 1S0 B434-1 Heavy series
%/_‘ [ Model DN Py LW RA d L L1 SW
‘J—' o =| = 4° HKHB-145R 10 400 10 14 M18x1.5 BT 14 30
. HKHB-165R 13 400 13 16 M22x1.5 BT 14 30
L1

WWW.XH-YEYA.cOoM || | 050



PTH Bypass Ball Valve

XINHUA

1509001:2008 HYDRAULIC

% General dimensions

Introduction

Bypass ball valve is a type of valve that features a smaller ball valve
installad within a bypass system, which is connacted to a larger ball valve.
This configuration allows the ball valve to function pipeline pressure
balance and provides a variety of flow rate options

E7 How to order

PTH - DN32 - SAEFS210
[11 21 [

[1] Model: PFTH Bypass ball vahe
[2] Nominal diameter; DN32 DN40 DNSD
[3] Connection & prassure ratings

Circuit diagram ‘[[;337

-= 8
L
" / S a8
r/ -y
| 5
{IE}____ I i
' o
[ o
Model DN PN Lw D L L1 L2 B B1 B2 B3 H H1 H2 H3
PTH-DN32-5AEF5210 32 210 30 508 | 320 118 81 a8 5 63 21 165.5 3rs B4 129.5
PTH-DN40-SAEFS210 40 210 38 603 | M0 | 1M 81 120 | 425 | 63 27 1765 | 425 95 140.5
PTH-DNS0-SAEFS210 50 210 48 T14 | 360 | 142 96 145 | 525 | 63 27 194 525 1125 158

DIM 2353 Heavy series

051 | WWW.XH-YEYA.COM




XINHUA

HYDRAULIC 1S09001:2008 | XHF Safety bleed valve
How to order
XHF - DN25 - &1 - G144 -1 1 1 2 - 04
[11 [ 31 4 [ B [ I8 =1
[1] Model: XHF

[2] Main valve nominal diameter: DN13, DN20. DM25
[3] Main valve port connaction thread
[4] Pressure relief port connection thread: G1/4
[5] Body & connection matarial: 1-carbon steel
d-stainless stoal
[6] Body & stem material: 1-carbon steel
4-stainless steel

[7] Ball seat material: 1-POM. 5-PEEK
[B] Connection & stem seal:2-NBR. 4-FKM
[9] Levers type: 04=zinc alloy band levers

O6-steel band levers
1112 is normal material combination, it could be omitted in ordering.

General dimensions

=

FNC

L3

Schematic diagram

Model Lw d i L L1 L2 L3 L4 B E F H H1 H2
XHF-DN13-G1/2-G1/4 13 G112 16 103 68 a1 24 120 4 68 22 N 45 23

XHF-DN20-G3/M4-G1M4 20 G334 18 120 85 63.5 30 170 101 85 28.5 120 60 33

XHF-DN25-G1-G1/4 25 G1 205 | 138 90 66 325 | 170 101 85 28.5 127 67 355

WWW.XH-YEYA.cOM | [ 052



Ball Valve With Welded Mounting Plate Series | 1s09001:2008

XINHUA
HYDRAULIC

KHB 2-way ball valve

BO

KHE 2-way ball valve
. =]
Model DN D D1 D2 L L1 L2 B B1 E
& KHB-12LR-KP 10 10 12 | M18x15 | 74 42 11 32 20 26
o
KHB-15LR-SW3-KP 13 13 15 | M22x15 | 82 48 12 35 35 30

KHB3K 3-way ball valve

KHBE3K-12LR-KP

10

10

12

M18=1.5

74

42

"

a2

20

gl m

7

KHB3K-15LR-5SW3-KP

13

13

15

M22x1.5 | &2

12

a5

a5

Ordering and Usage Notes

1. The KP senes involves welding mounting plate flanges onto standard KHB and KHB3K ball valves.

2. To place an order for a ball valve with a welding mounting plate, simply add "-KP" to the standard valve.

3. f you have specific requirements for the ball valve mounting plate dimensions, please contact us.

053 | WWW.XH-YEYA.COM



HYDRAULIC 5000012008 | 53 Ball Valve With Welded Mounting Plate Series
KHB-G1/4-DKP
509 K

/
i
|

.
Y
k

20

s J =L -
- = ﬁ I ]
b, T o B
| -
3.5
59 .
KHB-G1/2-CKP Side welding plate ball valve
- | 5
| =
= Y] i— :_-_{_‘_‘dg\- Eg
: o
T TITTTTREE
| & 2.5
IR
BAIE
35
48
E5 54
33
KHB3K-G1/2-L-DKP Bottom welding plate three way ball valve
L Eohik S
1 1
K
3 |
2 i 2 2 3 1F]
O o

~ 3

1/
|

$22.4
| 6172
1
|
]
E
|
o
|
|
1
i
|
1%
ab

b1kl
] 2
[
5 35
KA
O
|
4@ ! ®
1
W"n/ﬂ
el 3
(GRS
v
47
WWW.XH-YEYA.COM || '054




Low Pressure Ball Valves With Threaded Connections

ISO9001:2008 SHHUA

HYDRAULIC
E% How to order
KHNV N - G122 - 2233
[1 21 3 4]
[1] Model: KHNY Low pressure ball valve
[2] N- Standard type
[3] Connection type
[4] Material: Body, connector and stem Brass with nickel plating
Ball- Stainless steel
Ball seat -PTFE
Connection seal by NBR or PTFE
General dimensions
A
swW
=
— |
l_ __'P"'_ P
< I | ! 1 E
— . ﬁ u: T—
i
|
Model DM PN, LW d D i L A H SW
KHNVMN-G1/4 6 64 10 G114 26 115 51.5 95 48 |
KHNVYMN-G3/8 10 64 10 G318 26 115 51.5 95 48 |
KHNVMN-G1/2 15 40 14 G2 33 135 55 95 51 25
KHNVYMN-G3/4 20 40 19 G334 as 125 57 110 60 |
KHNYMN-G1 25 30 24 &1 49 15 69.5 110 64 as
KHNVM-G1'14 32 30 ao G114 59 17 815 160 79 48
KHNVN-G1Y2 40 30 as G112 73 18 895 160 85 54
KHNVN-G2 50 30 48 G2 86 22 113 170 103 &7

055 | WWW.XH-YEYA.COM




XINHUA

HYDRAULIC 1509001:2008

Ball Valve Annex: Accessory

04-Zinc Alloy Bent levers

05-5teel Straight levers

& {—}qe-—--———-———————-—-:'rza-
—

. . 5¢d

06-Steel Bent levers

H1

Sibd

Levers
sSw L H H1 D d Hexbolt
o 78 | 85 | 33 | 225 | 13 M5X10
9 120 8.5 4 25 15 MEX10
12 155 12 50 28.5 19 MEX10
14 170 13 55 az 20.5 MEX10
sw L H D d Hexbolt
9 145 8.5 24 16 M5X10
12 180 12 2B 20 MEX10
14 200 13 32 21 MEX10
17 260 15 36 24 MBX12
sw L H H1 D d | Hexboit Ramark
9 130 | 8.5 38 26 16 | M5SX10
12 165 12 50 a 20 MEX10
12 | 165 | 12 55 a 20 | MEX10 |For round flange
14 181 13 &1 33 21 MEX10
14 | 181 13 67 a3 21 | MEX10 |For round flange
17 235 15 75 36 24 MBX12
sw| L | H | W | p | Sockethead | o alvaive
screw
17 500 | 66 48 2B MBX20 DMNEBS ==
20 600 78 58 30 M10X20 DMBD
24 900 | 82 61 32 M10X20 DMN100
36 900 | 93 72 32 M12X25 DN125

WWW.XH-YEYA.cOM || [ 056



= XINHUA
Ball Valve Annex: Accessory | 1s09001:2008 HYDRAULIC

Ball Valve Mounting Holes Series

E% Side mounting hole

DM | E F d
4 26 3 | 45
6 26 3 | 45
10 | 32 3 | B

13 |375 | 48 | 65

16 375 5 | BS

20 | 45 | 65 | BS

&4 Single side thread mounting hole

25 75 | 12 | M0

pn | E|F |t ] d
4 | 24| 6 65| M6
AN ST
1l a2l k55 (7 0l e
F——] 13|36 | 6 |85 me
.E_ o 16|32 8|7 |me
L 20 | 45 | 75 | 12 |mw0
S 45
45

25132 5 | 12 | M0

&7 2 sides thread mounting hole

4 24 |45 | 9

L 24 |45 | 9

35 | 12

65 | 12

5 | 12

L4
B
FE|E|FFEE|E|e

32
i
32
20 | 45 | 75 | 12
45
45

5| 12

057 | WWW.XH-YEYA.COM




XINHUA

HYDRAULIC 1S09001:2008 | Ball Valve Annex: Accessory

E% Board type install thread hole

Ball Valve Mounting Holes Series

DiNg~DMNE
\
DN E F t d
4 28 18 65 M5
6 28 18 6.5 M5
DN10~25/32
DN D d t 1SO 5211
=
)
J 10 36 M5 7 Fo3
|
A 13 36 M5 7 FO3
|
16 42 M5 8 FO4
20 50 ME 10 FOS
fo kY 25 50 ME 10 FOS
= G 3 1.
"‘-i / s 2532 50 M6 10 FOS

—

Pls contact us if you have any special
requirements of mounting hole.

WWW.XH-YEYA.cOM || 058



Ball Valve Annex: Accessory

| | 1s09001:2008

XINHUA

HYDRAULIC
KHB, KHM Series Ball Valves With Pneumatic Actuator
E7 How to order
KHB - G3/8 -1112 D H
[1 4 I |
[1] Ball valve model: KHB Series ball valve
KHM Series ball valve
[2] D: Double acting pneumatic actuator
[3] H: High pressure ball valve
General dimensions
L2
et
I
4 FORNCS S
|
415
b a4 2-G1/4
>
i J-:P
ol
= | L
] L e
ot ! e
Li
I:

Model DM | PN L L1 L2 B H h1 h2 h3 E F | Actuator Model
KHB-G1/8-DH 500 | 69 37 | 164 | 28 | 16895 | 13 32 40 25 42 ATO52-DA
KHB-G1/4-DH 500 | 69 37 | 164 | 28 | 16895 | 13 32 40 25 42 ATOS52-DA
KHB-G3/8-DH 10 | 500 | 72 42 181 32 195 17 40 40 | 355 | 455 ATDE3-DA
KHB-G1/2-5W3-DH 13 | 500 | 83 48 181 35 195 17 40 40 | 355 | 455 ATDE3-DA
KHB-G1/2-5W12-DH 16 | 400 | 83 47 | 207 | 38 222 19 46 50 | 385 | 525 ATO7TS-DA
KHB-G3/4-DH 20 35 | 85 60 | 212 | 48 | 2515 | 24 57 &0 46 | 565 AT0B3-DA
KHB-G1-DH 25 | 315 | 113 | 65 | 212 | 57 | 2585 | 2B5 | 64 &0 46 | 565 ATDB3-DA
KHB-G144-DH 2532 | 315 | 120 | 65 | 212 | 60 | 2585 | 285 | 64 &0 46 | 565 AT0B3-DA
KHB-G1/2-DH 2540 | 315 | 130 | 65 | 212 | 60 | 2585 | 285 | 64 &0 46 | 565 AT0B3-DA
KHM-G1'4-DH 32 M5 | 110 | B4 | 287 | 82 | 3055 | #H 875 | &0 52 64 ATO105-DA
KHM-G1Y2-DH 40 315 | 130 g1 287 | 93 M7 | 465 | 99 (1] 52 64 ATO105-DA
KHM-G2-DH 50 315 | 140 | 100 |3125| 110 | 355 55 115 | &0 60 | 735 ATO125-DA
PM bar

059 | WWW.XH-YEYA.COM




XINHUA —
HYDRAULIC 1S09001:2008 | Ball Valve Annex: Accessory

DW Spring Pin

E% How to order

KHB - G334 - 1112 - DW

[ ]

[1] Ball valve type
[2] With positioning plunger buttons: DW

E¥ General dimensions

E¥ Ordering and Usage Notes

1.The working principle involves securing the ball valve in a fixed working position using a spring pin to prevent the ball valve from rotating and
accidental operation.

2. In theory, any square valve block can be installed with a gpring pin.

3. f you need thiz accessory, simply add -DW to the Product selection codes when placing an order.

WWW.XH-YEYA.cOM || | 060



Ball Valve Annex: Accessory | 1s09001:2008

XINHUA
HYDRAULIC

Ball Valves Locking Devices DS Series

/’

ot 4
N A
=

-

b,

#; e

o

N2y
B

General dimensions

E% How to order

KHB - G122 - 1112 - DS 9

[1 2 3
[1] Model: KHB KHM Series
[2] Locking Device Sernies code: DS
[3] Locking device size: 9 14 17
Mote: Specifications are not required when ordering with ball valves.
Order separately with specifications, such as D59 D314 DS17

sw | [

ey
o
"
1 __ | -
[
|
[
L 1
1
|
_L'_\.
o i :
£ i
h — o = e s o M ol et
o Ot @
il
it
1
1
B1
B
DN sw
Model | . dapt to ball valvediameter) | (ball valve stem ) = L = - = L
DS9 413 9 a2 34 28 6 45 120
DS14 20-25 14 50 50 41 8 &0 170
DS17 32.50 17 58 55 46 8 80 235

061 | WWW.XH-YEYA.COM




i D iso9001:2008 | 53 Ball Valve Annex: Accessory

Ball Valves Locking Devices DST Series

&7 How to order

KHB - G122 - 1112 - DST
2

_D 1

[1] Model: KHBE KHM Series

[2] Locking Device Series code: DST

[3] Locking device size- 9 12 14 17

Mote: Specifications are not required when ordering with ball valves.
Order separately with specifications_such as D59 D512 D514 DSAT

9
[3

% General dimensions

=

(aa]

o]

oo

DN SW

Model | adapt to ball valve diameter) |  (Ball valve stem ) - = e i
DST9 413 9 61 24 10 a5
DST12 16 12 B4 255 12 45
DST14 20-25 14 84 355 14 45
DSTI7 3250 17 136 615 18 45

WWW.XH-YEYA.cOM || | 062



Ball Valve Annex: Accessory | 1509001:2008 e

Ball Valves Locking Devices DXT Series

E¥ How to order
— KHB3K - G38 - L 112 - DXT 9
o [EE

[1] Model: KHB3K Series

[2] Locking Device Series code: DXT

[3] Locking device size: 9 12 14 17

Mote: Specifications are not required when crdering with ball vahes.
Order separately with specifications,zuch as DXT9 DXT12
DxT14 DXTIT

Vi
2

E% General dimensions

Model | adaptio hal[:rzlm diameter) | (Ball fx stem ) B B1 R H

DXT9 413 9 59 295 325 35
DXT12 16 12 69,5 35 40 45
DXT14 20-25 14 B4 42 50 45
DXT17 32-50 17 126 63 BO 45

063 | WWW.XH-YEYA.COM




XINHUA

HYDRAULIC

so9001:2008 | 58 Ball Valve Annex: Accessory

E% General dimensions

S

Bl

$5. 8

Ball Valves Locking Devices DSP Series

E% How to order

KHP - 10 - 1112 - DSP 9
[ B

[1] Model: KHP KHZ KH3K Series

[2] Locking Device Series code: DSP

[3] Locking device size: 9 12 14 17

Mote: Specifications are not required when ordering with ball valves.
Order separately with specifications,such as DSP9 DSP12 DSP14
DSPAT;KHP-06

Model | s dapt to hall[:fr;we diameter) | (Ball “5':: stem ) = £l i i
DSP3 10-13 9 22 28 120 45
DSP12 16 12 32 34 155 55
DSP14 20-25 14 35 36 170 60
DSP17 32.50 17 37 38 235 81

WWW.XH-YEYA.cOM || 064



Ball Valve Annex: Accessory

b3 | 1s09001:2008 HYDRAULIC

Set With Mechanical Limit Switch

E% Introduction

The limit switch can convert the opening or closing status of the ball
valva into an electrical signal, facilitating remote display and monitoring
of the opening and closing status of the ball vahwa.

E# How to order
KHB-G¥8-1112-04 - E
]

[1] Ball valva typa ( XH ball valve)
[2]1 E — Limit switch control
[3] 0 — Not assambla imit switch
1 = Monitoring ball valve opening position
2 — Monitoring ball valve closing position
3 — Monitoring ball valve opening & closing position
[#]1 0 — Limit switch is touch type ( thread ball valve)
00 — Limited switch is rocker type ( manifold ball valve)
000 — Limited switch is closed to induction switch ( thread ball valve)

El =

3
31

|

E% General dimensions

Touch type limited switch
Modal: XCKN2102P20C
Protection ratings: IP65
Ambient air temp.: -25~70C

33

Limit switch wiring diagram

13 J H

1«1~ 2
Ball valve nominal A B

diameter

DMN4~13 104 61
DN16 108 68
DN20~25 108 68
DN32~50 115 T2

065 | WWW.XH-YEYA.COM




YINHUA
HYDRAULIC so9001:2008 | 58 Ball Valve Annex: Accessory

Set With Mechanical Limit Switch & Locking Device

E% Introduction

The limit switch can convert the opening or closing status of the ball vale
into an electrical signal, facilitating remote display and monitoring of the
opeaning and closing status of the ball valve,

¥ How to order

KHBG3/8-1112-04 - E 3 0 - DXT
[1 2 [ M [l

[1] Ball valve type ( XH ball valva)
[2] E — Limit switch control
[3] 0 — Mot assemble imit switch

1 — Manitoring ball valve opaning position

2 — Manitoring ball valve closing position

3 — Manitoring ball valve opening & closing position
[4] 0 — Limit switch is touch type ( thread ball valve)
[5] DXT-Locking device

E% General dimensions

Touch type limit switch
Modal: XCKN2102P20C
Protection ratings: IP65
Ambient air temp.: -25~70C

Limit switch wiring diagram
13 J H
‘IIT‘ 2
Ball valve nominal
diameter s o K
DMN4~13 104 61 325

DN16 108 68 40
DN20~25 108 68 50
DN32~50 115 T2 a0

WWW.XH-YEYA.cOM || | 066



HSP Series Check Valves | 1s09001:2008

XINHUA
HYDRAULIC

v

o

o

"l.

ul
U

Introduction

Pipeline-installed check valves are suitable for hydraulic systems with low
viscosity fluids. Their standard material iz typically galvanized carbon steel.
Therefore, they are particularly zuitable for non-corrosive mineral hydraulic

oils and liquids.

How to order

i HSP - 1000-2 - 5
4 i B2 [l
[1] Madel: HSP-Pipeline-installed check valves
[2] Model for size and thread
[3] Opening pressure: 5 - 5psi
B5 - G5psi
General dimensions
HSP-1000 HSP-1001
7 L o W \ 1
BEH BN T
] ] 1| -
B i o SR U v o NN N
= I E /I { E
f’ (/ f/\\ .
L L
Model M d L 5 Model M d L 5
HSP-1000-2 14NPT 6.5 62 22 HSP-1001-4 THE-20UNF 6 ]
HSP-1000-3 3BNPT g 73 24 HSP-1001-6 9ME-18UNF 8 73 24
HSP-1000-4 12ZNPT 12.5 95 32 HSP-1001-8 A4 16UNF 12.5 95 3z
HSP-1000-6 3MNPT 15 110 36 HSP-1001-12 1116-12UN 15 110 36
HSP-1000-8 1NPT 18 120 46 HSP-1001-16 15116-12UN 18 120 45
HSP-1000-10 1M4NPT 26 140 60 HSP-1001-20 1%18-12UN 26 140 60
HSP-1000-12 12NPT 28 140 B5 HSP-1001-24 1718-12UN 28 140 65

E# Ordering and Usage Notes

Tubular one-way valve with connecting thread of 3IBNPT and opening preszsure of Spsi, model: HSP-1000-3-5;
Tubular one-way valve with connecting thread of 3/4-16UNF and opening pressure of 65psi, model: HSP-1001-8-65;

067 | WWW.XH-YEYA.COM



XINHUA
HYDRAULIC

1509001:2008 | ATR Series Check Valves

General dimensions

E7% Introduction

Pipeline-installed check valves are suitable for hydraulic systems with
low viscosity fluids. Their standard material iz typically galvanized
carbon steel. Therefore, they are particularly suitable for non-corrosive
mineral hydraulic oils and liguids.

E7 How to order

ATR - G112 - 05
1 2 31
[1] Model: ART-Pipeline-installed check valves
[2] Model for zize and thread

[3] Opening pressure: 0.5 - 0.5bar
5 - Shar

A
1 \
‘- —— - =

\ /

i L

\ r,

L

Model DN PN(kar) L D 5 M H
ATR-G1/4 6 400 62 18.5 19 G1M4 12
ATR-G3/8 10 400 70 235 24 G318 14
ATR-G1/2 12 350 77 295 ki G2 16
ATR-G3/M4 16 350 )] 355 36 G3M 18
ATR-G1 20 350 106 455 46 G1 20
ATR-G1'4 25 250 130 545 55 G174 27
ATR-G1'2 30 250 140 645 65 G172 24
ATR-G2 40 250 160 74.5 75 G2 26

WWW.XH-YEYA.cOM || 068



Jj | 1s09001:2008 HYDRAULIC

L Series Flow Control Valve / LA Series Flow Control Check Valve »

How to order
LA o G 10 = G3/8 > v

m 2 @ [4] Bl

[1] Modek: L-flow control valve
LA-flow controd check valve
[2] Connection type: Non-manifold mounting piping type
G- connection by female thread

[3] Diameter. . 8. 10. 12. 18. 20. 25mm
[#] Connection female thread type size

*Mon by manifold mounting
[5] ©-ring Material: Mon-NBR

W-FEM
Circuit diagram Specifications

Diameter 6 | 8 | |12]|16 ]| 20| 25

L type flow control valve A—;:_\L B Max. working pressure 31.5MPa
Max. flow 14 | 40 | 60 | 85 | 185 | 200 | 300
Working medium Mineral hydraulic oil: Organic phosphate

LA type flow control check valve 4 ,_;g B Working temperature _20~70T

Cracking pressure 0.05MPa

General dimensions

1. L Series flow control valve L3 B
w —'—"ll . :
P i '
Circuit diagram i
Aﬁ_\/’—s iy o

] it

i =

| :ﬁ"}

I s OB [ P
L =
L1

L
Model L L1 [B] D1 E H H1
L-G& 48 24 M0 G1/8 Recira 1EBNPT an 28 82 14
L-Ga& o4 I M14x1.5 G114 Reci/d 1MNPT a0 28 82 14
L-G10 o4 r M18x1.5 Gas Rc3fg ABNPT ao 28 82 14
L-G12 [:1:] 34 M22x1.5 G1r2 Re1/2 12NPT as as 108 19
L-G16 Ta 39 M2Tx2 G334 Rec3Md 3MNPT as as 108 19
L-G20 92 46 M33Ix2 &1 Re1 INPT 47 48 138 24
L-G25 114 a7 M42x2 G4 Rec1'4 1M4MNPT 47 60 150 30
L-G30 122 61 M48x2 G132 Re12 1'R2NPT 47 TO 160 35

069 | WWW.XH-YEYA.COM



XINHUA
HYDRAULIC 1S09001:2008 |

General dimensions

2+ LA Series flow control check valve —_— —

Circuit diagram |

Amﬂ

H o FF )

] e s R . 1+ B = =
I
| <
L
Model L L1 D (0] E H H1
LA-GE 58 36 M10x1 G118 Rc1/8 1/8NPT 30 28 82 14
LA-GE 64 38 M14x1.5 G114 Rec1/4 1M4NPT 30 28 82 14
LA-G10 70 43 M18x1.5 G3/8 Rc3fg JEBNPT 30 28 82 14
LA-G12 83 52 M22x1.5 G2 Re142 12NPT 38 38 108 19
LA-G16 89 55.5 M27x2 G3M4 Re3f4 JMNPT 38 38 108 19
LA-G20 17 72 M33x2 G1 Rel 1NPT 47 48 138 24
LA-G25 154 97 Ma2x2 G1'4 Re1'4 1H4NPT 47 60 150 30
LA-G30 172 111 M48x2 G2 Re1'2 12ZNPT 47 70 160 35
3. L Series flow control v ‘
valve for manifold mounting e
01
L N N
Circuit diagram i : - e
A== -
'RERN -~ 1
. .l. i 03| 2wl gl |8
. ; : ‘E:;Ir =
' T
k [ hoars L
' g L3 L1
U= L
[foet B R I i KN L Ld

f 1
\0& [H6B1235 04

Model H H1 | H2 | H3 (D1 ( D2 [ D3 | D4 E E1 L L1 L2 | L3 | L4 M N W Q-ring

L-8 85 1" 24 65 (105 8 46 |33.5|485| 6.8 | 35 - 35 | 45 (255245 | 16x24
L-10 Lilil 14 28 6.5 (105 10 [ 51 a8 | o1 | 835 |35 - 35 4 |255|255| 18x24
65 (105 12 | 58 (445 75 185 38 - 4.5 4 a0 |375| 20x2.4

L-16 | 123 (225 45 9 14 16 | 70 | 54 | 93 |85 | 76 | 38 | 45 (114 | 54 | 41 | 25x24

T
7
L-12 | 105 | 16 35 T
9
g

g 8|88

L-20 | 151 | 25 | 50 9 14 | 20 | 77 | 60 | 112 | 85 | 95 (475| 45 | 19 | 57 | 51 | 30=x31

L-25 | 161 | 30 60 1 47 1 17 | 25 |100 | 76 | 144 | 12 |120 | 60 | 45 (206 |79.5| 61 | 3I5x31

L-30 | 165 |37.5| 75 13 | 47 13 19 | 30 |15 | 82 |173 | 15 |143 (715 6 (238 95 | 73 | 42x31

WWW.XH-YEYA.com || [070



L Series Flow Control Valve / LA Series Flow Control Check Valve 53 | 15090012008

XINHUA

HYDRAULIC
General dimensions
4. LA Senes flow control check valve for manifold mounting
Circuit diagram
A —7—aple—r—0B
Loz
F#_
0
, ]
| r/ u, tfl-\-\ _L-"\
| R T _..)_-_. L ..-"}_
iy 1P 5
, BB @ @ -
e | | <A —_tl
i | D2 ¥/ _ 2o
= I i ! [ L
T ] o - l
1'?.\\ | = I N i N i I
T G [ AN
?—l— L3
= L2 L1
IR B s =
\ot @esi23s | o4 =
Model | H | H1 | H2 | H3 | D1 (D2 | D3 | D4 | E | E1 L (L1 L2 | L3 |L4| M| N V | O-ring
LA8 | B85 | 11 | 24 | 7 | 20 |65 |105| 8 | 46 |335(635| 14 | 35 | - | 45| 45 |255( 30 | 16x24
LA-10 | 88 | 14 | 28 | 7 | 30 (65 |105| 10 | 51 | 38 | 70 | 18 |335| - | 45| 4 |255| 31 | 18224
LA-12 |105 | 16 | 35 | 7 | 38 (65 |105| 12 | 58 |445| 80 | 21 | 38 | - | 45| 4 | 30 | 36 | 20x24
LA-16 | 123 |225| 45 | 9 | 38 | 9 | 14 | 16 | 70 | 54 |104 | 14 | 76 | 38 | 45 (114 | 54 | 49 | 25x2.4
LA-20 | 151 | 25 | 50 | 9 | 47 | 9 | 14 | 20 | 77 | 60 | 127 | 16 | 95 |47.5 19 | 57 | 49 | 30x3.1
LA-25 | 161 | 30 | 60 | 11 | 47 | 11 | 17 | 25 |100 | 76 | 165 | 15 | 120 | 6O 206 [79.5| 77 | 35x3.1
LA-30 | 165 |375| 75 | 13 | 47 | 13 | 19 | 30 | 115 | 82 | 186 | 15 | 143 | 715 238| 95 | B7 | 42x31

E7 Ordering and Usage Notes

1.If you chooze "manifold mounting” when making a selection, you can omit the option related to threads in Product Selection Code #4
2.Seal material iz default as MBR. If you need to change it to FKM, please add "-\" at the end of the Product Selection Code.

071 | WWW.XH-YEYA.COM




XINHUA
HYDRAULIC 1SO9001:2008 |

«7/

DF3 Series Plug Valve

e

E% How to order

DF? - G122 - A - §
1] 2] [5) 7]

[1] Model: DF3 Plug valve

[2] Connection Type

[3] Different Types

[4] Body and plug material: S-Carbon steel

E% Circuit diagram
Atype B type

12 ]2
T AT

General dimensions

Model PN A B E F G H H1 H2 L
DF3-G1/4-% 500 G4 60 26 22 85 55 15 30 120
DF3-G3/B-% 500 G 60 26 22 85 55 15 30 120
DF3-G1/2-% 500 G112 65 26 22 85 55 15 30 120
DF3-G3/4-# 350 G4 80 az 26 " 74 225 45 180
DF3-G1-# 350 G1 a0 3z 3s 1 74 225 45 180

WWW.XH-YEYA.cOM || [072




0CUKAC2318 Series Combinations Plug valve | 1509001:2008 HYDRAULIC

E%¥ Introduction

The OCUKAC2318 Seriezs Combinations Plug Valve consists of
two E-type plug valves combined together and is used in the field
of mechanical engineering and agricultural machinery. This valve is
resistant to contamination, can withstand a certain degree of pulsation,
and features 1S011926-1 SAE standard internal threads for ports. It is
compact in size, easy to operate, hose-free, and highly durable.

E7 Technical Parameters E¥ Circuit diagram

Mominal Prezsure: 21 MPa
Mominal Diameter: 3 mm

Operating Medium: Mineral Oil 1,11 T T T
Handle Trawel: 90° %ﬁ %

IT IT

LrRee . ediv]

E¥ General dimensions

b= {9}

BX7/ 1 6-20UNF

B1

&0
30

15

073 | WWW.XH-YEYA.COM




XINHUA
HYDRAULIC

1s00001:2008 | EZ3] VUSF Series Shuttle Valve

e
» 1‘“’5’

g

o de

-
e

Function symbol

Ed Introduction

Shuttle valve is a type of three-way valve that can be thought of as a
combination of two check valvez. It compares two input hydraulic signals
coming from V1 and V2 and then allows the high-pressure zignal to be
taken out through the C port.

E? Technical Parameters

Maximum pressure Maximum flow
C LIRS (MPa) {L/min)
VUSF-G1/4 a5 20
e o ety
| ' v VUSF-G3/8 a5 45
Vi | | VUSF-G1/2 a5 80
""" i VUSF-G3/4 a5 110
VUSF-G1 315 150
General dimensions
I -
| 2-46
T | = |
L L
T |
(LI T -
| [ : =
—r] | e ;
Vi : jv2 = Al .
= .____—i___-_dm-r- - \o/
]
A1 o SW
A 3
Model A Al D E F G H H1 5 SW
VUSF-G1/4 51 36 G1/4 25 9.5 55 40 275 25 22
VUSF-G3/8 59 45 Ga/a 29 8 6.5 45 30 30 27
VUSF-G1/2 a0 57 G142 36 B.S 6.5 50 3z2s 35 32
VUSF-G3/4 113 62 G34 50 6.5 8.5 60 37 45 41
VUSF-G1 120 80 G1 60 11 10.5 a0 545 50 46

WWW.XH-YEYA.COM || 074



| 1509001:2008 e

VBPSE Single Pilot Operated Check Valve

Introduction

WVBPSE szingle pilot operated check valves are commaonly used to
block hydraulic cylinders in one direction, allowing fiuid fo flow in one
direction while blocking it in the reverse direction. When there iz pilot
pressure oil, fluid can flow in the reverse direction.

E¥ Application

W1 and V2 are connected to the hydraulic pressure, while C1 and C2
are connected fo the actuator.

E¥ Circuit diagram E# Technical Parameters
Specification 4L [3BL | 120 | 38 | 12 | 34
Power ratio 155 (1:55] 15 15 14 14
M flow(Limin) 20 | 35 | 50 | 45 | 70 | 100

Max pressure(bar) 350 | 350 (| 350 | 350 | 350 | 300
Opening pressure{bar) | 4 3 6 8 35 2

Vi
| L
gl
Mg
C1 5
=
-
L3
Model W1-\2 IC1-C2 L L1 L2 L3 L4 H H1 5
VBPSE-1/4L G1/4 64 106.5 36 18 8 40 14 30
VBPSE-3/8L G338 80 120 38 16 8 40 14 30
VBPSE-112L G112 a0 133 43 17 12.5 45 15 35
VBPSE-3/8 G338 90 148 435 25 12.5 45 13.5 35
VBPSE-1/2 G112 80 134 40 22 18 60 20 35
VBPSE-3/4 Gi4 100 182 46 36 12 60 20 40
EZ Pressure drop curve
cz2 V2 v2-+C2
25 28 varsL
e vv:}:.r P LAt
0 e 18 VRPSE L4l 4

WVEPSE 1/

] 0 40 &0 &0 100 120 ] 0 40 &0 &0 100 120
ELOW-G(limin) ELOW.-G(limin)

WBFEE 318
£

SP[Bar}

075 | WWW.XH-YEYA.COM



XINHUA
HYDRAULIC

1S09001:2008 | VBPDE Double Pilot Operated Check Valve

E% Circuit diagram

E% Introduction

VBPDE double pilot operated check valves are commonly used for
double-acting hydraulic cylinders, allowing fluid to flow in cne direction
and blocking it in the reverse direction. When there iz pilot pressure oil,
fluid can flow in the reverse direction.

E% Application

YW1 and V2 are connected fo the hydraulic pressure, while C1 and C2 are

connected to the actuator.

E7% Technical Parameters

Specification 1ML (3/8L | 1/2L ) 18L | 3/ | 172 | 2M4
Power ratio 155|155 135 155 15 | 14 | 14
Iz fhownLnnin ) 20 35 | a0 35 45 70 | 100
Max pressure(bar) 350 | 350 | 350 | 350 | 350 | 350 | 300
Opening pressure(bar) 4 3 B 4 35 2
&% General dimensions
L2
Vi ; V2 |
T I T 711 = |
1l 1
gl
o1 | c2 ¥
o e L —————— .. 4 S
|. =
1
L1
L b
Model V1-V2 IC1-C2 L L1 L2 L3 H H1 5
VBPDE-1/4L G1/4 113 64 36 B 40 14 30
VBPDE-3/8L G338 128 80 38 B 40 14 30
VBPDE-1/2L G1r2 142 90 45 12.5 45 15 35
VBPDE-18L M18x1.5 118 68 38 B 40 14 30
VBPDE-3/8 G338 156 90 45 12.5 45 15.5 35
VBPDE-1/72 G1r2 144 80 40 18 60 20 35
VBPDE-3/4 G4 192 100 46 12 60 20 40
E7¥ Pressure drop curve
C1—V1/C2—V2 1-+C1/v2—C2
5 %
vBroE e, [/ YEPOL I
WEFDE U8l WBFDE 1E S WBPGE
0 L AL 8 WBPDE 1541 / T
o /"“‘?‘""' - '.-nrunz
& — VBPGE 1120 e — VRFDEISE
F - }{ // o VERDE A2 vun:m E’ .,—7// /
5 //// / § e
= =
o T an & 0 100 o 0 an & 80 100 124
FLOW.Q{Umin) FLOW.Q{ I/ min)

WWW.XH-YEYA.cOoM || 076



VBPSE-FL Series Single Pilot Operated Check Valve =3 | 1502001:2008

XINHUA
HYDRAULIC

E¥ Introduction

Single Pilot Operated Check Valve iz commonly used to unidirectionally
block hydraulic cylinders, allowing fluid to flow in one direction while
blocking it in the reverse direction. When there iz a pilot pressure, fluid
can flow in the reverse direction

E¥ Application

V1 and Y2 are connected to the pressure oil, C1 and C2 are
connected to the actuator.

&% Technical Parameters

Model Power ratio] Max flow - Opening pressure
VBPSE-1M4FL 18 20L/min 350bar 4 Shar
VBPSE-38FL 18 30Lfmin 350bar 4 Shar
VBPSE-172FL 145 S5LImin 350bar S5.5bar
General dimensions
Ad A5 A6 )
Vi
01 P 1l
& Ol
l i
Gz I
1 = w ] cul
1 e T R . e 1
=] P
L b oy
“@ P! l'@
| |
A3 V2
A2
o Al
A
Model V1-v2-C1 A A1 A2 A3 Ad AS AB B B1 D1 5
VBPSE-1M4FL G1/4 74.5 70 27 155 6.5 35 13 50 35 5 6.5 30
VBPSE-3/8FL G3r8 93 75 29 14 10 35 14 60 40 6.5 6.5 30
VBPSE-1/2FL G112 117.5| 100 32 18 10.5 40 18 80 40 ] 8.5 35
Pressure drop curve
C—V V—C
35 f; ik 35
e 30
/f“"“ 2w WBFSE=114FL
- = 2% £ BPSE-1IAFL
¥ /’/’ VBPSE-11TFL, 1
3 15 e e 5 i e VarsE-vL -
L *"f:/ 10 ﬂ
N A
o [
o 10 0 0 4 [ & o 10 m 30 40 [
FLOW-Q{lmin} FLOW-C{Umin)

077 | WWW.XH-YEYA.COM




XINHUA
HYDRAULIC

=4 VBPDE-FL Series Double Pilot Operated Check Valve

Circuit diagram

Introduction

Double Pilot Operated Check Valve iz commonly used to unidirectionally
block hydraulic cylinders, allowing fluid to flow in one direction while
blocking it in the reverse direction. When there iz a pilot pressure, fluid

can flow in the reverse direction

EX Application

Y1 and V2 are connected to the pressure oil, C1 and C2 are

connected to the actuator.

&% Technical Parameters

E Max :
ml._.._.._..._ bE Model Power ratio | Max flow pressure Opening pressure
VBPDE-3/8FL 155 30L/min 350bar 4 Sbhar
j VBPDE-1/2FL 145 S5Lmin 350bar 5.5bar
General dimensions
A5 I___AS
|
: %
& & S
[
. i | e © L
______._L_@_._._; -
i , | . I
: B 0 ]
1! 1D ! |
1 1 i 1 i
V2 Ad Vi
A3
L— v 5
Al £
A |
Model WV1-v2 A A1 A2 A3 A4 AS B B1 D D1 5
VBPDE-3/8FL Gi8 116 80 70 52 30 35 60 40 6 6.0 30
VBPDE-1/2FL G112 150 115 81 81 39 ! a0 56 11 8.5 35
E7 Pressure drop curve
C1-V1/C2 V2 Vi1-+-C1/va+C2
fi Ji'u'l.m-:lrlll. fi
" 7 - s
i - f 'ﬂffg-mh i = /f
5 / __’.,-"‘r g / FEPSE-112FL
3 e il = & il
[ F 8 .‘é:-.--_
] 1@ 20 i) 40 58 L] L] 1@ 20 0 40 58 &D
FLOW-Q{lfmin) FLOW-Q{lfmin)

WWW.XH-YEYA.coMm || [078



VBPDC Series Double Pilot Operated Check Valve | 1509001:2008

XINHUA
HYDRAULIC

Pilot Operated Check Valve For Double Acting Cylinder

;1

g Qﬁ\m' D

E¥ Introduction

Double Pilot Operated Check Valve iz commonly used to
unidirectionally block hydraulic cylinders, allowing fluid to flow in one
direction while blocking it in the reverse direction. When there is a pilot
pressure, fluid can flow in the reverse direction
E¥ Application

V1 and ¥2 are connected to the pressure oil, C1 and C2 are
connected to the actuator.

E7 Circuit diagram &7 Technical Parameters
& Max =
Model Power ratio] Max flow - Opening pressure
VBPDC-G3/8 155 0L/ mnin 350bar 4 Shar
VBPDC-G1/2 145 S5LImin 350bar S5.5har
| A3 |
€1 - - €2
I L 1 |
1 4 sy iy
Sk ;@/_ ——4
L]
|
—_t e .I ________ —-H-z| = -
| 1
T e e
| P71 .1
1 1 i_ ] 1
¥i Al V2
Al
A
V1-V2r
Model c1-c2 A A1 A2 A3 B B1 D1 5
VBPDC-G3/8 G338 113 80 30 52 60 44 8.5 30
VBPDC-G1/2 G112 1459 115 39 80 80 40 8.5 35
Pressure drop curve
C1—=V1/C2—V2 VA—=C1/V2—C2
4 kL]
4 VBPDC 618 25 (MBPDCONE
. /,f’
E : il VOPDC G2 E :: / VEPDCGUZ .
-:-E 1 / ”/’r/ rLl‘ b / "'/
15 / _.--"""'Hrr 5:-"-'"’/ __..--'"""Hf"
o ] —
-] 10 F{ B 40 0 2] 10 20 k-] L] 0 1]
FLOW.-O {Uminl FLOW-O (Kmbnl

079 |

WWW.XH-YEYA.COM




XINHUA

HYDRAULIC 1S09001:2008 | VRPE Series Single Pilot Operated Check Valve
Pilot Operated Check Valve For Single Acting Cylinder

Introduction

Single Pilot Operated Check Valve iz commonly used fo unidirectionally
block hydraulic cylinders, allowing fluid to flow in one direction while
blocking it in the reverse direction. When there iz a pilot pressure, fluid
can flow in the reverse direction

&7 Circuit diagram

% General dimensions

L

G5 SHEIE e Y
PIL
L
Max flow
Model V-C PIL A 5 ; e Power ratio
{L/min) (bar)
VRPE-G1/4 G1/4 G174 102 40 25 350 1: 36
VRPE-G3/8 G3/8 G174 108 41 40 350 1::3.2
VRPE-G1/2 G172 G174 120 42 60 350 1: 2.8
VRPE-G3/4 G3/4 G174 131 55 100 300 1::3.2
VRPE-G1 G1 G174 170 60 150 300 1: 6.2
Pressure drop curve
c—v v—=C
i VRPE G312 . j/\lnncnm
2 6
=g T 8
H H
2. i |
= VEPE G114 /r VRPEGIH = ;“Pf_l:f____...-’"‘ VRPE G2
= 1 a 3
< VRPE G112 <4 =
W A :
Lot 5 el
o Fraas 1
®s 1w m 3 4 @ e 10 s w0 e s w m w @ = w w m
WELG (mind WG (fein)

WWW.XH-YEYA.com || [080



i —. XINHUA
VBSO Series Counterbalance Valve =4 | 1500001:2008 HYDRAULIC.

How to order

VBSOSE 10 G G
[1 P I | R £
[1] Model: VBSO-SE Single counterbalance valve
YBS0-DE Double counterbalance valve
[2] Diameter: 6, 10, 15mm
[3] Connection type: G-Din 1SO 228 thread
P1-1 Ports Manifold Mounting
P2-2 Ports Manifold Mounting
M- superposition
[4] Thread standard: G-Din 150 228

M-JB984-T7
E¥ Circuit diagram E¥ Technical Parameters
Model Power ratio| Max flow e Opening pressure
pressure
WVBSO-# 65 1: 42 | 30L/min 350bar 4 Shar
VBSO-#-103% 1: 4.2 | 40L/min 350bar 4 Shar
VBSO-#-15% 1: 42 | 60L/min 320bar 5.5har

General dimensions

VBSO-SE-#G
[ A5 | A3
2= ﬁ.k ’
\ c2 Cll
] Tt T 0
oy [ | i
— [ (|
=l 1_h. L
1 ER | H
— 1l | 0
| 1 p o
[ Il | | -
1 '
V2 M Vi =
A2 0
| I“ _
H A H1
Model vi-v2 C1-C2 A A1 A2 A3 Ad AL B B1 B2 G H H1 5
VBS50-5E-6G G1/4 | M14x1.5 | 109 | B8.3 ! 18 40 1393 55 ! a8 B5 | 475 45 30
VB50O-5E-10G GyE | M1Bx1.5 | 109 | BB.3 ! 18 40 1393 55 ! i) B5 | 475 45 30
VB50-5E-15G G112 | M22x15 | 109 | B98 | 553 18 40 | 393 | 65 5 ] B5 | 475 45 35

081 | WWW.XH-YEYA.COM



XINHUA
HYDRAULIC

1ISO9001:2008 | VBSO Series Counterbalance Valve

General dimensions

VBSO-DE-#G
A
61 _ 02
[P I
nolo I
s n l [ | | I L —
] ey | . B B oy e O U o = B
i l S i
—H 0 | | o=
Il | Il e i Il | i
T | I ;0
1
Vi A _l‘-f? g
H A H
Model V1-vZ C1-C2 A A1 AZ B B1 G H 5
VBSO-DE-BG G1/4 M14x1.5 151 109.6 476 55 3s B.5 475 an
VBSO-DE-10G G3/8 M18x1.5 151 109.6 476 55 3s B.5 475 3o
VBSO-DE-15G G112 M22x1.5 151 112.6 476 65 43 B.5 475 a5
VBSO-SE-#P1
|_7*5_ _
7 }_ M 1w
' | J
oy - I ]
I | [ [ | [ 1 i
— 1 | ] i 'ﬁi—@'ﬂ—l—v—_—— =
) iy . e (RS o R L b B i o s
s 4-46 |\m |
il E\-&—@u - '
o | o
I v fl I
Lt 1 gl
. oy ] o s
A Al = T
]__ Al
H A H1
Model V1-v2 C1-C2 A | A1 | A2 | A3 | A | A5 | B |B1|B2|D| @G| H|HI| S
VBSO-SE-6P1 G1/4 | M14x1.5 | 109 | 51.7 |70.3|207| 30 |517| 55 |30 | 5 | 9 | 85 |475| 45 | 30
VBSO-SE-10P1 G3/8 | M18x1.5 | 109 | 51.7 |70.3|20.7 | 30 |51.7| 55 | 30 9 |85 |475| 45 | 30
VBSO-SE-15P1 G1/2 | M22x1.5 | 109 | 53.7 |70.3|19.2 | 30 | 52 | 65 | 30 9 |B5|475| 45 | 35

WWW.XH-YEYA.cOM || [082



e ; XINHUA
VBSO Series Counterbalance Valve | 1s09001:2008 HYDRAULIC

E¥ General dimensions

VBSO-SE-#P2

Model W1-\V2 C1-C2 A | A1 | A2 | A3 [ A4 | AS | AG B B1 | B2
YBS0-SE-6P2 G1/4 | M14x1.5 | 109 | 71.5| 18 36 0 97 | 55 | 30
VBSO-5E-10P2 G318 | M18=1.5 | 109 | 71.5| 18 36 0 a7 | 55 | 30
VBSO-5E-15P2 G1/2 | M22x1.5 | 109 | 72 | 18 36 | 56 |57.5| 63 | 30 3

8.5 |47.5| 4.5 | 30
8.5 |47.5| 45 | 30
8.5 |47.5| 45 |35

& &>
w|lw| w| Q3

VBSO-DE-#P2
H
Model V1-V2 C1-C2 A Al A2 B B1 D G H 3
VBS0-DE-6P2 G1/4 M14x1.5 151 48 110 35 40 9 8.5 47.5 30
YBSO-DE-10P2 G35 M18x1.5 151 48 110 35 40 9 8.5 47.5 30
YBSO-DE-15P2 G112 M22x1.5 151 48 113 63 40 9 8.5 47.5 35

083 | WWW.XH-YEYA.COM



HYORAULIC 1509001:2008 | 58l VBSO Series Counterbalance Valve

General dimensions

VBSO-DE-6M

=]

[ le.rs
.—___|a
gi-d Y

L IH 1
EXEY

|
|
n
|
B
i i
®
\‘.I' I
! i3
HEE
{_25.58 ]
i 328
]

E# Pressure drop curve

VBSO 1/4-38-1/2 DESA VBSD 38112 SEIAFLY

Ci-Vi . 5 C2-VE

m---.ry A—-c-z 20 / /vz-rrz
2 / /

W=l
1 15
10 / 10 /
e

L 10 20 0 40 50 60 o L] 20 1] 40 50 &0
-0 (Uemin) WA-Q (Umin)

HA (Bar)
i (Bar)

WWW.XH-YEYA.COM || [084



= — XINHUA
VBCD-DE-FLV Series | 1s09001:2008 HYDRAULIC
Double Overcenter Valves Fixing By Screw
% Technical Parameters
Model prme S T Power ratio
(bar) et
VBCD-GA8-DE-FLV 350 40 1: 45
VBCD-G1/2-DE-FLV 350 B0 1: 45
Circuit diagram
General dimensions
Ad
V1-v2
Model C1.C2 A Al A2 A3 Ad B B1 B2 5
VBCD-G3/8-DE-FLV Girs 250 150 110 20 S0 70 30 12.5 30
VBCD-G1/2-DE-FLV G152 250 150 110 20 S0 80 32 18 30
85 ]| www.xH-YEYA.COM




1509001:2008 | 5@

Pressure Testing Adaptor

General dimensions

1.PT and PPT series pressure testing adaptor with gazket seal

&7 Introduction

The adapter iz connected to a pressure testing device or pressure
gauges for testing the pressure in the hydraulic system.

E¥ Specifications

[1] Nominal diameter: 3mm
[2] Max. working pressure: 40MPa

Gasket
= [._..._ =
u
o i | L —— R
=
i~
S L1
i L
|
PT Senes Pressure Testing Adapters (without air venting function)
Model Original model M1 M2 L L1 5 Hose adaptor type
PT-1 PT-00 M10x1 M12x1.25 33 8 17 H1
PT-2 FT-00A1 M10=1 M16 46 10 19 H2
PT-3 PT-00A1/D1-3/M14x1.5 Mi4x15 M16 46 12 19 H2
PT-4 DI-3m 0 M10x1 M16 46 10 19 H2
PT-3 DI-3iM12x1.5 M12x15 M16 46 12 19 H2
PT-6 DI-3/18x1.5 M18x1.5 M16 46 12 24 H2
PT-7 DI-3Gr4 G114 M16 46 12 19 H2
PT-8 BZ M12x15 M14=1.5 50 12 17 H3
PT-9 KF-1/M10x1 M10x1 M16=1.5 46 1.5 19 H4
PT-10 KF-1/M112x1.5 M12x15 M16=1.5 46 1.5 19 H4
PT-11 KF-1/M14x1.5 Mi4x1.5 M16=1.5 46 1.5 19 H4
PT-12 KF-1/M418x1.5 Mi8x1.5 M16=1.5 46 1.5 24 H4
PPT Senes Pressure Testing Adapters (with air venting function)

Model Original model M1 M2 L L1 5 Hose adaptor type
PPT-1 FT1-00 M10=1 M12x1.25 33 10 17 H1
PPT-2 PT1-00A1 M10x1 M16 46 10 19 H2
PPT-3 PT1-00A2 M14=1.5 M6 46 12 19 H2
PPT-5 M12=1.5 M6 46 12 19 H2

WWW.XH-YEYA.cOM || 086



Pressure Testing Adaptor

1509001:2008

XINHUA

HYDRAULIC
PT Senes Pressure Testing Adapters with ED ring seal (without air venting function)
Tg:ﬁgsﬁ ED ring
4
e~ v
L]
2 4] _55 e
1
1
S L
L
Model M1 M2 L L 5 Hose adaptor type
PT-21 M10=1 M16 46 8 19 H2
PT-22 G4 M16 46 12 19 H2
PT-23 M14=1.5 M6 46 12 19 H2
Size matched with adaptor
$19,5
Model M1 1] 2
Mi w
| = PT-21 M10=1 10 13
n 7__ I PT-22 G 13 16
- ™
/’J i PT-23 M14=1.5 13 16
PT Series Pressure Testing Adapters with O ring seal Size matched with adaptor
(without air venting function)
17
15. 7
9/ 16=18UNF||
el
}/ - 7 £
1| -
[ 1
I ) i
Model M1 M2 L L1 5 Hose adaptor type
Di-3 AME6-18UNF M16 46 12 19 H2

Motes: Accept size customization and modification

087 | WWW.XH-YEYA.COM




XINHUA

s09001:200¢ | B53 Pressure Testing Hose Assembly

HYDRAULIC
E% How to order
HF X X - X X TR P X
m @A [ [ I3 [El [[1 [8]
\- [1] Mini high preszure hoze adaptor assembly [4] Connecting type of ancther end

[2] Connecting type of another end:
J: Adjustable fitting
0 Cone zeal fitting
H: Quick fitting
P: Direct connect to pressure gauge
K- Tube jam fitting
G: Outor fixed thread
5: Snap-check fitfing
E: Outer thread
[3] Connecting thread of another end

J: Adjustable fitting
0: Cone seal fitting
H: Quick fitting
P: Direct connect to pressure gauge
K Tube jam fitting
G: Outor fixed thread
5: Snap-check fitfing
E: Quter thread
[5] Connecting thread of another end
J, K, O type-1: M10x1

J. K, O type-1: M10x1 2 M14x1.5
2 M14x1.5 P. 5 type-1: M14x1.5
P. 5 type-1: M14x1.5 2: M20x1.5
2 M20x1.5 G114
3 G4 H type-1: M12*1.25
H type-1: M12*1.25 2:M16
2 M16 3: M14x1.5
3: M14x1.5 4: M16x15
4: M16x1.5 G type-1: M12*1.25
G type-1: M12%1.25 2: M14x1.5
2 M14x1.5 3 M16x1.5
3 M16x1.5 E type-1: M14*1.5
E type-1: M14*1.5 2 G114
Z G1M4 [E6] Hominal diameter. 3mm
[7] Pressure class: P-40MPa
[B8] Length of hose unit
E¥ Hose assembly diagram
=]
= - — E
1.5m

WWW.XH-YEYA.cOM || 088



Pressure Testing Hose Assembly

XINHUA
HYDRAULIC

E% General dimensions

1. Adjustable fitting: HF J3# Unit: mm
5 i gasket LS L
JESE2-TT [
1 RHRY
) I 2]
by 3
=
o EE M 5 I H L Heem
J1 M10X1 17 10 22 33 10
J2 M14X1.5 19 14 26 40 14
3. Quick fitting: HF H 3 Unit: mm
Connecied with PT adapier g

H# M2 5
H1 M12X1.25 17
H2 M16 19
H3 M14X1.5 17
H4 M16X1.5 19

5. Tube jam fitting: HF K Unit: mm

K ] I L 3 HEewE
K1 M10x1 i 1 17 10
K2 M14X1.5 12 a9 19 14

7. Snap-check fiting: HF 53

e

S ] 3 L I

51 M14X1.5 12 104 19
52 M20X1.5 14 106 24
53 G4 12 104 19

089 | WwWW.XH-YEYA.COM

[E: ] | L 5 HEEeH
01 M10X1 a 54 17 10
02 M14X1.5 12 58 19 14
4. Direct connect to pressure gauge: HF P# Unit: mim
|
= —pfe - —— —— —-
4
=
R |
P M 5 L 1
P1 M14X1.5 17 ) 10
P2 M20X1.5 24 42 18
P3 G4 17 ) 10
P4 G152 27 35 11

G M s 1
G1 M12x%1.25 17 8 M
G2 M14X¥1.5 17 10 33
G3 M16X1.5 19 10 33
8. Outer thread: HF E3 Unit mm

E# M 5 L 1
E1 M14X1.5 12 3 19
E2 G4 12 3 19




XINHUA
HYDRAULIC

5020012008 | 58 CDZ-D3 Nitrogen Charging Cart

Specification

1130

&7 Introduction

The CDZ-D3 nitrogen charging cart is a specialized booster device used for charging
and pressurizing MXGQ series bladder accumulators, piston accumulators, diaphragm
accumulators, and other high-pressure containers with nitrogen gas.

E% How to order

cbz - % D3 - #L

)] 21 [ [4]

[1] Miodel: CDE-D3 nitrogen charging cart

[2] Max charging pressure: 25, 35MPa

[3] Commutation mode: electromagnetic commutation type
[4] inflation capacity: 2.5

% Working Principle

This type of nifrogen charging cart consists of a hydraulic system, pneumatic system, and
electrical control system. When hydraulic fluid enters fhe oil inlet chamber of the boosting
cylinder through the solencid directional valve and drives the piston's movement. nitrogen
gas enters fhe boosting cylinder. It then flows fhrough a check valve and the inflation fool info
the accumulator (high-pressure container). Simultaneously, the boosting cylinder undergoes
reciprocating motion through the action of a sensor. When the nitrogen is pressurized to the
required working pressure, the system will automatically shut down.

=
=

AN

R

W

WWW.XH-YEYA.com || [090



CDZ-D3 Nitrogen Charging Cart 5 | 15090012008

XINHUA
HYDRAULIC

E¥ Specification

1. Gil Tank

2. Liquid level gauge

3. Air filter
4. Filter

5. Electric motor
6. Hydraulic pump
7. Check valve

B Hydraulic Pressure gauge
B. Safety valve
10. Overflow valve
11. Throftle valve
12. Blectromagnetic directional valwe

13. Throttle check valve

14. Mifrogen cylinder
15. Intake pressure gauge

18. Sensors

17. Booster cylinder

18. Inflation check valve

18. Blectric contact pressure gauge
20. Inflation tool
21. Accumulator

Model

Intake
pressure
(MPa)

Max.output

pressure
(MPa)

il

pump

(MPa)

(L/min)

(L)

Power

supply

Overall dimenzion

Length x width x height

Weight
(kag)

CDZ-25D03-2 5L

CDZ-35D03-2.5L

3135

25

N5

237

32

6.26

25

a0
S0HZ

1086 x 630 x 1130

240
245

E¥ Ordering and Usage Notes

(1) If you have any special requirements for the nitrogen charging car, please contact us.
(2) For new products with undeafined external design, we reserve the right to make design changes without further notice.

091 | WWW.XH-YEYA.COM




il 509001:2008 | 58 FPU Multi-function Inflatable Kit

E% Introduction

FPU Multi-function Inflatable kit iz used to accumulator for charging or
checking prezsure.

E¥ How to order

FPU - 40 - JT1 - K
[ [z A 4

[1] Medel: FPLU Mulfi-function Inflatable kit

[2] Pressure setting: 16-16MPa25-25MPa40-40MPa

[3] Adapter: JT1-7/8-14UNF  JT2-5/8-18UNF
JT3-5ME-32UNF  JT4-M14x1.5
JT5-M16x2  JTE-S/B-18UNF
JTT-TIB-14UNF  Mon-Without Adapter

[4] Kit box- K-With box  Non-Without box

ST,

E% General dimensions

2000
A=A —
$47 s ©
1 o e e | ) i S B
S
' S | 53 | 57
=
T

118

M14%1.5

64

! L |
M28x1.5

WWW.XH-YEYA.cOoM || (092



FPU Multi-function Inflatable Kit 53 | 1500001:2008

XINHUA

HYDRAULIC
M28%1.5 M28%1.5 M28%1.5 L
liin] JT1 1) JT2 u JT3 o JT4
|_ 1 J /
Ll / T
| 1/8-14UNF 5/8-18UNF "8/ 16-32UNF M14x1,5
M28x1. 5 M28x1.5 M2Bx1.5
A JT5 i) ot Il
==
’r% ;/ i i
ke 1]
M1Gx2 5/ 8-18UNF 7/8-14UNF
I
Model Maximum working Msicher presnais pmine Hasal | Connection thread
pressure{MPa) Measure range P ey o accumulator
FPU-16 10 0-16
JT1 JT2 JT3 JT4
FPU-25 20 0D-25 25 2000 JTS JTE JT7
FPU-40 N5 0-40

093 | WWW.XH-YEYA.COM




XINHUA

HYDRAULIC 1S09001:2008 | SAF Series Accumulator Safety Block

E¥ How to order

SAF 20 M 1 2 Y 1 N 210 A

[ 2 B @ B B [ B @B [

[1] Model: SAF Series Accumulator safety blocks
[2] Safety and Shut-off Block Size: —10, 20, 32, 50mm
[3] relief type: M-Manual operation
E-manual and solencid operation
[4] Body material: 1-Carbon steel
[5] Seal matorial: 2-NBR
6-FKM
[6] Sclencid model: Y-solenoid operation normally open
Z-zsolenoid operation normally closed
[7] Solenoid Voltage type: 1-24VDC
3-220VAC
[8] Relief valve: N-can be adjusted by wrench
[9] Pressure sefting: Max. pressure 330bar
[10] Threads connection stand: A-1S0228 (BSP)
[11] Adapter for accumulators: see accessories at five pages after

E# Circuit diagram

Mzanual operation Manual and electromagnetic
operation nomally open

3 M M2

E# Introduction

The SAF series safety block is used between the accumulator
and the hydraulic system to control the flow of hydraulic oil o the
accumulator, provide overpressure protection, and unload the
pressure by releasing the oil.

$13
[

WWW.XH-YEYA.cOM || 094



SAF Series Accumulator Safety Block | 1s09001:2008

XINHUA

HYDRAULIC
General dimensions
Safety and Shut-off Block Size 10
S 'I‘q 5-mdapior
E : Sen ACCESSONES
; =
90 | i — |

' ; | =

3| M2 ‘@
- M1 — : e e | Ea
= T+ _ b1 ™ ]

5

29

_;ir

— =

o
Ll
' ]él o~
I
! _A..-;
= o "J- : 1 ]
= :
p =
150228-61/2 i
$34
3
= 50
T
= )14 l_”_
A
= 3
== El.
23 L
1 =
= el T
; [ ;‘/ = ;\\
i f i 1
_‘\\\‘L ‘{/.- 2
-‘.‘_:r_, o
e
; 20.5
" |
= ! b Shut-off valve
|
1
]

095 | WWW.XH-YEYA.COM

| =1
;f]smzs—éuz
d}ﬁal

P Syslem conneclion

Pressue
rhasa wahe




XNHUA 1509001:2008 | 5

SAF Series Accumulator Safety Block

General dimensions

Safety and Shut-off Block Size 20

&0 =

1507286152

130
____Eﬂ___Jl =
20 | '—_L—‘ Hﬂ-ilsuzra—sw.i
1

I
[ “..
434 |
1|15 .
!
|
T
5 ['5]
i
LU

35 |

-
L TeREas vt

1s0228-1} | P
i: _#50 _!

P Systom connection

25

WWW.XH-YEYA.COM I 096



/
o

SAF Series Accumulator Safety Block & | 15090012008 HYDRAULIC

General dimensions

Safety and Shut-off Block Size 32
S Sends S
’ S0 DOCOSSON0S [ M socked sorew MG *50
. Supplesd with 5 connscion
por -
= |
l ] @ |
T > I
. 1601 = i
e '
w0
E @ M2 -
. i ks _!QT_ s By
-
1 | TF T
- bt | P - gl @ 3
-— L o
=
=
o
& ' \ﬂmw
150228-61 1.2 .[
|
|
|
|
A
= ' Shif-olf vatvn
w0 tj\_—
150226-01/4 | T 150228-01.72
U2 ; T
e
I T
A
- —ff T
g SN
Al l-HE
] .
|
I Prossuno
il ; . | L. reloase vahe
o o)
! I Prossung rebof vaba size DEAZ
5 20
T
182

097 | WWW.XH-YEYA.COM




HYDRAULIC isos001:2008 | 58 SAF Series Accumulator Safety Block

E% General dimensions

Safety and Shut-off Block Size 50
3
5 G2 1/74
Fﬁ Jeit 5501
| |0
! Hix aockal somes M1E “50 E i
: 1
I ! I | : | 33
! i 5 3 Ralief vs
E —OEE
o | vb_ 3}_
=28 | '
2 = | 2 ~et-
g T
2 =
56
[
Pl 107.5
@2 20 !
a i 1460
i
1"' e Shiut-olf valve
115 1
60 |
: ok F

| }E Note: Other specifications can be fitted with 5-por joints

7?0

Eloctric unioacding valva 1

WWW.XH-YEYA.cOM || 098




SAF Series Accumulator Safety Block =

| 1s09001:2008

XINHUA

HYDRAULIC
¥ Accassorias (Adaptor for SAF to connact the safety and shut-off block with the aceumulator)
1. Adapter for standard bladder accumulator
'::’ iF:
E T ol
| ﬁ 5 = i
1 1A il
- ;’/ B s e v 7 l / =
o /) 1 / 2 = ? I /
A A1 = A |
W3dnz “:335'2
i ?B ez ¥
o
'__u_‘I L
| ﬁi [ o1
fa = CT T 1 =
mlZ/i7 AL A AL A
1 | A 7/./ v
/75 4 | |} AAB A ¥
Ll o o R ]
#18 1 #105
L b
3 100 14 Lo
i K L1 L2 D2
Model Accumulator Model D1 Thread Ada Diag.no
B = (sw) (mm) (mm) (mm)
SB330/400-0.5 to 1L GA4n 510 41 28 155
SB5504/600-1 to SL Gl1Aa 511 34
45 16.5
SB330/400-2.5 to 5L G1'M4A 512 1 kT
SB330/400-10 to 50L
SAF10/20 G2A 513 65 44 205
SB440/500/600-10 to S0L
M30x1.5 520 4 15 175 40
Connection with metric
e e M40x1.5 51 2 55 20 205 54
Ms0x1.5 822 B5 20 205 64
SB330/400-0.5 to 1L GHAA 5305 28 58
SB550/600-1 to 5L G1A 5306 34 64
SB330/400-2.5 to 5L G1'MA 5307 3 kT &7
SB330/400/600-10 to SOL 5309 74
SAF32 G2A 44
SB440/500-10 to 50L 5308 115
M30x1.5 5330 15 47 45
Connection with metric
T M40x1.5 5340 4 60
20 51
Ms0x1.5 5350 75

Mote: Adaptor in Diag.3 B Diag.4 supplied with 4 off int_hex.screw M16x45 including O-ring.

099 | WWW.XH-YEYA.COM




XINHUA
HYDRAULIC

1509001:2008 | SAF Series Accumulator Safety Block

2. Adaptor for piston accumulator

=

W

| I

®76

7/
EH 7T = S
LN Y
g ?
SH50 _AA—
b ¥ /
11 < 11
& SR ¢
D1
Bs $52. 5 e 0l
Model Accumulator Model Adaptor Diag.no D1 Thread D2 Thread Correzponding S-adaptor
SK10/350-2.5 to 7.5L K406 5 G174 G1A 512
SAF10/20
SK2104350-10 to 45L K408 G12A 513
L G2
SAF32 SK21/350-50 to 120L K409 G2A 5309
O-ring supplied as part of adaptor.
3. Adaptor for diaphragm accumulator
D1
7T 1A I
| =
gRR7.
& / ! /&' -
: =
< | / i
> |
A |
N33 x2
+38
K
(B ] K L1 L2 o2
Model Accumulator Model TH i Adaptor (SW) g i) Jrim}
SBO..E-0.075to 1.4L
G124 530 41 14 175 33
SBO...A6-01 to 210-1.3L
SAF10/20
SBO..E2.0to 3.5L
G34A x| 4 16 175 40
SBO.. AG-400-1.3 to 4L

O-ring supplied as part of adaptor.

WWW.XH-YEYA.coMm [] 100



Introduction to Bladder Accumulators IS09001:2008

XINHUA
HYDRAULIC

Bladder accumulator assembly schematic

Eladd The uppae parts
adder

o, <'_'_'> Pratictive cap
- :
— |
Seal Ring f
_,f" o e
Gas Valve
£ ! 3 I:*“'.;rn.] valve]
B -
i Washer
Hut
Mameplate
! A
., __/'-
. /
Hydraulic port d i N

I

supparting Ring ST | e i
B ) |
. - |

Model: A type o T

i d $F-. accumulator

Shell

i
.

e
.,

Seal Ring

Chieck Ring (SF

Press Ring

)

| AT

Round Nut - 1t =
' 1 ~ g
'\-H_ H Madel AR ; L = ™
. | Aadel: Iyt A o -_)h\
o accumaulator l{\.. — I
[ A1
i W o
) | EE —
.-/ !
| . .
- I
The down parts | H

101 ] www.XH-YEYA.COM

m
oy

Pross nut

Supparling Ring

N ..' L ry . e - .
5 P / e e '. :
K'—'—/ ; e = | Anti-cxtrusion Ring

Supparting
APACET




XINHUA

HYDRAULIC 1S09001:2008 | American Standard Accumulators (ASME)

How to order

M B o [f 0O
[1 21 3 [4]
[1] ASME
[2] B: Bottom Repair
T: Top Repair

[3] Hominal Volume (Gal)
[4] Nominal Preszure (Psi)

i

% Specification

W1
1 [}
(]
Nt i
M i)
<| e T o
I
[
b !
N
\
_i—
=

Bottom Repair Construction

[1] Construction: Bottom repair , top repair
[2] Fixation way: Clamp or bracket

[3] Installation: vertical

[4] Medium: Hydraulic oil, emulsion

[5] Operating temperature: =107 ~+83C
[6] Gas charged in the bladder : Nitrogen

A T |

o

T A T

Top Repair Construction

WWW.XH-YEYA.cOM || [ 102



American Standard Accumulators (ASME) &3] | 1s02001:2008

XINHUA

HYDRAULIC
% Model Code and Size (ASME)
F;mu}‘a vu?,:um Weight Size (mm)
MPa
Rexdpl Sarky - - - oo T e | O™ | Lm | AGmm | B mm | M NPT
MB0.25/3000 0.25 1 1 5 o114 50 325 195 34"
MB1/3000 | 1 4 32 145 168 60 385 315 Tia
MB2.5/3000 25 10 95 43 585 425
MB5/3000 5 19 140 64 865 710
MB10/3000 | 10 a8 230 104 1435 1280
MB11/3000 11 42 240 109 1540 1385
MB14/3000 | 14 53 276 126 1875 1720
MB15/3000 15 57 290 132 1985 1830
MT2.5/3000 | 25 10 95 43 L B 580 420 3
MT5/3000 | 5 19 140 84 855 710
MT10/3000 | 10 38 230 104 1425 1280
MT11/3000 | T 42 240 109 1530 1385
MT14/3000 | o0 14 53 276 126 1885 1720
MT15/3000 | 15 57 290 132 1975 1830
MT16/3000 | 16 63 380 171 1485 1305
MT21/3000 | 21 80 473 213 299 106 1825 1645 2-1/2°
MT26/3000 2 100 562 253 2205 2025
MT17/3000 17 63 377 170 1185 985
MT21/3000 | 21 80 457 206 1410 1210
MT26/3000 | 2% 100 555 250 1675 1475
MT33/3000 | 33 125 675 304 351 110 2005 1805 3
MT39/3000 39 150 791 356 2325 2125
MT48/3000 | 48 180 933 420 2715 2515
MT53/3000 | 53 200 1035 466 2995 2795
MB0.25/14500 | 0.25 1 12 55 114 50 325 195 3/4"
MB1/4500 1 4 44 20 ©168 60 385 315 1ia
MB25/4500 | 25 10 128 58 585 425
MB5M4500 | 5 19 185 84 855 700
MB 10/4500 10 38 300 136 1435 1280
MB11/4500 | 11 42 322 146 1540 1385
MB 14/4500 14 53 392 178 1935 1780
MB 15/4500 15 57 403 183 2005 1850
MT2.5/4500 | 4500 25 10 128 58 i o 545 400 £
MT5/4500 _ 5 19 185 84 845 700
MT10/4500 10 38 300 136 1425 1280
MT11/4500 | 11 42 322 146 1530 1385
MT14/4500 | 14 53 392 178 1925 1780
MT15/4500 | 15 57 403 183 1995 1850
MT16/4500 | 16 81 424 | 192 1460 1280
MT21/4500 | 21 80 510.4 | 232 299 74 1800 1620 2-1/2°
MT26/4500 | 26 100 602.8 274 2180 2000
MT2.5/5000 | 25 10 90.6 41 580 420
MT5/5000 5 19 169 76 860 700
MT6.4/5000 | 5000 6.4 24 181.6 | 822 232 87 1002 857 2
MT10/5000 10 38 267 121 1425 1280
MT11/5000 11 42 276 125 1530 1385

Ordering note: If you have special requirements, please contact our company for advice.

103 | wwWw.XH-YEYA.COM




XINHUA -
HYDRAULIC 1S09001:2008 | European Standard Accumulators

-. &% How to order
g PED O [ 345
1 [2 3
[1] European Standard Accumulators
[2] Nominal Volume (L)
[3] Nominal Pressure - 34 SMPa

&7 Specification

[1] Construction: Bottom repair , top repair

[2] Fixation way: Clamp or bracket i
[3] Installation: vertical / - Y -
[4] Medium: Hydraulic oil, emulzion @I \,\ If
[5] Operating temperature: =10T ~+70TC 3[ | =
[6] Gas charged in the bladder : Nitrogen S',II i
e % |I| L .|i s, |
- - 1 S m . = T
N e 4t o i |L>\._,
] ) .
RN /R
= 3
X N
b & '.
S
1 ,
< -

Bcttom Repair Construction Top Bepar Construchan
Pressure Volume Wieight SERHIT]
Model Code (MPa) (L) {kg) & L1 Lz L M
PED1/34 .5 1 5.5 197 302
PEDZ/34 .5 2 6 Bl A 315 445 o
FPED4/34 5 4 11 315 447 :
$16E B3 1 G174

PEDE/34 .5 3] 15.5 410 532
FED10/34 .5 10 37 427 587
PED15/34 5 345 15 49 582 42
PED20IE4 5 20 61 Tav JO7
PED24/34 5 24 0 P22 BB Ba7 1017 G2
PED32154 5 3z 95 1107 1267 |
PED40/34 .5 40 | 105 1354 1514
PEDE0M34 .5 a0 117 1663 1823

WWW.XH-YEYA.cOM || 104



National Standard (CE marking) Accumulators | 1s09001:2008 e

E4 Model Code and Size

MXC-A type threaded hydraulic port NXQ-AB type threaded hydraulic port MXQ-A(AB) type flanged hydraulic port
construction diagram of accumulator construction diagram of accumulator construction diagram of accumulator
NXQ-A-Here - MNXC-AB-HErEe -3 MXQ-A{AD)-#8 /8 -

Size (mm)
Nominal | Nominal Hydraulic Port Weight
ModelCode |Pressus| Volrme |y | a4 |01 |02 | @3 | o4 [nes |11 | 1 o | (k)
Thread (Flange
L

NXQ-A-1.6/"-L(F)* 16 365 | 380 1
NXQ-A-25L(F)* 25 430 | 445 14
bl —{Ma2x2 |50 (42 |50 |97 |130 (6017 |66 |28 [t 182 — o
NXQAB3FLE” | L | 63 710 | 725 22
NXQ-"-10F L (F)-* 10 650 | 665 39
NXQ-"- 16" L (F)-* 18 860 | &75 54
NXQ-"20° L (F)-* 20 985 | 1000 62
NXQ-*-25" L (F)-* 25 |Me0x2 |72 |55 |65 [125 |160 [6-®21 |90 |32 | 1160 | 1175 | 219 | 74
NXQ-*-32F L (F)-* 82 1400 | 1415 90
NXQ-"-40F L (F)-* 20 [ % 1680 | 1695 108
NXQ-"-50° L (F)-* 50 2010 | 2025 128
NXQ-*20F L(F)-* 20 860 | 675 80
NXQ-"-25" L(F)-* 25 750 | 765 90
NXQ-"-40/"L(F)-* 40 1030 | 1045 118
NXQ-"-50/"L(F)-* 50 1210 | 1225 138
NG | 5 [es M2 |8 (70 |80 (160 |200 6026 (106 |40 [ e 20—
NXQ-"-80/*-L(F)-* 80 1290 | 1805 213
NXQ-"-100/-L(F}-* 100 2170 | 2185 253
NXQ-"-150"-L(F)-" 150 3105 | 3120 335

Ordering note: If you have special requirements, please contact our company for advice.

105 | wwWw.XH-YEYA.COM




XINHUA -
HYDRAULIC 1s09001:2008 | 58l National Standard

(ABS American Bureau Of Shipping Certification) Accumulators

E# Model Code and Size

MXQ-A type threaded hydraulic port MXQ-AB type threaded hydraulic port MXQ-A(AB) type flanged hydraulic port
construction diagram of accumulator consfruction diagram of accumulator consfruction diagram of accumulator
NXQ-A- #7381 -3 NXQ-AB-3#838-1 -3 MNXC-A( B )38 38 -3

Size (mm)
Nominal | Nominal H’:ﬂb
Model Code Pressure | Volume Weight
(MPa) | (L) M | d|[o1 02| @ |04 |nd5 | L1 | H ® | (kg)
Thread |Flange
L

NXQ-A-1 6/*-L(F)* 16 365 | 380 11
NXQ-A-2 5/-L(F)-* 25 430 | 445 14
NGA4LTY 7 W22 |50 |42 |50 |97 (130 (6017 |66 |28 ] 182 =
NXQ-A-6.3/*-L(F)-* 6.3 710 | 725 22
NXQ-*-10/*-L{F)-* 10 10 650 | 665 39
NXQ-*-16/*-L(F)-* 16 860 | 875 54
NXQ-*-20/*-L(F)-* 20 985 | 1000 62
NXQ-*-25/*-L(F)-* 25 |Me0x2 (72 |55 |85 |125 |160 |6-®21 |90 |32 | 1160 | 1175 | 219 | 74
NXQ-*-32/*-L(F)-* 32 1400 | 1415 90
NXQ-*-40/*-L(F)-* 20 40 1680 | 1695 108
NXQ-*-50/*-L(F)-* 50 2010 | 2025 128
NXQ-*-20/*-L(F)-* 20 660 | 675 80
NXQ-*-25/*-L(F)-* 25 750 | 765 90
NXQ-*-40/*-L(F)-* 40 1030 | 1045 118
NXQ-*-50/*-L(F)-* " 50 1210 | 1225 138
NKG 03P LY 318 o |M72x2 |80 |70 |80 |150 |200 (626 |106 |40 o o 209 —
NXQ-*-80/*-L(F)-* 80 1290 | 1805 213
NXQ-*-100/*-L(F)-* 100 2170 | 2185 253
NXQ-*-150/*-L(F)-* 150 3105 | 3120 335

Ordering note: If you have special requirements, please contact our company for advice.

WWW.XH-YEYA.coM [] 106




Welded Diaphragm Accumulator 7 | 150%001:2008

XINHUA
HYDRAULIC

E# How to order

AD Al o f 0O m r m
[1] 21 3 [4] [5] [6]
[1] Welded diaphragm accumulators
[2] Construction 1-NBER
A Rechargeable 2-HNBR
B: Completely sealed HIR
[3] Nominal Volume (L) 4-EPDM
[4] Max_allowable working pressure 5-FEM
[5] Shell Matarial:1-Carbon steal 6-CR
T-ECO
Protective cap
Washer

int. hew locking screw

Diaphragm

valve poppet

107 | www.XH-YEYA.COM

[6] Diaphragm Material code

Welded Diaphragm accumulator use steel stamping shell |
They have two types according to the gas side:Rechargeable
or completely sealed.




XINHUA i
HYDRAULIC 1509001:2008 | 5}

Welded Diaphragm Accumulator

Welded Diaphragm accumulator Illustration

Symbol Gas side connection

M2EX 1. 5

3
Welded Diaphragm accumulator size chart
Mlowable
Mominal ; Allowable R oD W#'It Sas ke Standard fluid connection w

© | ol PRSI mm | mm | (k) omecton F | @G | L | B | Hex | H

P2:PO mm mm mm mm mm mm
0.075 8.1 210 88 65 0.7 A - - 12 27 22 Game 1
0.16 8: 1 210 85 75 0.85 A - - 14 29 27 M18x1.5 | 1
0.25 8:1 100 109 80 0.8 A - - 156 28.5 27 G2 1

81 250 112 86 1.2 A G2 - 22 20 3z - 2
0.32 81 210 118 as 1.32 A G112 - 22 20 az - 2

g: 1 210 11 85 14 B - - 15 285 27 G1/2 1
0.35 8.1 100 102 89 1.0 B - - 16 285 27 G1/2 1
0.s 8: 1 210 132 106 22 A G2 34 24 22 a4 3
0.75 8: 1 210 148 | 121 3.0 A G1/2 a4 24 22 41 - 3
1.0 8: 1 210 162 142 5.0 A G1/2 34 24 22 41 - 3
14 4: 1 210 173 153 5.8 A G1/2 34 24 22 41 - 3
2.0 4: 1 250 205 172 8.2 A G304 40 3o 28 46 - 3
28 4: 1 250 255 172 11 A G314 40 30 28 46 - 3
3.5 4: 1 210 286 172 13.8 A G 40 30 28 46 - 3
4.0 4: 1 210 v 172 15.2 A G344 40 a0 28 46 - 3

WWW.XH-YEYA.cOM || 108



! 7,
\\\/5_7/ ,(///u
ST
ALLLLLL L LA
NI,

ST

1

H' Y DRAUL



	2023-新华液压-英文版4
	2023-新华液压-英文版5
	2023-新华液压-英文版6
	2023-新华液压-英文版7
	2023-新华液压-英文版8
	2023-新华液压-英文版9
	2023-新华液压-英文版10
	2023-新华液压-英文版11
	2023-新华液压-英文版12
	2023-新华液压-英文版13
	2023-新华液压-英文版14
	2023-新华液压-英文版15
	2023-新华液压-英文版16
	2023-新华液压-英文版17
	2023-新华液压-英文版18
	2023-新华液压-英文版19
	2023-新华液压-英文版20
	2023-新华液压-英文版21
	2023-新华液压-英文版22
	2023-新华液压-英文版23
	2023-新华液压-英文版24
	2023-新华液压-英文版25
	2023-新华液压-英文版26
	2023-新华液压-英文版27
	2023-新华液压-英文版28
	2023-新华液压-英文版29
	2023-新华液压-英文版30
	2023-新华液压-英文版31
	2023-新华液压-英文版32
	2023-新华液压-英文版33
	2023-新华液压-英文版34
	2023-新华液压-英文版35
	2023-新华液压-英文版36
	2023-新华液压-英文版37
	2023-新华液压-英文版38
	2023-新华液压-英文版39
	2023-新华液压-英文版40
	2023-新华液压-英文版41
	2023-新华液压-英文版42
	2023-新华液压-英文版43
	2023-新华液压-英文版44
	2023-新华液压-英文版45
	2023-新华液压-英文版46
	2023-新华液压-英文版47
	2023-新华液压-英文版48
	2023-新华液压-英文版49
	2023-新华液压-英文版50
	2023-新华液压-英文版51
	2023-新华液压-英文版52
	2023-新华液压-英文版53
	2023-新华液压-英文版54
	2023-新华液压-英文版55
	2023-新华液压-英文版56
	2023-新华液压-英文版57
	2023-新华液压-英文版58
	2023-新华液压-英文版59
	2023-新华液压-英文版60
	2023-新华液压-英文版61
	2023-新华液压-英文版62
	2023-新华液压-英文版63
	2023-新华液压-英文版64
	2023-新华液压-英文版65
	2023-新华液压-英文版66
	2023-新华液压-英文版67
	2023-新华液压-英文版68
	2023-新华液压-英文版69
	2023-新华液压-英文版70
	2023-新华液压-英文版71
	2023-新华液压-英文版72
	2023-新华液压-英文版73
	2023-新华液压-英文版74
	2023-新华液压-英文版75
	2023-新华液压-英文版76
	2023-新华液压-英文版77
	2023-新华液压-英文版78
	2023-新华液压-英文版79
	2023-新华液压-英文版80
	2023-新华液压-英文版81
	2023-新华液压-英文版82
	2023-新华液压-英文版83
	2023-新华液压-英文版84
	2023-新华液压-英文版85
	2023-新华液压-英文版86
	2023-新华液压-英文版87
	2023-新华液压-英文版88
	2023-新华液压-英文版89
	2023-新华液压-英文版90
	2023-新华液压-英文版91
	2023-新华液压-英文版92
	2023-新华液压-英文版93
	2023-新华液压-英文版94
	2023-新华液压-英文版95
	2023-新华液压-英文版96
	2023-新华液压-英文版97
	2023-新华液压-英文版98
	2023-新华液压-英文版99
	2023-新华液压-英文版100
	2023-新华液压-英文版101
	2023-新华液压-英文版102
	2023-新华液压-英文版103
	2023-新华液压-英文版104
	2023-新华液压-英文版105
	2023-新华液压-英文版106
	2023-新华液压-英文版107
	2023-新华液压-英文版108
	2023-新华液压-英文版109
	2023-新华液压-英文版110
	2023-新华液压-英文版111
	2023-新华液压-英文版112
	2023-新华液压-英文版113
	2023-新华液压-英文版114
	2023-新华液压-英文版115
	2023-新华液压-英文版116
	2023-新华液压-英文版117
	2023-新华液压-英文版118
	2023-新华液压-英文版119
	封底

